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| Question A B c D Al B c ||
. - | saw the She is brave ,
Which one of the following sentencesiHe is as bold {My sonis dancing enough to O O O O
- exemplifies the use of “personification”? as a bat moon to me ibeautyin .- {walk in the
. nature dark
. The -haberdashery was John's favourite , . ' ' R
-2 place. All the workers in the shop were sojWorkers are ‘rJ:h::';‘:' a . V\il‘z;kers ar® iShopis of O ' O ®) ' O
* kind and helpful to him. The correct{wellpaid cuit rer i%cer?uv . good brand ‘ ' A
B inference from these sentences is: ' R T
City life is full of hustle and bustle whereas . . : o S
_rural life is devoid of it. ; . - - . L . _
" " The sentence contains a tr_ansitional Addition Cpmpanson Time Emphasis o O O O O
-' device of: ' .
“The whole world was wonderstruck at the ] . ‘
: cyclonic revolution”. S . o ' '
) From the context guess the meaning of the Momentous |Hilarious  |Ferocious  |Voracious O O O O
. underlined word out of the following options. '
. Ifthe narrator is all knowing, can see throughi . Second Third person |Third person
g theminds of all characters and can read their ngsr:t%?r\fi?acv person point {limited point _|omniscient O O O O.
" thoughts, the story is being told from: - {poin " jof view of view point of view- _ S
o ~ Which one of:the\followi,né genres presents t Science ' o
i. ..(‘a)?l;fr:'?glngttve and emotional interpretation| Biography Poetry fiction Cnthsm O O O - O
B vour plan is beyond compréhension". : S , : , h L
7. The most appropriate idiom to replace the A grain of salt éh‘;:g 900S€ | AllGreek . |A royal road O O O O
. underlined part of the sentence is: '
% O liberty, what crimes have been committed . :
in thy name! _ ) . :
" Which one of the following poetic devices is Simile Metaphor Irony Apostrophe O O O O
{__used in the poetic line? ‘ '
: ‘She has a heart of stone’. . . . :
l . . . . Sheis a She is She feels She is in
. Identify which one of the following points out ) ) . . O O O O
. the correct meaning of the sentence? statue "’ef""es-s cardiac pgln fmisery .
._ . . . The Jeaves of | There are fifty { The 2010 I think o L
. Which one of the following sentences|growing states in the {world cup took L ’ N
.LO‘ contains an opinion? plants are United State |place in South ?ducfa(\)t:c;rﬁ s 1 O O . O : O
n : usually green {of America  |Africa ree A
"'Uneasy lies the head that wears a crown”. Adjective Adverb Adverb " . .
.11' The underlined part of the sentence is: Noun ph'rase. clause phrase clause O ’ O O O
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| Question A B Cc D
A lot of people visit us Eid.
12. Pick the correct preposition to complete the { At By In On
sentence.
\ .
The people were flying kites in spring. The|Present Past -
13. underlined word is: . participle participle Gerund Infinitive O
Martin Luther King, a_great civil-rights ‘. . - ‘
14. activist, was against racism. The underlined{ Noun phrase ArC‘I:Iaesrg Ag:::gve Aggossettwe O
part of the sentence is: P P P
| never | never Al never | had never .
15 Which one of the following sentences is|thought that | {thought that | |thought that | |think that | O
" grammatically correct? : would see shall see hifn jwill see him {would see
him again again again him again
. Youf argumfnts_are good; still they do not Simple Compound | Complex Compound
- convince me-. sentence sentence sentence complex O
This is a: ' sentence
17 Fools rush in where angels fear to tread. Adverb Adjective Adverb Adjective O
" The underlined part of sentence is: phrase phrase clause clause
“The flag was hoisted top of the | ' )
18. building’. Correct preposition for the blank is: On At Above In O
: . ‘ If he were - |If he was :Lgfeméa:eful If he were
19 Which one of the following conditional{more careful, {more careful, he would ' {more careful, . O
". sentences is correctly structured? he would not " {he would not h .the will not
< . ave not .
have failed |have failed . have failed
failed
. Our guests . {We find your
20 Which one of the following sentences ;Ze);l:g should be a:;‘;ggn%%?g allegations O
" contains transitive verb? . heag il arriving at staying here? absolutely
y any moment ying " |ridiculous
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ENGLISH COMPULSORY HSSC-II

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Sections ‘B’ and ‘C’ comprise pages 1-2 and questions therein are to be answered on the separately
provided answer book. Answer all the questions from Section ‘B’ and Section ‘C’. Write your answers
neatly and legibly.

SECTION — B (Marks 40)

Q.2 Read the given passage and answer any SIX questions including Question No. (i) appended to it.
Note: Question No. (i) about summary writing is compulsory carrying 08 marks while the rest of the questions
carry 04 marks each. (8+5 x4 = 28)

_ No one imagined that Hubble’s photographs of deep space would be so utterly, jaw-droppingly beautiful
or that the pictures would have a purely visceral appeal to an entire generation, making Hubble a household
word synonymous with spectacular images of the cosmos.

Hubble — a joint project of NASA and the European Space Agency — orbits Earth 353 miles (569 km)
above the planet's surface. Its position allows it to circle free of Earth’'s atmosphere, which distorts and blocks
light from the cosmos. This gives Hubble a pristine view typically unmatchable by ground-based telescopes. If
the man’s eye was as sensitive as Hubble’s, he could look from Islamabad and see the glow of a pair of fireflies
in London. If the fireflies were six feet apart, he could resolve that there were two of them side by side. Hubble
orbits Earth, moving at the speed of about five miles per second (8 km per second) — fast enough to travel from
Chitral to Karachi in about three minutes. During the course of a year, Hubble circles Earth over 5,000 times. As
the telescope whips around Earth once every 97 minutes, it collects light — much more light than human eyes
can hope to capture on their own.

Hubble’'s super vision has shown us places in the cosmos that no generation of human before us has
ever seen. Hubble's images have unveiled that beyond the starry sky we see on a clear night, there is another
universe, an “undiscovered country” of discordant objects, violent explosions and cataclysmic collisions. A single
Hubble snapshot can portray the universe as awesome, mysterious and breathtaking — and, at the same time,
chaotic, overwhelming and foreboding.

QUESTIONS:
(i) Write down summary of the passage and suggest a suitable title. Compuisory (7+1=08)

(i) Express your opinion about Hubble’s photographs.

(i)  Who did sponsor Hubble project and at which height is it located?
(iv)  How is Hubble’s position compared with ground-based telescopes?
(v) How is Hubble’s eye exemplified?

(vi)  The speed of Hubble’s movement.

(vii)  Hubble has super vision. What do Hubble's images reveal?

(viii)  Write the meanings of the underlined words. (Any four)

Q. 3 a. Read the following poetic extract carefully and answer the questions appended to it: (2+2+2 = 06)
)] Unwilling to school. And then the lover,
Sighing like furnace, with a woeful ballad
Made to his mistress’ eyebrow. Then a soldier,
Full of strange oaths and bearded like the pard,
Jealous in honour, sudden and quick in quarrel,
Seeking the bubble reputation
Even in the cannon’s mouth. And then the Justice,
In fair round belly with good capon lined,

QUESTIONS:

(i) What condition of a lover is mentioned?
(i) How does the poet describe the role of a soldier?
(iiiy  What condition of Justice is presented?

(OR)
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Note:

Q.5

Q.6

~ Write an essay in about 250 — 300 words on any ONE of the following topics: (12)

(1) How can the bird that is born for Joy
Sit in a cage and sing?
How can a child, when fears annoy,
But droop his tender wing,
And forget his youthful spring?
QUESTIONS:
0 What does the poet talk about the caged bird?
(ii) What does the poet want to convey?
(i)  How can you identify with the speaker of these poetic lines?

Answer any ONE of the following parts: (06)
(i)  There are two types of character — Round and Flat. Discuss any one of the these with reference
to any narrative work of literature which you have studied.
(i) “Conflict is the soul of tragedy". Discuss with reference to any piece of literature you have read.

SECTION ~ C (Marks 40)
Attempt ALL the questions.

Horrors of war:

Outline: Wars in ancient times — causes of war — Heroshima and Nagasaki — use of nuclear weapons - First
World War — Second World War - possibility of Third World War — effects of war — Suggestions to avoid
war — conclusion '

(OR)

Drug Addiction — a scourge:
Outline: What is drug addiction? — why do people take drugs? — types of drugs — evil effects of drugs — drugs
and our youth — some drugs have curative effects — measures taken against drugs — conclusion

a. There are FIVE errors of verb, pronoun, adjective, and noun in the given paragraph.
Rewrite the paragraph after correcting the errors. Underline the corrected words: (05)

The causes of unhappiness in our society is different. They are social, psychological, economical,
educational and poilitical. Poverty and social injustices are the basic problem of today. In olden
times, life was simple but peoples were satisfied. Today, simplicity have departed from our lives.

b. Use any FIVE of the following Idioms in sentences: (05)
(i) At the first blush (i) At wit's end (iii) A man of straw
(iv) A hard nut to crack (V) At daggers drawn (vi) A mare’s nest
(vii) At cross purposes

c. Change the following conversation into indirect form of narration: (05)
He said to the shoemaker, “You are a big blockhead; you have done the reverse of what | desired
you. [ told you to make one of the shoes larger than the other, and, instead of that, you have made
one of them smaller than the other.”

Suppose you are working as an investigation officer, in view of the increasing number of road accidents
especially in fog hit areas, authorities ask you to investigate a recent incident and write a report on it. Your report
should cover the following points: (08)

(i) Estimation of loss due to the incident

(ii) Precautionary measures

iii) Reasons behind this accident

(iv) Suggestions as how to control such incidents
Use appropriate transitional devices in any FIVE of the blanks to complete the process. Use each
transitional device only once. {05)

When | At the beginning Eventually | However | First Then | And | Attheend | At first

“El Norte” is an excellent and disturbing film about two immigrants to the United States. of
the film, we meet a family in Guatemala. - mother, father, son and daughter. the father is
killed and the mother is taken to the prison, the son and the daughter decide to go to “El Norte” - the
United States - by way of Mexico. , they have trouble finding someone to take them across
the Mexican border, but , they find a way across and end up in Los Angeles. , life in
the U.S. is not as easy as they thought it would be. , they have to find housing, then, they
need to learn English get jobs. , they succeed in accomplishing these three goals and
life looks pretty good for them. Unfortunately, of the film, tragedy strikes and we are left
wondering if “El Norte” really is the land of opportunity after all.
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[ IQuestion A B c D EA!BICIDJ
The Mayor of Casterbridge is one of Hardy's! )
1  ovels, | Wessex :Hertford iStratford Greenwich ! O O O O
A. Royal personage passing throughi iThe Three éHigh Place
2 Casterbridge stopped at: . ETown Hall 1Mariners Inn :Corn Street 'Hall ' O O O O
| | ! iShe |
: . : ' rcondemns |
3 How does Lucetta react to the town'sifxsgilfr:gto 'She leaves ifsr:ris;ﬁifésﬁc;them and O O O O
" peaple’s attempt to shame her? dies iCasterbridge fit and zie: ‘continues to !
: ' ' ilive at '
5 | ECasterbridge
When Susan and Michael Henchard ﬁrsts . ; . ; 5 ;
. . ‘Why did you :Why did you :Can you ' " A :
4, hm;?)t in secret, what are his first words to;leave me?  icome here? iforgive me? EI don't drink 5 O O O O
. . . EElizabeth- 5
What was the immediate cause of. . 1 Serious I : , '
> Henchard's death? fAn accident liliness iEpllepsy s:?t::ﬁdse ' O O O O
At whose house did Henchard breathe hingother §Christopher . iElizabeth’s
6. last? :Cuxsom :Comey iAbel Whittle thousemaid O O O O
What did Hencard write at the time of his! L {His 5
7. death? EA story EA novel EHIS will | autobiography | O O O O
8. What was the reason of Lucetta’s death?  iHead injury iTubercqusis gHeart failure §Skimmity ide: O O O O
. L 5 ; 5 EHe wishes to 5
Why does Bassanio seek to marry Portia in:He needs her ! ‘He needsa !
% preference? imoney {He loves her 1wife 5:3%';2: erda'E O O O O
10 What does cross-dressing allow Portia toiAzfvt;T:n d éBefooI her §Provide 'Seduce : O O O O
* do? :p o friends 'comic relief  :Bassanio '
i position ; : ; ;
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| | Question " A | B | ¢ i b iAlB]c]|bp]
How much time limit was fixed for the return! : . ' f
11 4f the borrowed money by Antonio? EOne month EThree months ESIX months ETen months O O O O
Who recommended Portia as a lawyer toi . EDoctor
12. plead the case of Antonio in the court? EDUKe ESalanno EBalthasar :Bellario | O O O O
s . EThree . . . n
The plot of “The Merchant of Venice” is made: Two different ! . 'Four different ;Five different ;
13. up of: istories fg{g::nt istories 1stories O O O O
Who welcomes Portia, when she returns | .
14. after winning Antonio’s case in the court? :Lorenzo iGratlano :Launcelot EStephano O O O O
Who breaks the news about the deed of gift§
15. by Shylock that Jessica and Lorenzo would;Gratiano 'Portia iNerissa :Antonio O O O O
inherit all his property? : E : ; :
Who gave the happiest news of the safe! . . - : . E
18- return of three of Antonio's ships? iBassanio ;Gratiano {Nerissa i Portia 5 o O O O
He is wasting_his_energies on a uselessi.ro add insult gFacin the gFlo ina a iTo dance ‘
17. activity. Replace the underiined part of thei, " s cg ; deagdghgr e |attendance ! O O O O
above sentence with a suitable idiom: : jury 5 5 on :
She is very cute to understand hiddenéTo calla . ERead
18. meanings. Replace the underlined part of;spade a Egzger;r;:n E;Z%i?habomgbetween te : O O O O
the above sentence with a suitable idiom. :spade ' ' ‘lines '
You may go wherever you like. The ' Adverb | Adverb 5Adjective f
13- Underlined portion is a/an: ‘Phrase ‘Clause ‘Clause ENoun Clause ‘ o O O O
The leaders who are honest, able and hard: , .. . N :
20. working make the nations strong. Thefégjrzztéve Eé?;ﬁ;:’gve iég:’:srg é?a\/:srg :
underlined portion is a/an: E ; : E } i
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ENGLISH ADVANCE / ELECTIVE HSSC-II |

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Sections B and C comprise pages 1-2. Answer all the questions from Section ‘B’ and Section ‘C’ on
the separately provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 45)

Note: Attempt ALL the questions.

Q.2  Explain with reference to the context any TWO of the following extracts from the pléy,
‘The Merchant of Venice’: : (2x5=10)
(i) | am not bid for love; they flatter me;
But yet I'll go in hate, to feed upon
The prodigal Christian, - Jessica, my girl,
Look to my house, - | am right loth to go:

(i) Alack, what heinous sin is it in me
To be ashamed to be my father’s child!
But though | am a daughter to his blood,

| am not to his manners.

(i)  You swore to me, when | did give it you,
That you would wear it till your hour of death,
And that it should lie with you in your grave.

Q.3 a Answer any TWO of the following parts from the play, ‘The Merchant of Venice’
in about 65 - 75 words each: (2x7=14)
(i “The Merchant of Venice” is a play which hovers on the brink of tragedy. Do you agree?
(i) How does Portia save Antonio from the cruel clutches of Shylock?

iii) Shylock is more sinned against than sinning. Discuss.

b. Answer any THREE of the following parts from the novel, ‘The Mayor of Casterbridge’
in about 65 — 75 words each: (3Ix7=21)

@ “Character is fate”, how far is it true of the story of Michael Henchard in the novel “The
Mayor of Casterbridge”?

(i) . Analyse the role of coincidence in the novel, “The Mayor of Casterbridge”.

iii) Hardy develops several themes in “The Mayor of Casterbridge”. Discuss any three of them.

(iv) Give a brief analysis of the character of Farfrae

Page 1 of 2 (Eng. Adv / Elect.)



SECTION —~ C (Marks 35)

Note: Attempt ALL the questions.
Q.4  Write an essay of about 300 — 350 words on any ONE of the foliowing topics: (15)

(i) My Favourite English Novelist
(ii) Inflation in Pakistan

Q.5 Use each of the following idioms to make sentences of your own: ‘ (05)
) Gift of the gab (i) On the horns of dilemma (i) A labour of the love
(iv) Chip of the same block (v) A Utopian scheme

Q.6 Read the following passage carefully and answer the questions appended at the end:

The proactive exploitation of indigenous energy reserves such as hydropower and coal has not been
done satisfactorily. We have at present capitalized on only 15 per cent of the available hydropower potential in
the country. Here it must be remembered that in any energy scenario, hydropower is going to be the most
economical choice for Pakistan.

Similarly, we have enormous coal reserves that can make a significant contribution to help Pakistan
come out of the electricity crisis. Apart from one coal-run power plant, there has not been any visible activity on
this front as yet. Emphasis should also be placed on extending the nuclear power generation capacity of the
country.

The exploitation of renewable energy such as solar energy, biomass and wind power should be actively
pursued. Pakistan is amongst the richest countries in the world in terms of available solar energy. Some solar
technologies are already in use in several countries for water heating and air-conditioning. Solar water heating

can be industrial, domestic and commercial.

Questions:

(i) What complaint does the writer make in the beginning in connection with power production? (02)
(ii) What does the writer say about hydropower production? (02)
(iii) What does the writer say about nuclear power production? (02)

(iv) Make a précis (summary) of the passage in about one-third of its length, and give a suitable title to it. (09)
~—— 2HA-1l 2302 —
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SECTION - A (Marks 20)
Time allowed: 25 Minutes ® ® ® ® ®@ ® ® ® ® @
Section ~ A is compulsory. All parts of this @ @
section are to be answered on this page and
handed over to the Centre Superintendent. @ @ . @ @ @ @ @
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Answer Sheet No.
S LIS Ly 2Ly, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
| | Question ‘ wo: A | B | ¢ b ialBB]c]| |
1 is the folk dance of Sind. { Luddi Khattak  Jamalo whoomer 1 O O O O
. o - : Sachal - E E Lo
2. Who is the author of ‘Siyar AI-AuIlya? ' Sarmast {Amir Khurd {lbn-e-Battuta {Dara Shikoh | O O O O
The forefathers of Shah Abul Latif Bhitai. o
3. belonged to: Elran EAfghamstan iTurkey ENepal | O O O O
4. Modern trends in painting started in: 11951AD  {1955AD  {1950AD 1961A0 i O O O O
In the village of the , Particularly iné
the summer, some women use a long sheet! : :
5. called Arrh-Haronja which is wrapped:Punjab {KPK iSindh iBalushistan ¢ O O O O
around the lower body with one end hanging: ; : :
down the shoulder. : ; ; ;
s Prominent among the exponents of light Malka 'Roshan Ara Ustad Bare |Ustad Chhote ! O O O O
" music in Pakistan are: iPukhraj {Begum :Ghulam Ali  :Ghulam Ali  :
“Kashf-Al-Mahjub” (csa=al i) was written' Sachal iData Ganj | N
7 by | Sarmast {Bakhsh EDara Shikoh EIbn-e-Bat’(uta O O O O
8. Who is the author of ‘Safinat Al Auliya'? EAmir Khurd éSachal Data Gan) EDara Shikoh O O O O
) ' 1 Sarmast :Bakhsh :
9 ‘k Bin likhi Kahani' (A4S N o SI) wangudratullah ;Intizar /S\:?nh;g gQurratuIain O O O O
" written by: , :Shahab ‘Hussain i . iHyder E
; ; :Dehalw : :
- ‘ \Data Ganj  Baba Farid |Sachal iLal Shahbaz |
10. Qalsum bibi was the mother of. :Bakhsh iGanj Shakar ;Sarmast :Qalandar 5 O O O O
Jamia Masjid Thatta was founded by thei
11. Mughal Emperor in 1647 EAurangzeb EAkbar sShah Jahan EBabar i O O O O
& Page 1 0of 2 | =
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| | Question . A | B | € { b iaAa]ls]c|

The fine colorful sitken dupatta of Sindh is! . . ': . i E

12 o as: EPhquarl EAJrak EParonal Meezar : O O O O

13. Wazir Khan's Mosque is located in: iKarachi ‘Multan :Lahore Peshawar 1 O O O O
‘Realism’ which had dominated the Urdug

14. literary scene after independence, however: 1960 AD 11950 AD 11970 AD 11965 AD O O O O
began to wane after: ' : : | '
Islamic architecture started in withg i
the construction of the house and the: . | : |

15. mosque of the Holy Prophet (%) (cuill £4) atf622 AD :612 AD :632 AD :610 AD : O O O O
Madina. : ; ; :
was first introduced by Umar Bin; S : i :
Abdul Aziz (ﬁ'ﬁj) when he rebuilt the mosquef oo - Lo
16. ' 1Magsura «Mihrab Mitirab 1Mimber '

of Madina in accordance with the: d i ; : : O O O O
instructions of Al Walid.

17 Who has acquired mastery in image paintinggggﬁ:ﬁan ;Ustab Allah gQutub Shaikh EMueen Naimi O O O O
" representing classical or older trends? ; . ‘Bakhsh 1 : it
' Chughtai ' ' ' :
The Anniversary of saint Shah Hussain' : f E :

18 Mela Chiraghan) is observed in: {Multan {Peshawar  {Pak Patten jLahore O O O O

1, Inthe _____, the local variety of qameezip, oy, | Sindh KPK Baluchistan | O O O O
" known as jhogga is used by women.
‘Ora’ the garden town of swat was laid in! : : E

20. ruins by the armies of Mahmud of Ghazna in: 11® 110t 16t 112 O O O O
century AD. ; 5 | 5 |

——2HA-Il 2305-4051 ——
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PAKISTAN CULTURE HSSC-lI

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Answer any ten parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 50)

Q.2 Answer any TEN parts. The answer to each part should not exceed 5 to 7 lines. . (10x5=50)
(i) Write a short note on Buddhism in udyana (Swat).
(ii) Briefly discuss ‘Ghaligai’ an archaeological site at swat.
(iii) Briefly describe ‘Eid-ul-Azha'.
(iv) Write a short note on Mans.ura.
(v) Discuss ‘Gandhara grave culture’ briefly.
{vi) Enlist ahy five prominent classical musicians of Pakistan.
(vii) Name any five notable groups of Qawwals.
(vii)  Describe briefly the earliest remains of Sarai Khola.
(ix) Give a short narration of Hindu-Sassanian period at Bhanbhore.
(x) Briefly describe the ancient site Sirkap.
(xi) Enlist any five historical novel writers of Pakistan with their novels.
(xii) Give a brief account of the ceremonies performed at the birth of a Musiim child in Pakistan.
(xiiiy  Briefly explain ‘Gandhara Art'.
(xiv)  What is meant by Ajudhan? Explian.

SECTION — C (Marks 30)

Note: | Attempt any THREE questions. All questions carry equal marks. (3x10=30)
Q.3  Write a comprehensive note on the life history of Sachal Sarmast.

Q.4 What sort of new trends emerged in drama after the creation of Pakistan? Explain.

Q.5 Discuss in detail the various festivals celebrated in Pakistan.

Q.6 Write a detailed account of Lahore Fort.

— 2HA-II 2305 —
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Answer Sheet No.
I pfend LS L L)y, InVigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
| | Question Jr | A B c D Als]c]| o]
Which incident forced Sir Syed Ahmad Khan ‘
to think parting of the ways between the|{War of Urdu-Hindi  |Partition of {Congress . )
1. Hindus and the Muslims? Independence | Controversy Beng_al Rule/ O O O O
U YU .flf L:/ P L&y :lf Wb #a /L.J!n/ (5"1'73-46. 221390 Jﬂ(-"’ [0 os / ¥ .
st wz L '
When did Indian forces capture the princely
state of Hyderabad?
2. . 1947 1948 1949 1950 :
08 oAb S I st g A T O O O O
In which mountain range are Waziristan hills
located? Northern Westemn Eastern Southern
3. . . o
sl - gt oo | g 1 iy di o O O O
Who presented the Objectives Resolution in The Qua‘id-e- Liagat Ali Ch. Rehmat |Sardar Abdul
4. the Legislative Assembly? Azam ($%)  |Khan Ali RabNishtar ' (O O O
TJ&J(}-’ ut/giGL.f woGagtsn ?"u/c uud‘.::sy d‘_-z;du,,; f".,,)wm/
In_which constitution was it made Legal Frame
compulsory for Prime Minister of Pakistan to - {Work Order
be Muslim? 1970
5. . . 1956 1962 1973 .
dui/"d;ﬂb/“&_nud/.;'_Lz‘,.ﬁ"ua;l(ur)’qtyﬁﬁﬂ/ Tnl) B o O O O
o] 197048
The head of the provincial executive isjPrime
called: ' Minister Governor Chief Minister | Chief Justice
6. .
Setrefits K 18 | P i & s © O O O
Which poet had the first Diwan (Poetry _
7. collection) in Urd_u? Qutab Shah M!r Anis Mirza Ghalib {Mir Dard O O O O
Wi S LS f st oot iz o Iy
The remains of which ancient city were Mohenjo
found near Sahiwal in Punjab? Kot Diji Harappa Daro Taxila
8.
' S M) Lt Lo BUS P ESS | Fie S o iy sg © O O O
When was First Five-Year Plan started? -
9. : , 11950 1955 1960 1965
WY e g © O O O
Line of Line of Actual Working
10. Paklstan-Afgharjls.tan border is known as: Controll ContrfJI ) Dlurand Line {Boundary O O O O
te-Bodb et w , FLEIEBIGEL | s 2T DIES AT | ks okt
|
——2HA-1I 2306 —— !
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Time allowed: 2:15 Hours

PAKISTAN STUDIES HSSC-II

Total Marks Sections B and C: 40

NOTE: Answer any eight parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION - B (Marks 24)

Q.2 Answer any EIGHT parts. All parts carry equal marks. (8 x3=24)
(i) Why did the Muslims of the sub-continent demand separate electorate in the early years of 19t
(Nineteenth) century?
(ii) How did the Radcliffe Award become the base for Kashmir issue? Write briefly.
(iii) Enlist any six distinctive Muslim architectural buildings in Pakistan.
(iv) Write any three points regarding importance of Objectives Resolution.
(v) Write a short note on basic human rights.
(vi) What is the geographic importance of Pakistan for Central Asian States? Write briefly.
(vii) Write any three important characteristics of Pakistani Culture.
(vii)  Urdu language is a product of centuries of cultural interaction. Briefly elaborate this statement.
(ix) How can promotion of Isiamic culture and tradition bring national integration? Write briefly.
(x) Briefly describe the importance of IT in Trade.
(xi) Write any three fundamental principles of Pakistan’s foreign policy.
SECTION - C (Marks 16)
Note: Attempt any TWO questions. All questions carry equal marks. (2x8=16)

Q.3  Write a detailed note on the strategy the Quaid-e-Azam (#f) adopted to resolve initial problems of Pakistan.

Q.4  Highlight of Islamic perspective of good governance in detail.
Q.5 Give a detailed account of brotherly relations of Pakistan with Saudi Arabia.

(8x3 = 24)

(28 = 16)

(24/—r‘) ‘f)f»._/’

s Lz 0 E L 2(08) 3T S e ihs i it iy

WL S B Kl U L 22 s Ot LS ar st (i)

B o S K (i)

L oinas§IRe AP peoe il

S febE (e dir Lembarins; (V)

LB s (V)

N eSS LuFuins (Vi)

| B F S0 (il

Sl e KB L ugaeehins (Vi)

e ForenFE A E e Ed (X)

LI e B AL A e (X)

g e L ol ()

(160 JYfr e
(.u:l/,l/.ﬁ; Lu:‘lf(a-é{d’ dlr‘uc—éﬁ
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BANKING HSSC-II
SECTION - A (Marks 15)

Time allowed:; 20 Minutes
Section ~ A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.
Deleting/overwriting is not allowed.

Do not use lead pencil.
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Answer Sheet No.

S pimendb LS L e Ly, Invigilator Sign.

Fill the relevant bubble against each question according to curriculum:
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Candidate Sign.

©®0 ® 660000 e
®Q0 ©®©®6 00 06
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©)
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©
@
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} Question Jir A i B E c D A | B I ¢ I DJ
Which of the following Banks discounts the! ! Commercial iAgncuIturaI glndustrial
bills of exchange for public? 'Bank 'Bank 'Bank :Central Bank :
S bl quskalpr Bludt SO LGS LB LS, E © o0 0 0
- Which of the following documents is meant: '
. for presenting a summary and balance of.Bank :Balance ; ; |
. 5. accounts of bank customers? 'statement Eshec?t 5Pass book EProAspectus 5 O O . O O
A /,"gfduélﬂ(fé"'ﬁU!I'J;JLHQZJU)JU!(LU:D;Z'JM E c/i’..g E \L:"u’% EJJL E-‘bdf' E
. 1¢0/, | | s |
. Which of the following Banks controls credit! 'Commercial Industrial iAgricuIturaI i
money in the country? 'Central Bank :Bank 'Bank :Bank :
3. L} 1 t t 1
. ?‘gt'fda/'ff/?u]u-‘.'\.ﬁu@bu/(_—u:aﬁcl EuC*df/ E bﬁd/lf EUC_*G’/ Eug(f// E O O O O
, Which of the following Banks is called the:Reserve 'Bank of ' State Bank of :Bank of
. A mother of central banks? EBank of India :England sPaklstan ivc?nlce O O O O
- e bl 2 Uk, e e Ut L1 ST s L T to TG AT :
- The money deposited in the bank ls§
considered by the customer. Assets 1 Liability ‘Investment  :Saving '
5. - - " [ ' [ ] 1
. q?gé.éu((f/(sfdl/gufhﬁipb ) Ea!el: Ed/f,:(./ 5;‘{ E O O O O
- ‘Transferring :Depositing | Withdrawing | Spending :
Pay-in-slip is written evidence of: rmoney imoney money rmoney :
6. H i H |- - ' - ,
- ?q,:/fd4jfdf.:)’_ul-+: Kz_/f'f/ E L.l;/gf/ E l;ﬁf/ EK&‘_JH/ E O O O O
B When a bank accepts real estate as securityi
- by way of mort?age then it is called: EAamal EZanb iMortgager EMnortgagee O O O O
n BT tS S P S E S e gt LSrSar b fols LS oty :
- | a | s |
) Which of the following cheques can be:
' cashed by its holder? :Bearer :Order iCrossed ' Plain :
8- ] L} 1 ll
o YMJLL‘faﬁcl:/(f(fu/c’.c—(jdufup(ug,J(o EU" :u/JI/ Eul/ i O O O O
| Page1of2 |
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Page 2 of 2

| | Question Jor. A | B < ¢ { b iA|lB]|lc]|oDb]
Which of the following Bill is drawn without!  Accommoda- |
ion? 1 Qi 8 “Ti " ' . i . ;
g, any trade tr'ar'lsactlon 2 ESlgh&t bill :T|m? bill :Trafie bill :tlon F)III ! O O O O
st Lo epp O ks of e et | G iy izeltr g :
Which of the following instruments is useful: : v E :
in facilitating trade relation between the; : :Letter of +Stock :
10. tzusmessme? of different Cf)untrles? EBank draft EMoney order scredlt Ece‘rt‘lﬁcate O O O O
o u_l/uéﬂ/lw@ufﬁjv._iu Tl e i tont Sl ins YA :&?:/Jl‘« !
?‘at'n.:z:l."/fuuf'e‘vb)/'/:awa E E E E
What does the bank receive on issuing ag
H 7 1 il 1 1 H ' 1
11. letter of credit? S}?roﬁt Elnterest EC‘ommlsswn 2l‘)uty 5 O O O O
St S M LS s Ol [§Ye o ] !
The price of one country’s currency in termngoreign éTraveler's éExchange
12, of other-countr-y s currency is callgd: ;cgrrenf;y iletter ;rate EBank rate 5 O O O O
te Qe S e oo §S S At S SE 4 Ieme ey Ny ;
gTo stabilize gTo increase gFavorabIe EUn-favorabIe
Which of the following is “NOT" an objective | exchange : Gowt. ybalance of |balance of |
of foreign exchange control? 'rate ' revenue ' payment ' payment E
13. X . ! e N LA L
e S B Ss PT pss e Selln lf/(g’ TSI Ly # gﬁ:;ug;lile Eﬁmuﬁ?‘fjlr e o 0 O O
, LA
The charge of price for the use of money is : : 5 E :
14, called: ) ) ) ;F?roﬂt EC‘ommlssmn Elnterest EDI}/:dend i O O O O
0 edbieelalden Ll (e fo Loy Lo ;
When was the process of islamization of ' '
banking started in Pakistan? ; : " ' '
15. 11977 11980 11982 11985 !
$Ufnbs pS e S L LRSIt | ! : : ' o O O O
——2HA-Il 2307-4071 —
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Time allowed: 2:40 Hours

BANKING HSSC-I

Total Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION - B (Marks 36)

Q.2 Answer any NINE parts. The answer to each part should not exceed 2 to 4 lines. (9x4=36)

(i)
(ii)
(il
(iv)
v)
(vi)
(vii)
(viii)
(ix)
(x)
()
(xii)

Note:

How was the word ‘bank’ derived?
Enlist six charaéteristics of stable banking system. (only headings)
What are the types of loans according to term?
What are the different forms of cash reserve of bank?
State the limitations of credit creation for a bank. (make a list)
Briefly explain ‘clearing house’.
Describe six basic reasons for opening a bank account. (only headings)
What is meant by crossing of a cheque?
Briefly describe any two principles of advancing loans.
State six reason of dishonouring a cheque. (only heading)
List down any four kinds of commercial letter of credit.
Enlist any six methods for making foreign payments.
SECTION - C (Marks 24)

Attempt any TWO questions. All questions carry equal marks. (2x12=24)

Q.3 Describe the various kinds of bank.

Q.4 Differentiate between ‘Central Bank' and ‘Commercial Bank'.

Q.5 Explain exchange control in detail. What are its objectives? Describe various methods of exchange control.

@6~

|2

(9x4 = 36) P it £ i £a(09)I eSS etk ot Ay
(s ater? 2866/ (i) s AL ()
S Entim S BsF G (V) St S Sl Ge W eu (i)
(ot g $Ivi kot S LS sl G ()
(b3 )Lk g XA G (Vi) S e S (vi)
e LSS () S p e SKASEG (Vi)
_uf”rczrm,wéﬂfija,g (%)) (o )-Lbchgs$fSemp L (%)
uLuppee SLENE S (xi)
@art Iy s
(2x12 = 24) (tds A Lot 0 ES el

LS Bl e Ay
LG LR B, ANy
vgj“//_,/’éi.)’ [—J:/}(/.:,?JG,J)VAIMG'» cC,g/UJJy‘.‘?.;I/y/:_,yG,JJl/ :o/dlr
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'PHYSICS HSSCII

SECTION - A (Marks 17)
Time allowed: 25 Minutes

Section — A is compulsory. All parts of this

Version No.

4alo|s

1

section are to be answered on this page and

handed over to the Centre Superintendent.

Deleting/overwriting is not allowed.
Do not use lead pencil.
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Answer Sheet No.

G fmennib LS L sz Ly, INVigilator Sign.
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Fill the relevant bubble against each question according to curriculum:

ROLL NUMBER

@0 @ © 6 0 6 06
©@ @0 @6 0 0 e
@@ Q0@ © 6 0 e
@@ Q0@ ® e 0 0 e
@@ Q0@ 66 e

©)

Candidate Sign.

CHCECNCONGECIONONMONC,

Question

A

c

D AlB]c]|[bD|

There are two charges 1 4C and 6 uC , the
ratio of forces acting on them will be:

1:25

1:6

1:1

6:1

o O O O

The electric potential at a point of distance
1 mfrom 2 C chargeis:

1.8x10°V

1.8x10°V

1.8x10"V

1.8x10°V

O

O

Three . resistors each of 2 Ohm are

connected to form a triangle. The resistance
on any corner is:

—Ohm

4x30hm

3x2 Ohm

A 50 volt battery is connected across a 10
ohm resistor. The current is4.54. The
internal resistance of the battery is:

1.6Q

2.1Q

2.60

The S.1. unit of magnetic flux is:

Tesla

Weber

Joule

Newton

A solenoid of length 500m is wounded into
100 turns. A current of 10 A flows in it, the
magnetic field intensity is:

2,

2004,

20004,

204,

Lenz's law is consistent with law of

conservation of:

Mass

Energy

Charge

Momentum

A pair of coils has a mutual inductance of 2H.
If the current in the primary changes from
10A to zero in 0.1sec, the induced emfin the
secondary will be:

100V

200¥

300/

400V

If 4, is the permeability of free space and &,

is the permittivity of free space then the
speed of light can be found by formula:

i
!
c=z,n,

C=£0/'lo

: N =

Page1of2




Page 2 of 2

| | Question A ; B C D
A mercury volume of 1600 x107°m’is
subjected to a pressure of 1.4 x 10°Pa . If the & 3 g 5 6 3 6 3 '
10. 8x10 8x10 1.4x10 2.8x10
bulk modulus of mercury is2.8 x10"Pa, e e e e O O O O u
then the decrease in its volume is:
Emitter base | Emitter base
junction is junction is C-B junction | C-B junction
reverse forward is reverse is reverse
1 For proper working of a transistor in normal |biased, biased and |biased, E-B |biased and E- O O O O
' circuits: collector base | collector base jjunction is B junction is
junction is junction is forward reverse
forward forward biased biased .
biased biased
12 In a PN junction, the barrier potential offers ?a?r?enrtg in g?r?erig in Electrons in N{Holes in P — O ' O O O
opposition to only: both regions |both regions |~ region region
A passenger passes a clock with a speed
BC e =, ,:ﬁ_,n t=72§—to 1=y O O O O
5 e time period observed by him is: 7 Jg
Ground state energy of the 4™ orbit in a _
14. |l drogen atom is. 13.60 eV 3.40 eV 0.85eV 1.51eV O O O O
- In Balmer series the shortest wavelength fi 4 _Ifi
15 radiations have wavelength equal to: ( 4 )m ( R, m 9 m ORy;)m O O O O
Average distance covered by o - particle in
16. air before its ionizing power ceases is called|Trajectory  |Range Firing level  |Limit O O O O
its:
If a radioactive isotope of silver has a half life
17. of about 7.5 days. After 15 days the|25% 50% 7.5% 15% O O O O
remaining isotope of its original is:
—2HA-Il 2308-4081 —
ROLL NUMBER
. F=k1% . v=i2 o E=V+Ir . B=p; VL
r r / At
AP A
¢ B=——v s 1= -E, - 1 I 1 Total days
AV 2 E =—23% —=R.| —=— . m— 7
(7) 1._"_2 g L ¢ A (22 n’) % No of half lives
C
R, +R,+R . ! 1+]+l E,=13.6eV
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Time allowed: 2:35 Hours

PHYSICS HSSC-II

Total Marks Sections B and C: 68

NOTE:

Answer any fourteen parts from Section ‘B’ and any two questions from Section ‘C’. Write your
answers neatly and legibly.

Q.2

Q.5

SECTION — B (Marks 42)

Attempt any FOURTEEN parts. All parts carry equal marks. (14 x 3 = 42)

(i)
(ii)
(i)

(iv)
v)

(vi)
(vii)

(viii)

(ix)
(x)

(xi)
(xi)

(xiii)
(xiv)
(xv)
(xvi)

(xvii)
{xviii)
(xix)
(xx)

Prove that electric intensity is equal to negative of potential gradient.

Find the value of velocity of electron in third Bohr orbit of hydrogen atom.

Explain why does the terminal potential difference of a battery decrease, when current drawn from it is
increased?

A heating coil has resistance of 20 Q. It is designed to operate on 220 ¥ . What electrical energy in joules
is supplied to the heater in10 s ?

A rectangular coil of 100 turns and area 500 x10™m?*carrying 2 Acurrent is placed in a uniform magnetic
field of 107 . Find the maximum torque applied on the coil

Describe the structure of He- Ne gas laser. Draw energy level diagram.

What is a fission chain reaction? Write its nuclear equation.

A simple AC generator consists of & =10 turns coil of area 4=1200cn” which rotates at a constant
frequency f = 60Hz in a uniform magnetic field 8= 0.407 .Find the peak e.m.f generated by it.

What will be the net power loss through a pure capacitor or inductor?

Briefly describe the phase of A.C. How phase lags and leads in A.C Circuits?

High temperature super conductors are required in MRl machines, why?

Show schematically, the difference between N-type semiconductor and P- type semiconductors. Also
mention majority and minority charge carriers in them.

Why is common emitter configuration widely used in amplifier circuits? Explain briefly.

In Photoelectric effect, why do all emitted electrons not possess the K.E of maximum value?

When Compton’s shift becomes maximum?

Suppose one of a pair of 20 years old twins takes off in a spaceship travelling at a very high speed to a
distant star and back again, while the other twin remains on Earth. Will there be any difference in their
ages? Why?

What is population inversion?

If an alpha particle and a beta particle are swallowed which would be more dangerous?

Differentiate between hadrons and leptons.

A certain radioactive element of mass 20g has a half life of 8 days. What fraction of original element will

remain after 40 days?

SECTION — C (Marks 26)

Attempt any TWO questions. All questions carry equal marks. (2x13=26)

Capacitor is an energy storage device. Derive mathematical expression for energy stored in capacitor in
terms of electric field. AAAAA AAAAY
Find the current in each loop of the given circuit: 2Q 50

State and prove Ampere’s Law? Use Ampere's law to
derive an expression for the magnetic field of a solenoid. -—==12V 100 ¢

A 220v, 50Hz A.C. supply is applied to series combination 40 15V
of a 2.5Q, 6mH inductor and a 6.5 uF capacitor. Calculate AAAAAA i
(i) reactance of inductor (ii) reactance of capacitor

(iii) impedance of circuit (iv) current in the circuit

What is transformer? Describe its working. Show that ratio of voltages of secondary and primary.coils is
equal to their turns ratio.

Young'’s modulus for particular wood is 1.0x10"° Na® . A wooden chair has four legs each of length 42 cm

and cross-sectional area of 20 cm* . A man has a mass of1004g , find the stress on each leg of the chair
when he stands on the chair.
Important formulae

_ 27ke’ v?

v, o E=V+1Ir e E=Pxt=—xt o 7=NIABSing
nh R
v="g . w=2zf o &, =NBAw . AZ,=L(1—C089)
gB ’ mye
T, = Totalday§ . N=W, 1 . 0'=£ . ﬂ=&
3 No.of halflives 9 A Vo N,

1 2 - 2
X.= e X,=27/L o Z=\,R +(Xo - X))
2n fC
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| | uestion A B c D AlB]c]| o]
1. Base hydrolysis of esters in knowns as: Esterification |Carboxylation | Hydration saponificaon | O O O O
The homologous series of ketones havei -, CHO CH. .0 CH. O .
2 general formula: v o wan-2 n"Tane2 O O O O :
]
3. Following is an aromatic ketone: Butanone 2-Pentanone {Benzophenone |Propanone O O O O
The elements of group liI-A to group VIII-A| -
4. are known as block elements. p biock d block fblogk s block O O O O
5. The formula of super oxide is: o o or o} O O O O
. . Low . . :
Divalency of heavier elements of group IV . {Their large Inert pair Low
6. can be explained on the basis of: Si'tey ctronegati sizes effect ionization O O O O
7. The color of dichromate solution is: Green Orange Red Yellow O O O O
The process in which an organic molecule is . . .
. .. {Fractional Total Partial Destructive :
8. synthesized from small and cheap readily| ;. .1 . . v O O O O
available molecules is called: distillation synthesis synthesis distillation
L . Super . Non-super
Optical isomerism is shown by compounds . Plane of Axis of .
9. . ! imposable imposable O O O O
which have: mirror image symmetry symmetry mirror image _
10. Which compound is the most reactive one? | Ethene Ethyne Benzene Ethane O O O O
Functional . -
: . Cis-trans . Position
11. Ethers show the phenomenon of: group comerism | Metamerism i oL O O O O
, isomerism
; i Both are
Which statement about glucose and sucrose {Both occur  |Both are . Both are
12. is incorrect? naturally carbohydrates :::;’ebrle n disaccharides O O O O
13. One of primary ingredients of lipstick is: Nitrocellulose |Wax Acetone Acetic Acid O O O O
Chlorofluorocarbons play an effective role in
1. \emoving O,in the: pay Stratosphere |Mesosphere | Thermosphere  Troposphere O O O O
Which of the following technique does not Mass .
15. involve the absorption of radiations? NMR spectroscopy UVNVis _ Infra-Red O O O O
Which of the following electronic transitions *
16. requires highest amount of energy? ki e n>ot noat O O O O
Relative :
. . . Number of  {Number of
17. Height of peak in mass spectrum shows:  [Mass number | W = protons ;%t:gg::ce offl O O O O
SUPPLEMENTARY TABLE L 2HAI 2309 —
Atomic No 1] 2 | 3] 4516 ] 78] 9 [10]11] 12 13[1a]is]16] 17 |18] 1920
Symbol H| He | LB |8 | c|nN]|]o| FlNe|Na|[Mg| AW ]|si|]P]|s | a]|a]| k]| cs
Mass No 1 {4 |7 9 | 121121416 19| 20| 23| 24 | 27 | 28 | 31 | 32 |355) 40 | 39 | 40
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Time allowed: 2:35 Hours

/6
CHEMISTRY HSSC-II

Total Marks Sections B and C: 68

NOTE: Answer any fourteen parts from Section ‘B’ and any two questions from Section ‘C’. Write your
answers neatly and legibly.

SECTION — B (Marks 42)

Q.2 Attempt any FOURTEEN parts. All parts carry equal marks. (14 x 3 = 42)

(i)

(i)
(i)
(iv)
v)
(vi)
(vii)
(viii)
(ix)
(x)

(i)
(xii)

(xiii)

Generally, ionization energy increases along a period, but ionization energy of 4iis less than that of Mg .
Give reason for this anomalous trend.

Write the reaction of Oxygen with Li,Naand Kk and write the names of oxides produced.

Write three applications of bleaching powder.

Describe the strength of halogens as oxidizing agent.

Draw structures of €0, and Sio, and enlist any two of their differences.

Write down the balanced chemical equation for the reaction of Potassium Magnate VII with Mohr's salt
along with change in oxidation number of Mn.
How is 7,0, used as catalyst in contact process?

Briefly explain functional group. What is the importance of functional groups in organic chemistry?
Why hydrogen atom of terminal alkynes is acidic in nature? Explain with the help of an example.
Write the following reactions of propene:
(a) Halogenation {b) Halohydration (c) Hydrohalogenation
Write the preparation of Tertiary amine by using primary alkyl halide and ammonia as starting materials.
Complete the following reaction. What is the use and importance of this reaction?
OH OH
[ ]
H-C-C-H+HIO,—>?
|
OH OH
(glycol)
Enlist the names of reducing agents used in Clemensen reduction and Wolff-Kishner reduction. Write
chemical equations to show the reducing action on aldehydes and ketones.

(xiv)  Write the reactions of acid halides with (a) Water (b) Alcohol {c) Ammonia
(xv) Write the preparation of Carboxylic Acid from:
a. Grignard’s Reagent b. Oxidation of Primary Alcohol
(xvi)  Describe smog along with its types.
(xvii)  Briefly explain the role of ozone in protecting the atmosphere.
(xviii)  Briefly explain the principle of spectroscopy.
(xix)  What are the applications of atomic absorption spectroscopy?
(xx)  What is analytical chemistry? Differentiate between qualitative and quantitative analysis.
SECTION — C (Marks 26)
Note: Attempt any TWO questions. All questions carry equal marks. (2 x13 = 26)
Q3 a Explain in detail the “Inert Pair Effect’ and possible oxidation states of group IV Elements.
Explain in detail Structural Isomerism and its different types along with examples.
Q.4 a How Grinard Reagent reacts with the following:
(i) Propanone (ii) Carbon dioxide (iii) Ethanal
b. Describe polymerization and explain the formation of PVC and Nylon 6,6.
Q5 a Explain the factors that affect the activity of enzymes.
Wirite down the main differences between alcohols and phenols.
—— 2HA-l1 2307 —
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u G fmendb LIS L sz Ly, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
* | Question A B c D Als[c | o]
- Upward Contraction of{Increased
Which of the following event occurs injContraction of internal area of
i " exhalation? diaphragm m.ovement of intercoastal |thoracic O O O O
Ribcage .
muscles cavity
. Group of cranial bones are given
I.  Frontal, occipital, parietal, lacrimal
' fl.  frontal, occipital, ethmoid, sphenoid '
.' . Frontal, ethmoid, parietal, lacrimal " v i O O O O
. V. Frontal, ethmoid, sphenoid, lacrimal
Select the group of unpaired cranial bones
. Dead
Select the correct osmoregulatoryiThey do not .
.3' adaptation of marine animals: drink water fonocytes :;r:tumzed Rectaigand | O O O O
The diagram represents a sample reflex arc.
. Identify the correct sequence through which
nerve impulse pass during a reflex action:
W PQR QRP QPR RPQ O O O O
. A 30 year old patient shows some symptoms
| Weakness in left arm
'. I Difficulty to speak Epilens Stroke Grave's Alzheimer’s
Il | Loss of blood supply toward brain pliepsy disease disease © O O O
. The symptoms and diagnosis show that
patient is suffering from:
. - ' Endorphin — Cholecystokinin Placenta— |Secretin ~
6. Choose the mismatched: orp - duodenal O O O O
Brain progesterone {stomach wall
. i wall . .
When new animals are brought to zoo, ]
-7 initially they get scared, but after some time |, ;. Habituation | Altruism Instinct O O O O
" they become used to the environment. State P 9
. the behavior.
Page 1l0f 2 | O
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| | Question A B c D AlB]c
A heterozygote red eyed female drosophila
is mated with white eye male drosophila.|__, o o
8. What would be the expected %age of red 25% 50% 75% 100 O O O O .
eyed female as a result of cross?
Point out the structure responsible for
storage of sperm.
9. | [ I \Y O O O O
In a particular family all. sons are normal,
whereas are all daughters are carrier of|| X"y xty X'y X"y
10. i
0 hemophilia. What would be the expectedi| x*x* X" xH Xhxt X4 x* O O O O
genotype of parents?
Which of the following is related with the{Small Small sized |Flattened
11, . .
1 Klinefelter's syndrome? testicles head nose Webbed neck O O O O
Microorganism used for the production of|Aspergillus |lactobacillus |Saccharomyces |Streptococcus
12, . .
bread is: orzae Sp cerevisiae Sp O O O O
Select the palandromic sequence in the
given fragment of DNA.
Al 16l 1Al 1Al 1Tl 1Tl 16l Icl IGAATTG AATT AGA ATT GA AT
13.
CTT AAC TTAA TCT TAA CTTA O O O O
N YN YN YN PN
T I1CE IT] ITI Al (Al €] |G
Suppose the given nucleotide sequence is
genetic code on DNA. |3 CT444TCGGT 5'_| .
14. What would be genetic codon on MRNA| 3 GAULUAGGCAS | S GATITAGCCA Y | 3 GATTTAGCCA S'| SGAUUUAGCCAS O O O O
'when RNA is transcribed from the given
strand?
15. Water within the basin is called: Lake Pond Stream Aquifer O O O O
Forelimbof |/ OreiMb Of i ofbat | Wing of bird
16. Which of the following pairs are analogous? | man, flipper bat and and wing of |and wing of O O O O
’ gp gouss - NP forelimb of ) g 9
of whale bird butterfly
human
Which of the following events is NOT related Replacement | Disappearance | Development Separation of
. i of embryo’s
v to 2 trimester? of cartilage by . v of sense eyelids O O O O
bone tail organs

—2S8A-112310-4101 ——
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BIOLOGY HSSC-II

Time allowed: 2:35 Hours Total Marks Sections B and C: 68

NOTE: Answer any fourteen parts from Section ‘B’ and any two questions from Section ‘C’. Write your
answers neatly and legibly.

SECTION —~ B (Marks 42)

Q.2 Attempt any FOURTEEN parts. All parts carry equal marks. (14x3=42)

(i)

(ii)

(i)

(vii)
(viii)
(ix)
(x)
(xi)
(xii)
(xiii)
(xiv)

(xv)

(xvi)
(xvii)

(xviii)

(xix)
(xx)

Though breathing is an involuntary phenomena still different parts of brain are involved in its control?
How?

In case of less availability of water:

a. Mention the hormone which becomes active.

b. Indicate the part of nephron on which this specific hormone acts and how? Q2 (ii)
Structure of intervertebral disc is shown answer the questions related to it.

a. How A and B are different in nature and importance?

b. Investigate the disease caused by rupturing of part A?

also write its effects on associated structures.

Complete the table according to given situation:

Situation Part of brain involved | Function of part of brain
a_ | Aperson is unable to swallow.
b | Last moment of an exciting match

How is hybridization applied in improvement of plants? Discuss briefly.

Mr. X is diagnosed with secretion of cortical hormones.

a. Mention any two physiological effects of under secretion of cortical hormone on his body

b. Write down any two physiological effects of over secretion of cortical hormone on body as well.
Identify the kind of social behavior in learning response after many unsuccessful tries. Elaborate with
example.

State the role of transgenic bacteria in making biotechnology products.

Evaluate the functioning relationship of pituitary and ovarian hormones during the preovulatory phase of

‘female reproductive cycle?

Associate azoospermia and sperm deformities as causes of male infertility?

How would can the effect of hormone produced by foetal adrenal gland in birth be described?

Analyse the result when Rh-ive mother conceives an Rh+ive child. What expected complications the
foetos will face? Describe briefly.

Discuss any three factors affecting allelic frequency according to Hardy Weinberg law.

Point out the kind of speciation shown by organism living in same area but facing different environment?
Also discuss it.

a. What would be the first stage of xerarch succession developed on bare rock? Discuss.

b. Which stage of succession follows it? Write name only.

How is acid rain harmful for us? Mention any three effects.

Associate the role of microbes with energy production.

By cutting the DNA of two different people with same restriction enzyme, fragments of different lengths
are obtained. Why? Name such fragments and give their importance?

How the elongation of polypeptide chain occurs during protein synthesis? Discuss

Sketch a flow chart showing physiological responses exhibited by the body of a person facing high

temperature.
Page 1 of 2 (Biology)



Note:

Q.3

Q.4

Q.5

Attempt any TWO questions. All questions carry equal marks. (2x13=26)

SECTION — C (Marks 26)

Explain generation and transmission of an action potential in a resting neuron. Draw diagram as well.

The diagram shows neurulation in human embryo.
i Identify part A and B
ii. How does the development of part A differ from part B

although both are lying in the same region? Explain.
Prove with help of an experiment that replication of DNA is semiconservative.

Discuss the human skin colour as an example of polygenic inheritance.

How does transport of carbon dioxide in form of HCO,ion take place in blood? Discuss. Draw diagram as

well.

{llustrate the steps involved in gene amplification through polymerase chain reaction.

— 2HA-1§ 2310 —

Page 2 of 2 (Biology)




[ |
O
| |
o . Version No. ROLL NUMBER
af1]1|1
© © © © - ®© © @ © ©® ©
- _ ON 2N NN ) RN OONOMONONO)
B MATHEMATICSHSSCdI @ @ @ @ @0 00 0 0
] SECTION — A (Marks 20) ® 0 ® 60 0 0 @ 0
: Time allowed: 25 Minutes © e
. Section - A is compulsory. All parts of this ’ @ @ @ @ @ @ @ @ @
section are to be answered on this page and .
u o eietngiovenwriing 1 not alowed. ©® 060 ©6 606060
- o /u_q/L:rDLo)r’, 0:‘:1;6 Ieé;‘j;ﬁi,.ém.q.dmdn;v ®© 6 66 ®©® 6 6 6 06
99/ 7/ 34 AR .
- PR TS S 0 0 0O @ © © © © @
u ® 0 0 0 ®©® ® 0® 0 0
H :
Answer Sheet No.
[ :
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- Fill the relevant bubble against each question according to curriculum: Candidate Sign. ,
| | Question A B c | b AlB|lc]| D]
n ) ’ '
¥ f(x)=x"+1land g(x)=x-1, then
- 1. (f(())) ) , x’ x -1 x*+1 x* =2 O
glf(x))=
l‘z' i £(5)= [ then 1'(3)= Yy |y Q+ny) |y (1-Iny) | py’ O
!
. i
i
u 3. Ei—,(x“’)= —6x~* —-3x™ —6x° . |-3x7 O
. ]
d oY Q3 (o] 0 _.__71-_ o _l. i °
. 4, E(Cosx )= . | Sinx Cosx 180C0fx : 180Smx O
n €
B 5. The Maclaurin series expansion of ¢ is: 1—ﬁ+—’§!—%+.... 1+ﬁ+3‘21!+’;—:+.... 1—§+%-:—:+“.. x—gﬁg—z—’;—:h.. O
N
- 5 f I!—'(—xldx=lnSinx+c then f(x)= Cos Sinx —Cosx —Sinx O
N /e . ¥ .
n , ‘ .
- 7. I(x+|x])dx= -1 0 1 2 O
- . .
| g The area bounded by the graph of y=x* | 1 0 1 2 O
n and x-axis from x=-1to x=1is: 3 3 3 ‘
B, e j(e*—e-*)dx ~2Cosh(1) | -2Sinh(1) | 2Sinh(1) 200sh(1) | O
' 0
n
B 10 Evalate j’gﬁt—gn—x)dx InCot(In x)+ C| InSin(Inx)+C 1n00§(mx)+c Sin(lnx)+C | O
|
If slope of alineis —/3 , then inclination of | 7 z 2 5z j
B " teiineis: ' 6 3 3 6 O
|
] D Page 10of2
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| | Question A B c AlB|lc]|oD |-
What is the distance of the origin 0(0,0) 11
12. 25 5 ol
from the line 3x+4y-25=07 V25 N O O O O .
For what value of k the slope of the line ]
13, Passing through the points (7,3)and | ;¢ 9 9 7 O O O
(k,-6)is —1. _ .
The minimum value of f(x,y)=4x+5y | ]
14. subject to the constraints x<4, y<2and | (4.2) (1,2) (1,0) (4,0) O O O O _
x 2> 1is at the point: .
What is the centre of the circle with .
15. equation x* +y*—2x+2y-1=07? (.-1) (-11) (-1-1) (L1) O O O O =
What is the length of latus rectum of the o
16 parabola x* = 4ay ? ¢ 4a 2a 8a O O O O u
|
What is the eccentricity of the ellipse
g2 e P8 v 'l s 25 0O 0 O -
BT 5 25 Ja1 Ja1
What are the directrices of the ellipse 4 2p? u
2 2 _t =4 = =4 :
18. %“LZ_’:]’ &b x_J_re x=t " x=+ae y=t O O O -
| |
For what value of «, the vectors 6
19 6i-g j—2k and 3i-2aj—k are parallel?‘ 2 4 2 O O O n
20 What is the projection of vector ion the | 1 1 E 1 |
* vector i~j? 2 J6 6 2 O O O .
n
—=2HA-H 2311- 4111 —— ¢ .
N
. n
u
, o
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Time allowed: 2:35 Hours

2.0
MATHEMATICS HSSC-II

Total Marks Sections B and C: 80

NOTE: Attempt any twelve parts from Section ‘B’ and any four questions from Section ‘C’. Write your answers
neatly and legibly.
SECTION - B (Marks 48)
Q.2 Attempt any TWELVE parts. All parts carry equal marks. (12x4=48)
()  Evaluate lim>n2
vy y—-r
(ii) Find the derivative of x at x = a from the first principle.
: 4147
(iii) If y=tan[2tan" [ij] , then show that & =(;yz)
2 dx 4+x
(iv) If y=1n(u2 —9), then find y, (the foruth derivative of yw.rt « )
(v) Apply the Maclaurin series expansion to prove that In(x-1) :x—%2+x?3—§+...
(vi) Use differentials and find & and & ,if xy~Iny=c
dx dy
Jx +1 i
(i) Evaluate () [oF-olx (i) | (1),
Jx
L 2a
(viii) ~ Evaluate dey
(ix) Evaluate the following definite integral j ‘S‘Lade
o Sin&+ Cosf
(x) Find the points trisecting the join of 4(-1,4) and B(10,0)
(xi) Determine the value of % such that the lines and 2x+ky—1=0,3x~-y-5=0and 3x-14y+8=0 are
concurrent.
2x+5y <30
(xii) Maximize f(x,y)=x+3y subject to the constraints {5x+4y <20
x20& y20
(xiiy  Write equations of two tangents drawn from (3,4) to the circle x*+y* =4
(xiv)  Find an equation of parabola formed by the cables of a suspension bridge whose span is @ and vertical
height of tower is b.
(xv)  Find a vector whose magnitude is 4 and is parallel to 3i—6/ +2k
u=i-2j+3k
(xvi)  Prove that {v=-2i+3; -4k are coplanar.
w=i-3j+5k
SECTION - C (Marks 32)
Note: Attempt any FOUR questions. All questions carry equal marks. (4x8=32)
Q.3 If f(x)= —2x+8 ,then find f7'(x), and prove that fof '(x)=x=f"of (x)
X
Q.4 Let f(x)=Cosx
a. Find, f'(x), £'(x), f7(x),...
b. Using Taylor's theorem show that Cos(x+h)=Cosx—hSinx—,;—z'Cosx+%Sinx—... (using part (a))
c. Approximate Cos59°using part (b).
Q.5 Evaluate Naz -y'dy
Q.6 Find equations of (i) sides (ii) altitudes (ili) medians
of the triangle whose vertices are 4(-3,2), B(5,4) and C(3,-8).
Q.7 Find equation of the circle passing through the origin and point P(1,1) having center on x-axis.
Q.8 Discuss and sketch the graph of the equation x*+2x-4y*+8y+1=0 by identifying the curve and

a.
b.
c.

derive standard form of the equation of the curve
find elements of the curve

sketch the graph of the curve (use of graph paper is not necessary)
— 2HA-l1 2311 —
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| | Question A B c D Al B | c| ]|
' In a timeshare operating system, when the
time slot assigned to a process is completed, | Suspended | Terminated :
. the process switches from the current state | state state Ready state Blocked state O O O O
to:
What is name of the operating system that{Real time Time sharing |Distributed
2. reads and reacts in terms of actual time? system system system Batch system O O O O
Software System Software System
3. SDLC stands for: development |development |design life ~ |design life O O O O
life cycle life cycle cycle cycle -
Which of the following perfofms cost/benefitj Analysis Feasibility . Implementation
4 analysis? phase study Design phase phase O O O O
5. C++ was primarily developed for: WINDOWS  |DOS ANDROID  |UNIX O O O O
Which of the following is the add ! ‘
ich of the following is the address : o v
6. operator? e # ‘& A’ O O O , O
Which of following is NOT a valid case in Nt . . . .
7. cwitch structure? case ‘a’: icase 123: |case 4.5: icase 0: O O O O
What will be last value of z in the following
code:
8 for(int z=2; 0 100 98 99 O O O O
z<99;z+=2) cout<<;
What is the index number of last element
S of any array with 5 elements? 5 4 0 1 O O O O
Given the following:
int arr[3]([{4]={{12,0,5,10}, ,
10. {7,8,19,30},(33,1,2,14}}; :2:52“3] Z;gfll [2] :;;FZ][H 223519] O O O O
Which of the following statement replaces ' ’
19 with 507
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O

l ' | Question A B Cc D .
The stremp ( ) function will return if
11. string 1is less than string 2. -1 0 1 2 O .
Which symbol ' is used to denote *
12 dereference operator? & && O .
13. How many contractors a class may have? | Only 1 Maximum 2 {Maximum 10 {Infinite O
Which of the following functions is used to . ' .
14. read data character by character from file? write get put read O
| |
What will be the output of following i
15 statement? Address of | Value of Value of Address of O [ ]
* double*p-total=&total; total total p-total p-total
cout<<&p-total;
—2HA-l1 2312-4121 ——
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COMPUTER SCIENCE HSSC-II

Time allowed: 2:40 Hours Total Marks Sections B and C: 60

NOTE: Answer any twelve parts from Section ‘B’ and any two questions from Section ‘C’. Write your answers
neatly and legibly.

SECTION — B (Marks 36)

Q.2 Attempt any TWELVE parts. All parts carry equal marks. (12 x 3 = 36)
(i) Write down any three differences between Multitasking and Multiprocessing.
(i) ~ How is UNIX better than Windows? Give three reasons.

(iii) Why is Feasibility study important? Name different types of feasibility study.
(iv) What is static variable? Give any two properties of static variables.
(v}  Whatis Preprocessor Directives? Give the syntax to use them in a program.
(vi) What is the use of Assignment Operator? How may it be used with Arithmetic Operators?
(viiy  Write a C++ program using if control structure to find out the smallest value amongst A, B, C.
(viiiy  Differentiate for, while and do-while loops. Give any three differences.
(ix) What is an Array? Write down any two uses of arrays in daily life.
(x) Find the output of the following error free code if the user enters a value 3568.

#include<iostream>

using namespace std;

void main ()

{ int no,res=0,r,n;

cout<< “Enter any positive number ::”;

cin>>n;

no=n;

While (no>0)

{ r=no%l0;

res=res*10+r;
no=no/10; }

cout<< “\n The Result is [“<<n<<”] is :: [“<<res<<”’]I\n"; }
(xi) Write any three differences between function overloading and function overriding.
(xii) What is a constructor? Is it necessary to define a constructor in a class? Give a reason to support your

answer.

(xiii)  Rewrite the code after removing the errors.

int outer; innermost; s;

for (outer=5; outer>l; outer--)

{ for (s=1 s<5-outer s++)

cout<<“ “; .

for (innermost=1 innermost<outer innermost++) {

cout>> W/, }
cout<<endl; } }

(xiv)  Write down any three differences between inline and virtual functions.
(xv) What is the difference between binary and text files? Write any three.
(xvi)  Write down any three differences between reference and pointer.
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SECTION — C (Marks 24)
Note: Attempt any TWO questions. All questions carry equal marks. (2x12 = 24)

Q.3 (a) Explain different stakeholders related to system development life cycle with their roles.
(b) Explain inheritance and polymorphism in detail with daily life example.

Q.4 (a) Write a C++ program using function to find quotient and remainder. The quotient and divisor values will

be passing by reference to function to calculate quotient and remainder.

(b) Write down about the functions and its modes which is used for file opening in C++.

Q.5 (a) Wirite C++ program to count vowels, consonants, digits and spaces in a string input by user. The output
should look like as:
Enter any string: This is a 3454 flight number
Number of Vowels ::6
Number of Consonants ::13
Number of Digits :: 4
Number of White spaces ::5

(b) Describe the following functions of an Operating System.

(i) Process Management
(ii) File Management
(iii) Network Management

— 2HA-I1 2312 —
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.l |Question A B c D gAIBICIDI
1.  Probability is numerical measurement of: iCertainty ?Uncertainty gQuality iQuantity O O O O
u A single letter is selected at random form the! E E : :
M 7 word "Statistics”, then probability of vowel;2/10 13/10 14/10 1710 O O O O
- letters is? 3 E ; ; 5 '
A non-orderly arrangement of objects is% . - :
| S called: EPermutatlon EComblnatlon sFactonal ESpace set | O O O O
u ] . ! 5 a !
For two independent events A and B,! ' e : :
B * P(A=050and PB)=0.30, then P(4nB)= {01 0.55 10.65 10.80 O O O O
. . . . - Probability Cumulative Discrete E
5. :L)rféz:nc&?(t)l?:?;:ﬁerzpdom variable, then theEZr:]J;?obr:hty ' density idistribution  iprobability O O O O
[ | ' ; 1function +function ifunction : _
n Given that E(X)=4 and E(Y)=2, then what is! i i
6. the value of E(3X+Y)? 510 512 514 516 O O O O
N ; ; : : :
. A variable whose values are determined by : - i : :
[ | : ST . ‘Qualitative  {Random : Standard :
7. g:lzlegt:xtcomes of a random experiment 'Sélete Va”ableivariable ivariable iveriable O O O O
n . ; ; a z @
y The binomial distribution is symmetricali 5 - i - E
W hen i pa L pa P P=d = O O O O
‘ In a hyper geometric experiment thei : ;
n 9. quccessive trials are: EIndependent EDependent EInﬁnlte EExhaustlve ! O O O O
- x follows binomial distribution, then mean of§
w0 b(x10,1/2) is: 12 N 10 19 O O O O
. , 1 i H H
- in normal distribution, o =10, then meani
- L Geviation wil approximately be: 8 ?10 §15 §20 o O O O
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| | Question POA B | C - p Al B]c ]| o]
In normal distribution, P(Z<-1)=0.1587 ! : ! : E
12. 10.4987 10.4772 -0 3413 10.1587 :
then P(Z>1)= ' , O O O O
If o*=25n=25and sampling is done with: . :
13. replac.ement, then standard error of meani1 15 _\E Jg O O O O
(85) is equal to: i ' 3 E ;
A numerical value calculated from sample is! [ : : :
18, lled: Parameter EStatIStIC iMean EEstlmate ! O O O O
The critical region of the test is decided;Null 'Alternative -~ fLeveI of :
15. keeping in view of: ‘Hypothesis  :Hypothesis ETest statistic ' significance : O O O O
For contmgency table, If total degree of'
16. freedom is 12 and number of rows are 5,.3 4 15 16 O O O O
‘ then number of columns will be: : ; : :
17. In computer, RAM holds the data/instruction: | Permanently | Temporarily ~Partially icasualy O O O O
—2HA-II 2313-4131 —
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2.4

STATISTICS HSSC-II

Time allowed: 2:35 Hours Total Marks Sections B and C: 68

NOTE: Answer any fourteen parts from Section ‘B’ and any two questions from Section ‘C’. Write your
answers neatly and legibly. Statistical table will be provided on demand.

SECTION — B (Marks 42)

Q.2 Attempt any FOURTEEN parts. All parts carry equal marks. (14 x 3 =42)

(i)

(ii)
(ii)
(iv)

(xi)

il
(xii
(xiv)
{xv)
(xvi)

{xvii)

(xviii)

{xix)

How many possible permutations can be formed from the word “COMMITTEE"?

Describe the terms: trial, outcome and sample space.

Three unbiased coins are tossed. What is probability of (a) two heads (b) at most two heads.

Find the mean and variance of Y =2X+6, if E(X)=4and V(X)=3

The probability that a stolen car will be recovered in a city is 0.60 . What is the probability that 7out of 10
cars stolen in the city will be recovered?

Describe hyper geometric experiment.

In a binomial distribution the mean and standard deviation are 5and 2respectively. Find n and p.
If N=10,n=3and X =7. Calculate mean and variance of hyper geometric distribution theoretically.
In a normal distribution, @, =10and @, =20. Calculate x and o

Write down an‘y six properties of normal distribution.

if x is normally distributed with z=5and o =3, find the value of maximum ordinate correct to two
decimal places.

Forn=10, P =—;- Find standard error of sample proportion when sampling is done by 'with replacement’.

Itis given that n=100, ;=15 and é;=2.5. Find uand o if sampling is done by ‘with replacement’.
Describe estimation, estimate and estimator.

Find 95% confidence interval for the mean of a population if n= 25 X =83,6="7,Zyp; =196

Differentiate between type-| error and type-ll error.

Given H,:u =pu, vs Hy: 4 # p, m =30, n, =40, X1=60, X>=50, S§?=36,82=25 a=0.05Z,, =196 calculate

test statistic and make the decision.

Given N =1216, (4) =304, (4B) = 256, (B)=1024 . Prepare 2x2 contingency table and calculate coefficient of

association.
Describe low level and high level languages of computer.
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Note:

Q.3

Q.4

SECTION — C (Marks 26

Attempt any TWO questions. All questions carry equal marks.

(2x13=26)

Two friends A and B appear in an interview for two vacancies in an office. The probability that A will be

selected is %and the probability that B will be selected is % What is the probability that

(i) Only one will be selected

(i) Both will be selected
(iii) None will be selected

(iv) At least one will be selected.

A continuous random variable X has the probability density function f(x)=

f(x)is a complete probability density function and compute:

(i) PQ<X<3)

(i)

P(X >2.5)

(iii)

P(X <3.5)

for 2< ¥ <4, Show that

A traffic study conducted at one point on highway shows that the vehicles’ speeds are normally

distributed with a mean of 60.0in/ - and standard deviation of 3.0km/ hr . If the vehicle is checked

randomly, what is the probability that its speed is

Draw all possible samples of 3 letters by ‘without replacement’ from the word “Paper”. Find the proportion

(i)

Below 54km/ hr (ii)

Above 63km/ hr

of letter “P” in each sample. Construct sampling distribution of sample proportion and verify that:

(i) Hy=p

(ii) &t =£;1

()

Samples of two types of electric light bulbus were tested for the length of life time and the following data

were recorded

Typel: n =35, X
Typell : n, =17, Y

Assume that the population of two types have the same variance. Test the hypothesis that two means are

significantly different at 5% level of significance.

The following table shows the linking’s of three colours : pink, white and blue in a sample of 200 males and_.

females. Test whether there is any relation between gender and colour at 5% significance level. (Tabulated

value X%, =599)

=1224hrs,
=1036Ars,

(X - X) = 6484
(Y -Y)? =11200

Gender
Clours
Male Female
Pink 20 40
White 40 20
Blue 60 20
—— 2HA-1 2313 —
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: | Question i A | B | ¢ i b :'aAa|B|lc]| o]
‘Income : : ! 5
What is deducted from Gross Nationalireceived from i ; i Transfer :
.1 Product to find Gross Domestic Product?  ;abroad i Direct tax iConsumption .payments i O
) ?,Lb'lggtq’/gc,/blﬁd;riééﬁi./(:‘"/m,g‘ffkiE(ybc_-.ﬁl/u:/ E(fcrc/u,l/, i.)/ ;ug?uidti‘r E
n aTdvin | ! i E
iAverage 'Margmal 1Average :Marginal g
. The ratio of change in consumption to!propensity to .propenS|ty to ! propensity to -propensity to !
2. change in income is calied: iconsume iconsume 1save 1save : O
|| WA T PR AR R e st : Y ad el bt uﬁf{“
[ ] : ‘Standard : : ;
5 Five-rupee coin in Pakistan is: : Credit money {money i Token money i Near money : O
- :f(d;_uégdul“/igtl_ﬁdz?l 54,—13(51&" Eg_u‘(}’ e «:¢‘-yd'/. ;
Value of tDemand for Supplyof  }Imp ortance of
- Purchasing power of money means: 'money ;money 'money 'mon :
a. PR . ; : O
. ?‘411/&(:;/_0_/:«:’ Ju' : u’dlu’ ' .,»»u’d///’ :MJJ}] teg ‘Zi(!u '
E ; 1Saving 1Demand ;
.5 Commercial banks do not pay interest on:  :Time deposuts-Secuntles ‘deposits ‘deposits : O
. ?Z_/u:"uhr/,ufuuﬁg&?fu:ud;&_,v lu:Jt/ Equ "uo”’
Which of the. following canons of taxatlon Canon of iCanonof  iCanon of :Canon of ;
.6 was not presented by Adam Smith? ; requality 'certamty ;convenience :elasticity ; O
' S S AT UrE o Ra i n | el uf‘dm i S LS AG {
. Who presented “Absolute advantage theory”: ; David E | i
- of international trade? "Adam Smith ’Ricardo tIrving Fisher ' Crowther !
| 2 - o F O
?L/J}i_.gf(d/,{f:/" h’ojlfdlimuf:/r,y ::51(64»’: L B s !
B Atexwhichis imposed on imported items is§ J ;
called: 1Sales tax  Tariff :Direct tax iIncome tax ! O
.8' ?ujz;fgfc.uc‘_rt!gtﬁ/,gumzu'gur i Jg): :, Y4 ; Jg:/lnl/, E Jg&u' i
I o 5 : ! E :
q Life expectancy in Pakistan is: E63 years 567 years 170 years 573 years : O
B S peid s itk gi <Ju63 teJL6T e L0 e U3 ;
.10 Forest area in Pakistan is around: 5100/ 28‘7 550/ §3°/ O
. . - (C}’"eraubwub@i (] E (] E (] E (] ;
] .
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l Question Jir A E B c D COA I B ‘ c I D
H H i . i st 5 st E st E at E
i1, Fiscal year, in Pakistan starts on: ) ,1 June 1 July 51 January i1 October E O O O O .
v;.t’nc,;_/dpdwauu@; ul:?r[ ; (}Ui‘f : d/}?{ : /Ifl{ ; .
1. The Percapita income of Paklst'f\p is ar'ound: 1000 dollars §1600 dollars §1800 dollars 2200 dollars .: O O O O .
L FATU $ue « M1000 te /31600 1< /51800 : ;,)uzzoo ;
gTransfer ; o L
The main source of capital formation is:  iPayments ‘Subsidies :Savings iTechnology
13, ;] ' N , ;
ER LN ) /J.é .S N v P : u_w;f A ! O O O O .
When was the first five-year plan Jaunched ! f E : !
in Pakistan? : : ; : ?
14. . ' 1950 11955 11960 11965 '
NI gl BI04y [ 5 5 : ; O 0 0 O
169 109 1169 1909 i
15, The rate of unemployment in Pakistan is: : 6‘/9 : 10% :1§A :20/0 ! O O O
s FUASSH e 2o, | ads 10 116 {420 ;
: ] ' 'Prices of !
i Cost of 1 Size of the | ' goods
Due to development of means of transport | production . market « Prices go up : become ;
16. and communication: jincreases  icontracts  :significantly ! stable O O O O
R (1A STVIPT S TR Ry IS Y PO PRI S 7B 1S A B Ry T S P >l AR
etendl et e !
: Open ' Discounting ! :
The Sale and Purchase of Government ! : market ithe bill of ¢
17. securities by a central bank is called: i Speculation :operation - iexchange Fiscalpoicy 1 (O O O O
et Ut ety ot 2 UPSSK A GSS (G2 LV WS Utk L Ly :
: : Directs E
5 i ! » commercial
: Purchases 1 Sells i + banks to 5
rgovernment ; government ! Llowers r advance !
18, Inorder to control inflation, central bank:  isecurities  isecuries  {Bankrate  moreloans ! O O O O
NACIPWS AN L P RIIRL AT 2% gfu;iw/dﬁ/ §;,/J¢4c/ élz;ffuﬁ&;?
ic‘_b}f é‘alz‘v/&;/' i‘:" ;é’,/-u}_/'uf‘a E
5 § § e §
When government expenditure exceeds ;
revenues from taxes and other sources, 1 Surplus : Balanced : Deficit . Favorable !
19, the bquet |:s called: : budget budget budget budget O O O O
i $aT S8 romurf S L enf s LS e b esbe A sl 5
S esgid | | ! § i u
Which of the following institutions is ! ‘Export
responsible to prepare balance of payment ; Ministry of i State Bank  :National Bank:promotion .
20. account in Pakistan? i Finance + of Pakistan 1of Pakistan Ebureau | O O O O
e s 3K S i 2 b’ug:l;lu}l;a/blu:rgﬂul’/(k L s ety b :ub@._jfué()% LS s
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|n

Time allowed: 2:35 Hours

ECONOMICS HSSC-II

Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B (a)’, one part from Section ‘B (b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Write your answers neatly and legibly.
SECTION — B (Marks 50)
Q.2 a Answer any FIFTEEN parts. The answer to each part should not exceed 3 to 5 lines.
(15 x 3 = 45)
0} What is meant by Net National Product?
(i) Briefly explain “Subsidy”. ‘
(i) Write down any three functions of a commercial bank.
(iv) What is meant by ‘Credit Creation’?
v) Differentiate between ‘Fee’ and ‘Price’.
(vi) Write down the édvantages of international trade. (Any three)
(vii) Briefly explain ‘Protection’ in international trade.
(viii)  Write down any three factors which influence economic development of a country.
(ix) Briefly explain any three factors which affect productivity of labour.
(x) Explain briefly the causes of unemployment in Pakistan.
(xi) What is ‘Capital Market'?
(xii) Briefly explain the concept of “Mudaraba” in Islamic economics.
(xiii)  Write down the main sources of revenue of federal government of Pakistan.
(xiv)  Differentiate between “Zakat’ and “Charity”.
(xv)  Write names of the major exports of Pakistan.
(xvi)  Write down any three causes of the deficit in the balance of payments of Pakistan.
(xvii)  Enlist the member countries of SAARC.
(xviii)  Differentiate between ‘Direct’ and ‘indirect taxes’.
(xix)  Write down any three problems of agriculture sector of Pakistan.
(xx)  What is Usher in Islamic economic system?
(xxi)y  What is meant by “Transfer payments™?
b. Attempt any ONE part. (ix5=15)
(i) Discuss the importance of agriculture sector in Pakistan economy.
(i) Explain the causes of low Per capita income of Pakistan.
‘ SECTION ~ C (Marks 30}
Note: Attempt any THREE questions. All questions carry equal marks. {3 x 10 = 30)
Q.3 What is Barter system? Discuss the problem associated with barter system.
Q.4 Discuss the problems of a developing country like Pakistan.
Q.5 Explain various functions of state bank of Pakistan.
Q.6  Explain the main features of Islamic economic system.
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[ IQuestion dlré A - B c D A l B [ ¢ l DJ
| In the absence of an agreement, interest on'i '
1. drawing is to be charged by the firm at the!2% p.a. 14% p.a. 15% p.a. 16% p.a. O O O O
| rate of: ; : ' ' ‘ :
B Mr. A drew cash Rs. 1000 from business for! E : E E
2. 3 months, the amount of interest on drawing:5 110 115 125 O O O O
. @ 6% p.a. will be: : : g ; ;
{  The amount of good will brought in cash by} - fo ! §
L 3. anew Partner will be credited to old partner's: Gaining Ratio ; New Ratio :gggzﬁce :0Old Ratio O O O O
= account in: ; : 3 ; :
- ; . A 5 EOId partners’ 5
‘ ; . . ‘Revaluation Liabilities |Assets T !
- 4. Profit on revaluation should be credited to: account taccount {account Ezzggi:qt : O O O O
N : : 3 : :
g ;. 1he format sketch of statement of affairs iséT ial balance éProﬁt and f!BaIance ifar;(czmnzi:; ':g O O O O
- " similar to: ' n tloss account !sheet ' p .
i ; ‘ raccount :
= L bil L biliti F‘ tal
. . 1Assets — 'Liabilittes ~  :Liabilities + :Capital + '
gy Networthisequalto: liabilies | Assets | Assets  Assets O O O O
» o . = | L {Bills 5
The opening and closing balances of debtors | Sales ' Debtors 'Creditors . ;
_ 7" can be calculated by preparing the: taccount raccount raccount :iecewables ! o O O O
B : : : jaccount :
. _ . ndividual jincomplete |
- 8. Single entry system contains: A day book A cash book icustomers ‘R ecords O O O O
; T * iManufacture EWork for
- 9. Non-profit making organizations: EBuy goods 5Sell goods  goods {social welfare | O O O O
n 5 3 : f :
» The amount paid to persons who are invited : . ! ‘f
0 to deliver lectures in a club is known as: ;lSaIary SWages EHonorarlum Eincome i O O O O
L s ! é | |
B . . :Nominal iPersonal iImpersonal
. 11. Receipt and payment account is a: ‘account account EReal account {account O O O O
| .
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ale

to be shared by solvent partner in the: '

sharing ratio

sharing ratio

[ [ Question Jir A E B i c : D COA J B [ c l D
12. Consignee is: ;Principal iAgent iPayee Drawer O O O O |
The liability of a member in a company isi - . EIJ limted 5
13- generally: Elelted iContlngen’t ECurrent {Uniimte | O O O O -
14, Company does not receive the applications | Under 1Over ‘Normal iAbnormal O O O O u
" for all shares issued in: isubscription !subscription !subscription :subscription n
How many legal basic documents of a publicé - o
15. company are there? 52 53 54 f‘) | O O O O =
. . s ; iRevenue . |
16. Premium on issue of shares is a: EBusmess loss profi ECapltal profit sRevenue loss | O O O O
Current account of the partners should bei . - - L Rami uar f
17. shened when the capitals are: EFIuctuatmg Eleed 5Vanable Semi veriable O O O On
§New JEOId Partner's u
On the admission of a new partner, if good: 1Good will i , G |
18. = X ) ' i Cash account 'Partner's ' Capital O O O O
will brought in cash, it should be debited to: ! Eaccount {account | account | ]
On retirement of a partner the share of! iRemaing ' El-egal i .
19. retiring partner is taken by: ENew Partner iPartners EGovernment ‘representative O O O O »
According to the decision of Garner Vs! i f 5 n
20. Murray rule, the loss of insolvent partner is|Capital ratio | 09 Profit ENeW profit wcainingration: O O O O

——2HA-1l 2315-4161 —
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PRINCIPLES OF ACCOUNTING HSSC-II

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Sections ‘B’ and ‘C’ cbmprise pages 1-2. Answer any ten parts from Section ‘B’, any one question from
Section ‘C (Part-l)’ and three questions from Section ‘C (Part-ll)’ on the separately provided answer book.
Write your answers neatly and legibly.

_ SECTION — B (Marks 30)
Q.2 Attempt any TEN parts. The answer to each part should not exceed 3 to 4 lines. (10 x 3 = 30)

(i) What is provision?

(i) Briefly explain the double entry system.
(i) What is meant by non-profit making concern?
(iv) Describe special subscription briefly.

V) What is a consignment?

(vi) Explain proforma invoice briefly.

(vii) Describe ‘preliminary expenses’ briefly.
(vii)  What is ‘memorandum of association'?
(ix) Briefly explain the Realization Account.
(x) Describe the term ‘amortization’ briefly.
(xi) What is meant by the term ‘depreciation’?

(xii) What is meant by revaluation account?
SECTION — C (Marks 50)

(PART - 1)
Note: Attempt any ONE question. (1 x 20 = 20)
Q.3 The following was the balance sheet of A and B, who were sharing profits 2/3 and 1/3 on 31 Dec. 2022
. Balance Sheet

Assets Rs. Liabilities Rs.

Buildings 25000 | Capital account

Machinery ‘ 17500 | A S 15000

Stock 10000 |B 10000

Debtors - 4850 | Creditors 32950

Cash 600

57950 57950

Pass the necessary journal entries, prepare revaluation account, capital account and new balance sheet.
They agreed to admit C into partnership on the following terms.

(i) C was to bring Rs. 7500 as his capital and Rs. 3000 as good will for% shares in the firm.

(ii) The value of stock and machinery were to be reduce by 5%.
(iii) Rs. 375 provision for doubtful debts created.
(iv) The building account was to be appreciated by 10%.

Q.4 On 1% January, 2022 A and B entered into partnership contributing Rs. 200,000 and Rs. 150,000
respectively and sharing profits in the ratio of 3:2. B is to be allowed a salary Rs.5000 per year. Interest
- on capital is to be allowed at 10%, 5% interest charged on the drawing during the year. A withdrew Rs.
6000 and B Rs. 1000, profit before making any adjustments was Rs. 48000. |
Show how the profit is to be distributed? Also show the capital accounts:
(a) If they are fixed ‘ (b) If they are fluctuating

Page 1 of 2 (Pr. of Accounting)
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Note:
Q.5

Q.6

Q.8

v (PART - 1I) .
Attempt any THREE questions. (3x10=30)

Ahmed Bilal of Rawalpindi, consigned 100 cases of candles to Abdulah which cost him Rs. 50 per case.
He incurred the expenses Rs. 450. Some of the cases were damaged in transit and Abdullah took delivery
of 90 cases only. Abdullah spent Rs. 350 as expenses and 5% commission on sales. Abdullah sold 80
cases at Rs. 60 Per case. Consignor received 300 form railway as damages. Show the necessary ledger
accounts in the book of Ahmed Bilal.

For the following receipts and payments accounts of SISC club during the year 2021. Receipts and payment
account for the year ended on 31, Dec. 2021

Receipts Rs. Payments Rs.
Subscription 5200 | Salaries 1400
Donation 300 | Rent 1300
Admission fee 100 | Printing 100
Sale of old _ 60 | Postage 80
Newspapers Newspapers 70
Furniture 1000
Cash 1710
5660 5660

Subscription includes Rs. 250 collected in advance for the year 2022. A sum of Rs. 400 is due by members
on account of subscription on 31 Dec. 2021. The following expenses are outstanding on 31 Dec. 2021.
Salaries Rs. 300 and Rent Rs. 200.

A and Co. purchased machinery for 160000 on 18t July 2013. The books are closed on 31 Dec. every year.
On 30*" June 2018, It was sold for Rs. 70000 and new machinery was purchased for Rs. 180,000 on the same
date. Depreciation is charged at the rate of 15% p.a. on original cost method.

Prepare the machinery account up to 2016 in the books of company.

Mr. Saleem commenced business on 1%t Jan, 2021, with a capital of Rs. 50000. He purchased furniture for
Rs. 12000. On 1%t April, he borrowed Rs. 30,000 from his friend @ 10% p.a. and introduced further capital of
his own amounting the Rs. 19000. He had withdrawn Rs. 1800 at the end of each month for personal use.
On 31 Dec. 2021 his position was as follows. Cash Rs. 1200, Bank Rs. 15600, sundry debtors Rs. 28800,
stock Rs. 40800, B/R Rs. 9600, sundry creditors Rs. 3000, rent due Rs. 900.

Ascertain the profit or loss made by him after consideration the following adjustments.

(i) Depreciate furniture @ 10% p.a.

(i) Interest on capital @ 10%.

iii) Write off Rs. 2800 from sundry debtors.

— 2HA-11 2315 —
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Answer Sheet No.

e LS L sz Ly, Invigilator Sign.

Fill the relevant bubble against each question according to ‘curriculum: Candidate Sign.

| ]Question d'ri A B [ c D A l B I ¢ l D I

Scientists belong to which kind of E :
commercial activity? «Primary ‘Secondary  iQuaternary :Quinary i
1. . . i ) H ; |

te e $ S 0 O AL i g g i i © O O O
- Which of the following is a member tree of !Natural f i
i ? : ' Pi . ‘Oli 1

5. tropical evergreen forests? . ; ruE)bfar : Pines : Mul?erry : Olive ; O O O O
- ?‘L.Lﬁr[f').ll{.')fd/bt/dfé-u:u?l)ézr,' E S E o )% E -5 E L] E
Which country has the largest number of§ hi
i 2 ' i : ina ) ) I

[ ] 3 sheepinthe world? ] 1Australia :C iNew Zealand sIran e O O O
. ?‘Ll/ufuﬁm,é_gk’fut;wuyz___/dl_;; E YT <1 i}k:Jd/!: o4 !
. What is the annual natural growth rate ofi
in? ' o ' 0 ' 0 ' ) '

. 4 world population? . 12/o EZ.?A: 22'.2/0 ES.PA O O O O
S B30T, FOA AT 412 ' 4%32.0 L 22 | 443.0 ;
[ ] Which two minerals played an important roIeiGoId and §Petro|eum ilron ore and §Calcium and
in the industrial revolution? 1Platinum vand Uranium :coal ‘Megnesium |
5. . o e : : Dt e !

. T_l/hl/l)/ﬁ”‘/.é.:—?»’ud_)/u.‘.';.dlﬁ"la” ! rﬁ&mbr ! ﬁu_,’ulﬁ,!/', ! J’LJIW(U ' ﬁ-’:‘?/’lfg ! O O O O
.- Which country is the largest producer ofi
potassic fertilizers in the world? :China 1Canada TUSA France :
6. : : : N :

. ?cI_U/JLﬁ&:U/jL‘{l‘/,:_qb’lj) 01 :U}}.r LRy :Lf'/ . O O O O
n , o E E E :
What percentage of global rice production is: ' ' : '
H in% ! 1709 1809 '909 !

. obtained from Asia? o :60% :70/0 :SOA: :90/0 : O O O O
S oM 1t g S S ke 460 1470 1480 4490 :
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?‘q # ;lﬁJuﬁlJlndl;mufufubi

| | Question >, A | B | ¢ I 1o ia]lse]c]|ob]
Which country of the world has the largest]
magnetite iron ore deposits? :Sweden 1Canada ‘India 1China !
8. . i i i )
¢ OOMUS 265 L g b et i e s Wy i i 4 : © O O O
In which country of the world first commercial
H 9 [ ] H ] ) [
q. nuclear power plant was established? ) EFfa‘nce EChlna EUSA E(‘Sermany O O O O
?ﬂlﬁufbﬁc_ufﬁtj:/&dﬁzdy%;dl} (of LI Rly Wz ‘
How much labor force of the world is Iinkedi
. - 1 0, ' 0, ¢ 0, ' 0, !
10. to industries? o EZQA 53(?/0 34(?Aa 550'A> O O O O
Se 2t U A Gt F S w20 L aAi30 L 40 4450 :
What is the common border length of: E ': ;
i ia? . i H i ) i H i H
11, Pakistan and India? » :500 miles :1000 miles :1500 miles :2000 miles : O O O O
?‘LfdyJ»/f;?ngmnuMg:stoo 'K 1000 11500 ‘2000 !
In which province of Pakistan Kharan desert: 'Khyber E ;
is si ? : i : ' Si : i ‘
1. 1S situated? ) :Punjab :Pa?k.htu.n Khawa:Slndh :Baluchlstan ! O O O O
?‘gdb(ﬂd‘.)‘ﬂ/ Loty £k e bl L o ‘ gtz
Which area has recoded the highest rainfall 5 5 5 3 5
in Pakistan? : Chitral ' Gilgit ‘Murree iSwat ;
13. . : : : : :
?wd’«ﬁ/lg/utl,w‘/u:’;gug;;,g.jul?"g E JIZ E :/6( id/ E\:A}’ E O O O O
' River ! River E )
14, On which river Mangla dam is constructed? : River Indus : Jhelum : Chanab :Rlver Ravi : O O O O
S WV el it | ot s D tis D Gk !
The total number of international Airports in
1s. Pakistan is: 4 6 8 §10 O O O O
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COMMERCIAL GEOGRAPHY HSSC-lI

Time allowed: 2:40 Hours Totai Marks Sections B and C: 60

NOTE: Answer any nine parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 36)

Q.2 Answer any NINE parts. The answer to each part should not exceed 5 to 6 lines. {9 x4=236)

@
(i)
(iii)
(iv)
v)
(i)
(vii)
(viii)
(ix)
)
()
(xii)

Note:

Enlist any eight edible fish of ocean.
Write about the Mediterranean evergreeh forests of the world.
What is cottage industry? _
How is raw natural silk obtained for the silk textile industry?
Write about the nitrogenous fertilizers.
Write suitable physical factors for growth of cotton.
What is Haematite iron ore?
Differentiate between ‘Iron’ and ‘Steel'.
Write down the importance of Indus plain for Pakistan.
What are the characteristics of sub-tropical continental plateau climatic region of Pakistan.
Write about the importance of link canals of Pakistan.
What is the difference between iron and Steel?
SECTION — C (Marks 24)

Attempt any TWO questions. All questions carry equal marks. (2x12 = 24)

Q.3 Discuss the classification and importance of world forests in detail.

Q.4  Write about the world population and its distribution in detail.

Q.5 Discuss different electricity projects of Pakistan in detail.

(361-# J)r'u,_/’

(9x4 = 36) 2 st Eus jwlm..ué.!?l(09)).’_612.‘;‘15;“.» it Al
A penlattgiinde (i) L Fe S E S S (i)
S b WU b L LS 67 (i) . tetfend AEY  (iii)
NG i d LeXSoy () LA ()
IS sed (Vi) Ce bl (vii)
wwuuw&zzim,vgd UL, (%) -u:"”w@w&puﬂ,g_éuu@ (ix)
SOV U nied  (Xii) el VLUt (i)
(24frlj)fr._.->
(2x12 = 24) (s Lot (0-gES Drne b9

U ul:.:_g}:‘}“":,;&wrul Setede 24Uy
-JJLM(J:;/LL(??JJ(J;IU)LTJE :f'/.jdlf
S FF S ML LS i Lol AUy
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Answer Sheet No.
g fienndb LIS L e Ly, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
l l Question Jir A I B c D A I B8 | ¢ | o |
1. For...NEXT statement is used to implement: Iteration iSelection iDecision §Collection O O O
Errors due to the wrong use of formula are; Lo iExecution iRun time
2 alled: 9 ; Syntax Errors jLogical Errors iz oo | Errors O O O
Which device can serve as both input and§ . .
3 output device? iPrm'(er iScanner 3Mouse EMomtor | O O O
Computer software are divided into : 5 ! i
types. 12 A i 0 O O O
5. One byte is equal to: 2 bits 4 bits 8 bits 116 bits O O O
6. Input/output devices are also known as: il/O ! IP/OP §IC/OC EIU/OU O O O
7. The number (F)1sis equivalentto (____)1o.|244 1245 246 1247 O O O
8. The output, printed on the paper is called: | Software ‘Softcopy  !Reportcopy iHardcopy 1 O O O
;v:}c:)ﬂwc::vr: :rrt‘gs can come out of which symbol Process Decision ;Terminal ;Input O O O
10. A loop within loop is called: flnﬁnite loop iCompIex loop §Nested loop éSimpIe loop O O O
——2HA-It 2317-4171 —
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COMPUTER STUDIES HSSC-II

Time allowed: 2:15 Hours Total Marks Sections B and C: 40

NOTE: Answer any eight parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 24)

Q.2 Answer any EIGHT parts. The answer to each part should not exceed 3 to 4 lines. (8x3=24)
(i) Write down any three characteristics of hard disk.
(ii) Briefly explain reserve words.

(iii) Convert the following program into WHILE...WEND loop.
10 CLS
20 FOR I=1 to 100 STEP 3
30 IF IMOD 5=0 Then PRINT | 2

40 NEXT |
50 END
(iv) Differentiate between ‘high-level language’ and ‘low-level language'.
(v) Enlist some main types of non-impact printer with one characteristic of each printer.

(viy  Findthe 1; and 25 complements of (10110010)2.

(vii) Wirite any three operations of CU.

(viii)  Describe any three rules for naming variable in BASIC.
(ix) What is the different between 'PROM’ and ‘EPROM’.
(x) Draw a flowchart to find the table of any number.

(xi) Write a short note on use of computer in banks.

SECTION — C (Marks 16)

Note: Attempt any TWO questions. All questions carry equal marks. (2x8=16)

Q.3 a Represents the following message “Bits” using ASCII codes. (If B=66, i=105, t=110 and s=115 then

display in binary codes).

b. Compare flowchart and algorithm.
Q.4 a Describe the working of CLEAR command and DELETE command in BASIC.
b. Explain the operators precedence order.

Q.5 Whatis a software? Describe different types of software with suitable examples.

— 2HA-I 2317 —
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- Answer Sheet No.
G fmeni LS L 2Ly, Invigilator Sign.
n Fill the relevant bubble against each question according to curriculum: Candidate Sign.
A Question A | B | ¢ b ia[mBlc]|oD]
- . iMore than §Only one iDifferent éNo value at
B 1. Aconstant can assume: rone value ivalue ivalues aall ; O O O
L i z z ; s
. 2. Issuing a new N.I.C is an example of: gRegistration ESampIing ;Census iFictitious data O O O
g 3 Dataobtained by internet sources are: iRaw data éPrivate data égzéondary iPrimary data : O O O
. 4, A pie diagram is represented by a: gRectangle ;Square ;Triangle iCircIe O O Q
- s In symmetrical distribution mean, medianiE ua‘I EDifferent iNe ative iZero O O O
- * and mode are always: 1=d E {Neg ! :
] if mean of 10 observations is 20, thén their! i 5 -

) 6 sum will be equal to: 520 5200 52 50'5 ; O O O
B 7 fy-—75-25xand X=3then =7 {150 {25 150 0 O O O
= ‘: : : E !

_ Base year weighted index number is alsoi . - ;Paasche’s §Marshall’s ELaspeyre’s )

. 8. known as: :Flshers lndeX:index lindex tindex ' O O O
o E . E EMore than

- 9. Index for base period is: :One 'Fix 1100 100 O O O

- 10 When three dice are rolled then total numberé6 12 18 5216 O O O

- " of possible outcomes will be: E ; i ‘

. ——2HA-11 2318-4181 —
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Time allowed: 2:15 Hours

| Y
BUSINESS STATISTICS HSSC-II

Total Marks Sections B and C: 40

NOTE: Answer any eight parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 24)

Q.2 Attempt any EIGHT parts. The answer to each part should not exceed 3 to 4 lines. { 8 x3=24)
(i) Differentiate between descriptive and inferential statistics.
(i) Name any three sources of primary data.
(iii) Find the class boundaries, midpoint, and width for each class.
(a) 293 — 353 (b). 11.8-14.7 (c) 3.13-3.93
(iv) What is a pie-chart?
(v) Arithmetic mean of 20 values is 25, By adding 4 more values the mean becomes 30. Find the four
values if the ratio between these values is 1:2:3:4.
(vi) The logarithms of 3.values of X are 1.7076,1.6812, and 1.6532 . Find the mean of x values.
(vii) If 1=28,1, =25, /=20, f,=18and »=7. Compute mode.
(vii)  Given X (X -10)=238, n=>5, Calculate arithmetic mean.
(ix) Given that £p,g, =1430, Zpq, =1760, Zpgq, = 2110, and X pyg, =1715. Find Fisher’s ideal Price Index.
(x) Given p,=5,4,3and ¢,=70,75,80. Find *w
{xi) Solve the following: a. °P, b. B¢,
SECTION — C (Marks 16)
Note: Attempt any TWO questions. All questions carry equal marks. (2x8=16)
Q.3 Calculate Mean, Median and Mode from the following distribution: (08)
Classes 0-20 20 -40 40-60 | 60-80
Frequency 20 30 40 10
Q.4  Construct Fisher's Price Index number for 2002 using 2001 as base. (08)
2001 2002
Items Price Quantity Price Quantity
A 64 270 75 290
B 40 124 45 144
C 18 130 21 137
D 58 185 68 200
Q.5 Ifadieis rolled one time, find these probabilities. (08)

()

(ii)
(i)
(iv)

Of getting a 4

Of getting a number less than 7

Of getting a number greater than 3 or an odd number
Of getting a number greater than 3 and an odd number

— 2HA-11 2318 ——
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Answer Sheet No.
Y fieendo LS L sz Ly, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
| Question . A | B | ¢ | Db iA]lB]c] D]
' Benazir 1 Zulfikar Ali
Simla accord took place during the rule of: :Yahya Khan :Bhutto : Bhutto 1ZiaulHaq !
1. * 1 N ' t )
WIS P ar L Moo | bl ey EAy-H ol 5 © 0 O O
Pakistan recognized Bangladesh in: 11975AD  (1974AD  [1972AD  (1973AD |
2. : : : S :
vggquJﬂuﬁ,Luu@;pms #1974 #1972 141973 : O O O O
The 1973 constitution of Pakistan was§23rd March §12‘h April §10lh April ;14"‘ August
enforced in the country on: 11973 11973 11973 11973 :
3- . 1 ' 1 1l
Sk S UL 19TINIL 419738423 L19msdgiz mdgio L19seSiis o O O O
Who adopted the policy of nationalization of: Zulfikar Ali | ‘Muhammad |Benazir :
" industries? . i Bhutto ‘Nawaz Sharif {Khan Janejo !Bhutto :
4, ' , v T R :
: AP S ST a2 L 2ol £ # ey 5 © 0 O O
MRD was formed in: 11981 AD  1082AD  i1983AD  11984AD |
5. ' ‘ ' : :
?G’J(’GJMRD:J:MM 11Ut 1982 1U51983 1Use1984 : O O O O
On 10" of April 1988 Ojhari camp incident!
took place in: Karachi Lahore ‘Multan 'Rawalpindi !
6. : 1 ] t 1 1
T S A2 1988t 41101 51 Lol e’ 20 i © 0 O 0O
During Zia-ul-Haq government, collection of; 3
“Usher” was started in: : ; : : :
7. ’ 11980 11981 11982 11983 '
st T TH s /u:yﬁ,m[_o”:gg ! 5 5 5 O O O O
Which year did Russia attack Afghanistan? {1976 AD  1979AD  (1980AD  {1983AD |
8. i ' i H H
WAL 101976 141979 1,1980 1,1983 ; O O O O
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| | Question i A i B i ¢ + b +tA|lB]|]c|D|

Federal Ombudsman office was created§ §Benazir iPervez

during the government of: iZia-ul-Hag  Nawaz Sharif | Bhutto 1Musharaf ‘

9. W ! ! ! . N 1
WUFS L o L sat 6§65 Fins o s s ) : © O O O

: ‘Mian E : :

i iMuhammad :Habibullah  :Mian Raza
10. The first chairman of the senate was: iWasim Sajjad gSoomro gKhan iBabbani O O O O

t& Lt RE L e s bprdoe L b HOLAs Ul :

Geneva accord was signed on Afghan issuei

in: 11988 AD 11987 AD 11986 AD 11989 AD :

11. H h i ; H
i s e st ® L 41988 121987 1+1986 121989 : O O O O

Benazir Bhutto became Prime Minister for! ; ; ;
12, the second time in: . E 1892 AD ; 1993 AD 1994 AD E 1995 AD 5 O O O O

S i 2 ¥ B 1992 11993 11994 11995 :

Which year was Farooq Ahmad Khan . ; ; ; ;

Laghari elected as the President of ! ! ' ! !

Pakistan? 11993 AD 11988 AD 11990 AD 11997 AD i

13. : : : . :
qaﬂjuu@mdwfwwuwujm #1993 1+1988 141990 141997 ; O O O O

) ; 5 i Muhammad :

Who came to power after the General : Muhammad :Benazir ' Nawaz ; Malik Miraj
14, Elections of 1997? + Khan Junejo Bhu'tto Sharif ' Khatid O O O O

$0 16 B AL I L1997 | 2o # ey TN PV S T

After the downfali of Russia started

to establish, ‘The New World Order’. 1 India i China America :Canada '

15. ' : . . . .
__b(fﬁ'zfzfﬂijL L E Lo E 53 i .{/l E l,_i;':f E O O O O

E.C.O was established in: {1982 AD  i1983AD  i1984AD  |1985AD |

16. . : : ; ' :
© 26 AE.C.ON-A-5-1 141982 1,1983 1+1984 :»1985 : © O O O

Kargil war was started between Pakistan ! i E ; ;

and on Kashmir issue.  China ' Afghanistan i lIran : India i

O o : : : ;
FSIuenl ,,:uu@,aJJJr/,/y Y1 » s Ll R P . O O O O

The second Islamic summit conference was

held in: 11971 AD 11972 AD 11973 AD 11974 AD )

18. H H : : )
b S PRSI S s 1 41971 151972 151973 151974 : o O O O

Pakistan was declared the 7" Atomic ! 1% January :15%March 28" May 130" August !

Power on: 11998 11998 11998 11998 ;

19. s : : : : !
St/ S A | 11998524 119985415 £1998(5728 1+1998=S30 ! O o O O

;Benazir iNawaz ?Pervez Rafig Ahmad

Who introduced ‘Devolution of Power’ plan? : Bhutto ' Sharif i Musharraf | Tarar :

20. L ! N : 5 :
?kl;/J/wL‘f,)‘?ﬁ}M\.fgdiJobﬁl ! :“’[.”'L. ! J//l) Sy 73 Vb H O O O O
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Time allowed: 2:35 Hours

HISTORY OF PAKISTAN HSSC-II

Total Marks Sections B and C: 80

NOTE: Answer any ten parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 50)

Q.2 Answer any TEN parts. The answer to each part should not exceed 5 to 7 lines. {10 x 5 = 50)

0] Write a brief note on Hammod-ur-Rehman Commission.

(i) Write any five features of the 1973 constitution of Pakistan.
(iii) Write a short note on Simla Agreement. '

(iv) Briefly comment on the 2™ Islamic Summit conference.

(V) When and where did Ojhri Camp incident take place? Discuss briefly.

(vi) Give a brief introduction of Nizam-i-Mustafa movement. .

(vii) Briefly discuss the non-party elections of 1985.

(viii)  Why was the Junejo Government dissolved? Write briefly.

(ix) Write a short note on Bahawalpur incident.

x) How did Pakistan become atomic power? Give a brief description.

(xi) Write a short note on Pakistan’s participation in Global war on terror.

(xiiy  Briefly write about India-Pakistan Agra talks.

(xiii)  Have a brief view of Pakistan-China cooperation.

SECTION — C (Marks 30)

Note: Attempt any THREE questions. All questions carry equal marks. (3 x 10 =30)

Q.3  Write a detailed description of Zia-ul-Haqg's Islamization process.

Q.4 Give a review of any two Governments of Nawaz Sharif.

Q.5 Explain the basic principles of Pakistan’s foreign policy.

Q.6  Why is the resolution of the Kashmir issue important? Write in detail.

(500 Sf e

(10x5 = 50) e A28 LUs ,lv;-.,w_i‘g&tzv( 10)selfctdsomrr Ay
S F et b $IGomee T (i) S Fed B e (i)
PSS s (V) | L 1F A W (i)
L G 6L (Vi) AT RO S Az (V)
I A IS bl e f ir (Vi) g A 1T S L1985 (Vi)
oA LSl (X) S F eI B e (i)

S egt B S i Sin Tesu| (xii) -u:”’.ﬁ,;/"f'/,og,f“u:_wwusu,fa,(!w@ (xi)

(3x10 = 30)

-t R (xiii)
GorA Yy e
(b LushredE S Jrcf P!
e .;Ltﬁng.[.(u/tgui L(}Jlfgz Ay
_EaSberF inine (L3 235 oAy
BV YA ALt B - e
-u.‘."g e Y fud S, S Ay
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Time allowed: 25 Minutes
Section - A is compulsory. All parts of this ® 6 & 6 ® 6 & ® 6 ®
section are to be answered on thi§ page and
e Beletingloverwriting i nof atlowed. ® ® ® © ® ® ® ® ® 6
Do not use lead pencil.
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Answer Sheet No.

S fmenib LHESL e LUy, Invigilator Sign.

Fill the relevant bubble against each question according to curriculum: - Candidate Sign.

T T T

| |Question Jir | A ; B : c D A l B | ¢ l D ]
‘Marwan Bin !Yazeed Bin zHazraF Am;ers :
,  Whowas the first Caliph of Umayyads? ~ :Hakam ‘Muawiya :Muawiya () tAbdut Malik O O O O
W f 2otgk s} P e e PPN (W
Who introduced the diacritical marks on Holyg'b‘mee_r it iMarwan Bin iHajjaj Bin
Quran? ‘Muawiya (42) | Hakam ‘Muawiya Il !Yousaf :
] 2. i : v : O O O O
S0 APl on P ey O sboe LBl :
| : > | | i |
- 3. How many years did Umayyads rule ? :80 years :90 years :100 years :110 years : O O O O
n tfer P i o5 80 1 Juso 1Jb100 Ju110 :
a The name of second wife of Mahdi was: gKh'c?lzran iZubalda éMaraJaI gBoran O O O O
] WS 28 nbar iU oy WSy o :
Halaku Khan was: iTurk iMangoI !Irani 'Khorasani
5. . ] ] . 1 . t
n Wy S UE v ey © o0 O O
] iMusa Bin §Qutaiba Bin gMuhammad EHajjaj Bin
. 6. Whose slave was Tariq Bin Zly-ad. ) EN‘a3|r EMushn~1 sBln Qasim EYousaf O O O O
- G IO | £ S T rod g ;
7 Count Julian was the governor of: EGr:.:\nada ECeuta ECo;dova EToIedo 5 O O O O
) WSV st s/ P Y Lab :
. In which year was the battle of Marj Rahit: : . :
, fought? 1680 AD 1682 AD 1684 AD 1686 AD :
o ?Jdﬂdv‘/.EéJy/z-,/ipeso » §»682 §»684 §r686 o O O O
Page 1 of 2 |
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O

| | Question o A | B | ¢ b AalBBl]c] D]
Who became the Caliph after the death oflg
14-117 : ' { Il ' _ vHi '
9. Walid-|17 ' ;lbrahlm :Muhammad :Yazeed I :Hlsham : O O O O
St 56 ot a1 i £ Herax et ;
Who was the in charge of Abbassids! 5 : : i
i ? ' i H h i i )
10. movement in Khorasan? :Abu Muslim :Abu Salma :l\'/I-L:khtar Sadfi ; Ibrahim : O O O O
LA IS Pt e ey A ;
Diwan-ul-Jind was the department of: EPostage ERevenue EMilitary EBa\i't-(.n-l\ﬂaal i
11. : H H 1 .
Sl S &S gt S 3% HE Yo o O O O
The workers of Abbassid movement were! : ; E
12, called: ) EDaal Effl(?al iNa?qeeb ENazm ! O O O O
e LW KELF SV o | e !
" Muhammad !
What was the real name of Imam Nafs -e- | Bin i lbrahim bin : MusaBin ! Abdullah !
13, Zakiya? . i Abdullah i Abdullah i Jaffar i Bin Hassan O O O O
W LS g d Ddgma L PRy N2 VA
Fazal Fazal Bin Fazal Bin Fazal Bin
Zul-Riasatain was the title of: . Barmki : Rabbi 1 Sehal i Abdullah ,
14, , : 3 : 4 ! B v 3 :
W IS U S L Bar” VS -0 ! © 0 O 0O
In which year was the battle of zaab
2 ' ' 1 1 ¢
15, fought? i 711 AD 5 732 AD E750 AD E679 AD ! O O O O
S S A1 b 732 L4750 L4679 ;
Which doctrine was officially favoured by
16. Mamun-ur-Rashid? : Mutazilities : Zindigas : Qafamlta : Isimailies : O O O O
?JG’/, /JJK/J;WJL,;/IWL ) -7 vy ey ;
Who was Afsheen Haider during the reign | Turk ! Persian : : E
of Al-Muatasim? ' General ! Musician ! Painter ' Poet :
17. . R : . : : :
Ylﬁufleu:’lwy[.(“’)l ; LaSs { Ol Vs 4 ; O O O O
! Amad-uddin | Walid Bin ! Salah-uddin !
? ' i H ik : i :
18. Who conquered Jerusalem? ) o ;angl : Abdul Malik : Alap Arslan : Ayubi : O O O O
YAV LIV oop aite DL gk Ddggnwe
The house of wisdom (Bait ul Hikmah) was | Haroon { Mamoon | Mutasim ! ;
i i ian? ' : i Bi : ia Bi .
19. established during whose,relgn. : Rasheed : Rasheed ! Bnlla“h : Wafnq Billa : O O O O
WU REm LS e Bie | 2k Lt T DA ;
' E E ‘Ameen-ur- ! :
i i i ? LAl LA '. : im Billah}
20. Which Caliph recruited Turkﬁs army. : Al-Safah : Al.Mansoor :Rasheed :Mutasilm Blllah: O O O O
iAol sk U L LA b ;
——2HA-ll 2321-4211 —
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'Time allowed: 2:35 Hours

ISLAMIC HISTORY HSSC-II
(Option-I)
(UMAYYADS AND ABBASSIDS)

Total Marks Sections B and C: 80

NOTE: Answer any ten parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION ~ B (Marks 50)

Q.2 Answer any TEN parts. The answer to each part should not exceed 5 to 7 lines. (10 x 5 = 50)

()
(ii)
iii)
(iv)
(v)
(vi)
(vii)
~ (viii)
(ix)
(x)
(xi)
(xii)
(xiii)

Note:

Attempt any THREE questions. All questions carry equal marks.

What was the public treasury under Umayyed Caliphate?
Who was Wasil Bin Atta?

Write down briefly about Hazrat Amir Muawiya's (%) Policy?
Who were Zhimmis?

What policy was adopted by Hazrat Umar Bin Abdul Aziz (é‘é) for Bannu Hashim?

To which group of people does “Tawabeen” refer? Elaborate.

Who was Mukhtér Saqfi?

Give brief introduction of any two members of Baramakid family.

Why was Baghdad called Brides of the cities (Uroos-ul-Bilad) during the Caliphate of Haroon-ur-
Rasheed?

How was Musa Bin Naseer treated during Suleman Bin Abdul Malik's reign? -

Write a short note on Muatasim Billah as a good administrator.

Write down any two causes of the failure of Abduilah Ibn-e-Zubair (ﬁl”",)_

Briefly introduce “Queen Zubaida”.
SECTION - C (Marks 30)

Q.3  “Amir Muawiya (4%) was the first Muslim king”. Explain.
Q.4  Critically evaluate the policies of Suleman Bin Abdul Malik.

Q.5 Describe the causes of the downfall of Umayyads.

Q.6 Whyis Abu Jaffar Mansoor considered real founder of Abbassid caliphat2? Comment.

Q.7  What were the causes of civil war between Ameen and Mamoon? Why did Mamoon succeed?

(10x5 = 50)

(50/ﬁ"‘z J’)F»J

(3 x 10 = 30)

23

.u‘J SR8 FUs )’ulrc_él,&lil“ O)J)LJJ( e LLisinrr /Jlr

Wl S (i) WK es i (i)

&yl (iv) SIS f Y B e o (i)

St pu Sl ety (Vi) vJL‘,,;u':’yutg__,/géﬂkLz AdEe (V)
eSS e (T ST uiie (Vi) wwuldP e (vi)

?{VJJfgfuﬁ..—iu&,wLﬂw@uu}ivéﬁjwu’r (x) ?la?t’kb;(u,f.'/“nk‘lu’;/”f)lﬁfufwﬁu:xw;}é (ix)

(3x10 = 30)

S e $IL S S pihr e (Xi) L B P (x)

2 Sk b (xiii)
30~ f )(4 ¥
9,777 4 ﬁuﬂlrrﬂ-:{‘f JrefedhH

Sl E i b ” A

LS o S o i A
LA LI sz, 0 1y
A b UG B L 2 VA
KU u/wé_,wggif;uuwLuru,nu:r )y
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Answer Sheet No.
I fimemndb LS L2 Ly, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
| | Question oo, A | B | ¢ { D0 aAalBB]c]| o]
E ‘Hazrat Khalid ! ‘ !
‘Hazrat Abu  iBinWalid  iHazrat Saad iHazratAbu
1. Amir Muawiya (£%) was the son of: iBakr (45 i(%) §(£¢’f'¢) {Suffiyan (58) ' O O O O
0L L o 1 St Wy R e, 2 5
Who was the mother of Hazrat Abudullah BingHazrat Asma gHazrat iHazrat éHazrat
ir (48)? (s 'Fatima (4) Zai i) #) |
5 Zubair (48)? ) :(w-) :bFatlma (%) :bZamab (%) :}:ulsoom (%) : O O O O
s whnS it e P e 2 VA o zie P e o 5
: : : ‘Umer Bin :
Haijaj Bin Yousaf attacked Makkah during:Abdul Mallk {Waleed Bin |Sulaiman Bin {A00UI AZiZ
3. the rule of: !Bin Marwan Abdul Malik  Abdul Malik : (%%) O O O O
WEmLS I oyt podiyy  (Mud i lwuad el
‘Marwan Bin |Abdul Malik {Waleed Bin |
4. Who became the caliph after Yazid I? 1Yazid Il 1Hakam iBin Marwan Abdul Malik O O O O
St o L atar ) By Py TSIV VYA (Ve P TR
Hazrat Abdullah Bin Zubair (£3) wasi éAbu Muslim iSulaiman Bin :Haijaj Bin
martyred by: Yazid | ‘Khurasani  iAbdul Malik :Yousaf '
5. . : L : : :
st UL it e 2 sy R Mgl etk : © 0 O O
‘Umer Bin
:Abdul Malik | Waleed Bin | Sulaimen Bin [APdUl AZiz
6. Istamic coin was issued during the reign of: |Bin Marwan :Abdul Malik :Abdul Malik i(éi'é) : O O O O
' U m LS AELGIA s pri iy s R Y
Marwan Bin Waleed Bin Abdul Malik (~™
7 Spain was conquered during the reign of.  :Hakam 'Abdul Malik !Bin Marwan ;Muawiya ) ' O O O O
St mL S S ; r‘ sy L Mt s S e L ;
: §Umer Bin
yAmir ' : : \Abdui Aziz |
. _ ‘ EM iva (45 o EWaleed Bl.n o
g. Tibrah was banned during the rule of: ;Muawiya ( ") ! Yazid | {Abdul Malik  : (%%) O O O O
?JJlbufwégfldkg/,_,' i;;;lr‘ﬁ'l EJ;I&Z iﬂ:yag, E/_/‘JUJ‘/}? E
Page10f2 |
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| | Question . A 1 B | ¢ i b Al B]c]obp]
9. Hajjaj Bin Yousaf was the governor of: ilran glraq gPalgstme iBukhara O O O O
3% g 101 e b :
When did Battle of Zaab take place? 1750 AD 1751 AD 1752 AD 1753 AD E
10. . . ) ; :
TS 14750 14751 15752 1,753 ! O O O O
:Marwan Bin | : :
i ? i i i i i :
11, Who was the last caliph of Banu Umayya? :Hakam :Ya2|d i :Ya2|d in :Man/van It : O O O O
Wl by AT {_,r;r.;/ i ;duy_ ;:Jtu_-/_ ;deuu s ;
Muslim ruled Spain for almost
years. ; i : : :
12. . 1600 1700 1800 1900 |
L f LA s g i ; E E O O O O
{HajjajBin  {MusaBin | Abdul Malik :Waleed Bin |
13. Tariq Bin Ziad was the slave of: Yousaf N:?\su Bin Marwan Abdul Malik O O O O
Lrwy WIS I | e p B Ll Lo ol s !
Abdur Rehman al Dakhil was the grandson Hisham Bin  Waleed Bin ¢
14, of: ‘ EAbdul Malik EMarwan :'.YaZId ! EAbduI Malik 5 O O O O
8 Ly LS P I L Bgaete Loy L Qtax P Mt
Abdur Rehman al Dakhil was given the title : Haroon ur ~ : Amir ur ' Mamoon ur ! E
1s. of Saqr-e-Quraish by: N . 5 Rasheed ! Rasheed : Rasheed EAthunsur .: O O O O
i R S LLS Iat E,«;)luuy L4 E,g)vurl. Pl
The Battle of Ditch (Al-Khandaq) was
fought in: 1935 AD 1937 AD 1939 AD 1941 AD '
16. ‘ i ) 1 ,
Jsrs 05k 14935 4937 ! 4939 ' ,941 ; © o0 O O
The battle of Tolose was fought in: 11211AD  !1212AD  1213AD  :1214AD
17. ' ' 1 ll 1
NN AL 121 L1212 ',1213 11214 ; O O O O
(Abdur | | | |
iRehmanal | 1 Yousaf Bin Abdur :
18, Queen Taroob was the wife ot: D.akhil Hisham i sTafhfeen i.?ehman It O O O O
NP VY R R (W I JER Y Y DR R W :
19, Rule of Banu Na,sr in Granada lasted {ill: . 1491 AD 1492 AD 1493 AD 1494 AD O O O O
~Uuf G E e BB F 1491 ! 1492 ! #1493 ‘41494 :
i Hajab al E ' Abdur ; E
2. The city of Madinah-tul-Zahra was built by: Mz?msur 5 Suliman ERehman Hl EHnsham O O O O
s LS B P | ol s e ;
—2HA-Il 2322-4225 —
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Time aliowed: 2:35 Hours

ISLAMIC HISTORY HSSC-II
(Option-li)

(UMAYYADS AND MUSLIMS IN SPAIN)
Total Marks Sections B and C

: 80

NOTE: Answer any ten parts from Section ‘B’ and any three questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

Q.2 Answer any TEN parts. The answer to each part should not exceed 5 to 7 lines.

0)
(i)
(i)
(iv)
v)
(vi)
(vil)
(vili)
(ix)
(x)
(xi)
(xii)

(il

Note:

SECTION — B (Marks 50)

Write a short note on Diwan-ul-Burid.

Describe the background of Hajjaj Bin Yousaf's attack on Makkah.
Who was Hijr Bin Adi?

Write a note on the construction of Jamia Masjid Damascus.

How were the generals of Walid treated by Sulaiman Bin Abdul Malik?

Why Hazrat Umer Bin Abdul Aziz (4%) is called the fifth pious caliph?

What was the matter of Bagh-e-Fidaq?
Write any two reasons of the success of Abbasid Movement.
Who were Muwahideen?
Briefly introduce Haijib al Mansur.
Briefly evaluate the library of Corodoba during Caliph Al-Hakam's government.
Narrate the importance of Battle of Musarah in the history of Spain. ‘
Who was Ibn Rushd? |
SECTION - C (Marks 30)

Attempt any THREE questions. All questions carry equal marks. (3x10

Q.3  Why is Abdul Malik Bin Marwan's reign called the golden period of Umayyads?

Q.4  Write a comprehensive note on the conquest of Sindh by Muhammad Bin Qasim.
Q.5 Who were Murabiteen? What effect did their movement had on the history of Muslim Spain?
Q.6 Abdul Rehman al Nasir was one of the greatest rulers of Spain. Comment.

Q.7  Write the causes of downfall of Umayyads in Spain.

(50~ f)f”,_«"

- (10 x 5 = 50)

= 30)

(10x5 = 50) L st s probee B LAZN0 el bl gine it AU
e A S gt (i) G Fed A o ()
G Fed BT (V) c&gfswgf (i)
Ce bl UL U W At e 2 (Vi) WISV ALK 2L i Mg (V)
Sz SIS LAY (vill) Wb SOl (vii)
e S (X) c& o fwty  (iX)
S et B LGS (xi) Bt A G TL ) S Pl Bl (X)
Sl (xiil)
Go~AS)fr—e
(3x10 = 30) (a2 LB S vk < 35

S b U ¥t 5at St p S lha
SN P A 19

L peii S ad” L LS E ulut,
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n Answer Sheet No.
g . _ o .
S phmemnlb LIS L sar Lr, Invigilator Sign.
| Fill the relevant bubble against each question according to curricutum: Candidate Sign.
. IQuestion J’ri A I B ' c D §A|BIC]D|
N Abu Isa Muhammad Bin-Isa (4%) is theiSunantbn  SunanAbu iSunan Al | Jami At
. Compiler of: :Majah Dawood :Nasai 'Tirmidhi ; O O O O
n I LS RO 5 S ;uwu/ i 1A
The copy of Quran Pak that was compiled i |n, . ! '
. Siddiqui Era was kept by which wife of the' ‘Hazrat Hafsa | H:d'zrat Aisha iHazrat Umme! Hazrat 5
m: Holy Prophet (%) (ol (33)7 () :(fe’i'ﬁ) ESalma (%) Zamab Gty O O O O
S ufife BEES G o ;Jiﬂftul/uftfﬂﬂ'wu/’ 1N e 2 ,V«M/’
B WL P a |
B Whatis meant by “u.?
3. EJJ,JI i A L O O O O
[} Se e “aad! : : ; ;
[ ] By which title is Hazrat Jibrael (@3'5):
mentioned in Surah Al Bagarah? v : : :
4. s Vs WA :cf’)lbu N
n SV IS ,um:.,,ww.‘f s e e 0 0 0 O
I What is the name of the famous compilation- gKit ab-al-
g, ofmam Malik (¥7)? { Jami | Aathaar 'Kitab al Umm :Mota 5 O O O O
vc_uf(w_us-//&m(u i | e b '
N ; : Z E E
. H " U B i g : g g
What is called "Noor” in Hadith? : : " ' '
6. ' : ) : '
» PRI /:ZL/J:..‘J;.»E(,}:/)(}‘ J G 5:,’; ‘ & 5 ©c O O O
] s § i ; i
What is meant by “~ix" ? : ! : : !
7. ! 5 6 7 '
- Tc‘—ﬂ/gc.“/:“” E E E 5 : O O O O
Whose right comes first in the rights ofi ;
servants? 1Neighbours Parents : Children 'Relatives ;
S (5 TS PAITP | s o Ay ot A E © 0 O O
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: Straight

: Path

| | auestion o. A | B | 6 | o ialBlc]ob]
; : : iImam Ahmad !
Which Imam proposed the solution of theélmar_n Ab‘," glm‘am Malik ilm‘am Jafar Ib" Hunbal :
9. futuristic issues/problems? Hanifa ($%) () | (%557) () O O O O
s LS B iy lieu Vealdl YU ;
: nisam? | | i  Just |
10. What is the standard of honor in Islam? :Wealth :Fame :Pl?ty :JUstlce : O O O O
Se Wil Lottt In ey N 1Ja E
Choose the correct meaning by filing relevant bubble. /2 3L/ 3§ sl 8/ £
, 'The warner EHumiIiating !Great ' Painful :
11. 9 EA + ' ] ‘ 1
'J UL e v iy LS : O O O O
' @ | e
5 5 Hundred gThousand | thousand 3
12, iz Jn’ﬂ EOne year years iyears years ; O O O O
‘ E dl/..‘_(l E Jor E dl//l/'; E Jl//l/';u E
P EDone EBe EIt becomes EWill be done 5
13, 2 1 , : : H
& W Lot g bl LAY : O O O O
¢ E World 5 Home E Roof : Door :
14. H i ) , .
7l e ' S Lo oo : 0O O O O
< 5 The knower : The seer The doer ' The listener 5
15, foad : : : : :
2l P il vl S Y- ‘ O O O O
4. ! Rebellion EThohghtfuI ! Color iAppearance
16. ZG.p ' iy : : :
id E =l ! }"// ! £ i od ' O O O O
z ! You know ! He knows You do He does
17. 2223 ' ) ' ' H
o L nzf. ! e Dlews L nZ Jp bt ; © O O O

Left

18. :"’n. 3 H i '
- : rJ oy LUt 2y O O O
. Day Night Light Darkness
19. 58 . . . . :
(’/LGJ‘ E o E o) E d’hu ; |2 & E O O O O
' | Calf {Animals | Human being | Birds '
20. &5« . : : : .
s caf  meemmanbmise 10 O O O
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ISLAMIC STUDIES HSSC-II

Time allowed: 2:35 Hours Total iMarks Sections B and C: 80

NOTE: Sections ‘B’ and ‘C' comprise pages 1-2. Answer any twenty parts from Section ‘B’ and all the
questions from Section ‘C’ on the separately provided answer boolt. Write your answers neatly and
legibly.

: SECTION ~ B (Marks 40)
Q.2  Write brief answers to any TWENTY of the following questions: (20x2=40)

) What was the relation between Hazrat Yagoob (i) and Hazrat lorahim (i#)?
(ii) In which Hijri year did Abu Al Aswad put diacritical marks to the Holy Quran?

(iii) What was the cause of the Jews enmity with Hazrat Jibrael (%&81)?

(iv) What miracles were given to Hazrat Musa (§&)?

v) Which battle was fought against Musaylima Kazzab in Siddiqui Era? How many Huffaz were martyred in
it?

{vi) What was the special purpose of the descent of two angels in Babylon?
(vii)  Whatis meant by “sa=’’ ?

(viiy ~ Why is Hazrat Isa (8£8) called Isa bin Maryam?

(ix)  Whatis meant by “z sudaspls”?

(x) What Prayer did Hazrat Ibrahim () ask regarding the senhding of the Holy Prophet (%) (Caadl 23)?

(xi) What was the old name of Masjid Qiblatayn?
(xii) Why is preaching religion important?

(xii)  What was the full name of Imam Abu Hanifa (%i%)?

(xiv)  What is meant by “ca.Jisl s 2

(xv) Which word is used for ‘neighbour’ in Arabic language?

(xvi)  Against which tribulation did Imam Ahmed Ibn Hanbal (£%) fight?
~ (xvii)  Briefly explain the difference between *“ Y5 and “g 255"

(xviii) Which two disciples of Imam Abu Hanifa (4% ) are called ‘wpole’ ?
(xix) . According to the hadith, how much reward is given for doing a gocd deed?

(xx)  In which year Imam Malik (%) passed away? What was his age at the time of his death?

(xxi)  Write four forms of charity in the light of Hadith.
(xxii)  State any two duties of a student.

(xxiiiy  What is meant by ‘va;’ ?

(401-# Ffp—s

(20x2 = 40) (Z i fn La7(20) L el tizrer ¥ A
b P S S A S Ly (i) WAL LR 2o ae 2 (i)
L L perf el f5rep (V) LIRS P T N SR (1))
e rat (15 SN AT B S S Lt S Gao e (V)
Sl pen ' (vii) W S LU put L (Vi)
St e EE () Sl a5t e e (Vi)
BEi ¢ (x) e lir L P e (X)
YLK el (ilT) S $nfudenl (i)
Sty S pd Lo s (xv) Cesl el (XiV)
OO A eSS (xvii) Wil L E S apu (xvi)
P CaEK S (BT L (XiX) Sutst s ene o E e (xviil)
St G e (X)) (E VAL s,onJvJ =l Sl (xx)
Sest pY e ses (XXiil) P e $1 LT (xxil)

Page 1 of 2 (Isl. Studies)



Section C (Marks 40) ' (40~ f )f ¥
(Note: Attempt all the questions) . é{ dp d’ » ra: )
D2 lctr L s £ el ecAT g AUy
Q.3 Read the following verses and answer the questions given at the end:
238, 38 ..‘.r’c”’z W Msw'n
W, R T B 5 G S G
() Translate the above verse idiomatically. (3) S 2\ TG ()
(i) Who are addressed in the verse? _ (2 et b L (ii)
(i)~ Whatis the right of recitation? (2) seeard (i)
(OR) ®
Vo ¢ Crysiienl o s Ay 'y
[ama ad.e I8 ;ﬁdl )CM o5
(i) Translate the above verse idiomatically. (3) DAy P AL 0)
(i) What is desire of the Holy Prophet (&) (cuall ss) 2 T i P ST
mentioned in the above verse? (2) e LSS (i)
(i) Whichwas the first Qibla of the Muslims? (2) el U s (i)

(4+4=8) . :{.{f]/‘..mx}b’aﬂuc—(ﬁdi,?}ﬂ :"ﬁ;d‘f
Q.4 Translate and explain any TWO of the following Verses:

bw ’)E) u] w?t:; ’4///’1)7311“ uAJ ‘UJ‘)‘L‘ CoA ;;;jbm’u, (l)
OGBSI A b i e ey O
oot BY X LG asags W

(5+5=10) . Ay TR i Py 0y
Q.5 Translate any TWO of the following Ahadith:

bl sgBiie, 0% 0
Bl dsslaa i pal i p iyl (i)
G & 18,0 s e Te ke s (i)

(5+5%1 0) Y94 ) e Sdiois Ay
Q.6 Write notes on any TWO of the following:

(i) Forms of Justice » ol (i)
(ii) Rights of neighbours JOF Lugs (i)
(iif) Principles of Preaching o Ly (i)
(8) F PP h—d’/ﬂ/u("f( P Py )iy

Q.7  Write a short note on any ONE of the following:

(i) Duties of the offsprings (children) Pl D
(i) Life history of Imam Ahmed Ibn hanbal (%) Sisetbl (ag;g)ywj,ru (ii)
(OR) ()
Life history of Imam Jafar Sadiq (%) Siiato L (FIle A2l
— 2HAII 2323 —
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Invigilator Sign. Fill the relevant bubble against each question according to curriculum:
o le [ v 3 - ] | o]
© O O O Je 8 o sl e Dusolonsd iy 1
O O O O ST 134 b Sl oIl dsazldag 2
O O O O 5% 58 esdl 54l s didiosd 3
O O O O e 8 & &, Vo 5
O O O O 8 Ji o bl bl AU S5 S
O O O O CUN S I bl 28, 6
O O O Of & e &4 &l S 7
O O O Of Jgu gl adl Gk SN Y) [} -
o O O O zs(.?' L?)J‘i " sjs _oaidl Aghs 9
O O O O =9 Wl ksl G ol ees 10
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! ! .JVI

oy

o 8 S By eyl

-
N

deosl o —eShodlon  dasadigRBus

.12

il aale o8 1 s s

.13

gl B S kst

o O O O 33d) §ECTI I #N % oS My s =
| ) | i . | WITRT
© o0 O O Pt Bk, Tv\’:aa; Vel :H el aEs 16
: | ! | =
O O O O &l g o e S a7 n
‘ : : : L
o O O O ))-’T )v[J g«;b g’)gb - ?‘Clﬁ.“é_—g}wﬁ@ 1z W
' | n
O O O O ostel sREaaydi seel 5aeasl bl ley Jedadbies)SiGs 19 W

s

=4

EAE J&! elaalis S -

N
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] - (o o ) gl (28

801r)“/;l(;:,2‘a7/f

by

f‘fZMG::ﬁ;

Q.2

(*+)

Q.3

)

Q.4

(\ v ~)

2

clEld v
St & 8osh 1 0, 0 15258 3 30,080 (J aadadd 585 o s 8 g LussT s 5434

(55 st by s34

Translate the'following into Urdu or English:

38 taoY1asd 3] a8 881 555 5553

2 2295 26 .1 P - & e - ié}l 7w - 2 .
B s SRS B ) 5 a0t K3 (ol o) B s 8 e o

: QW sl

.-

PN LSS T R G o PRI 2 A

. 4 2.4 I 42 @ - - .10 B - %297 .
bg}@ﬁbﬁﬁ%@'z( L@J"w“ Lu 3V,Aj9.;guw,o\Wimééﬁﬂlg‘j&j\;&.ﬂ\}fﬁuﬁu\i}

s

35 Ta8o ¥l g o aisbast 559 50 8

Translate one of the following parts into Urdu or English:

ol Ga olad W o= s gl
Dol dday elf w elad
GsaB Jds o ES adls w5 (5

S BE L pluE S JE
s @il dsd ol

4

o
.

Ul st

i)l

(A sl asTaledl ot csllagl sl is

Answer any five of the following questions in Arabic:
Hledksabis ()
Uslaasbsplasirstics )
foHie il sl ()

tShvacdlahlGel g (vii)
Page 1 of 2 (Arabic)

¢ olallésl 2la
¢ales Uleasli sl
Sl 3B o e
tisdoe e dlasleele  (vii)

(i)
(i)
(V)



() ;a8 Jlaillg JLadl o1/ (51
Q.5  Write down the Muzare (Present / Future) of the following verbs:

el W) & (i) &l (i) e

&

(1) (B2l Yo 3] 3
Q.6 Translate any FIVE of the following sentences into Arabic:

(i)  Syed Jammal Ud Din Afghani was preacher of the Islamic Union.

-1 I;L()'lb‘l,)lwl?l&&?lq)!dlzg
(i) 1tell you jokes. Ut WS T
(i)  The war lasted for a year. Sl L
(iv) Islamabad is the capital of Pakistan. _‘h.___,,,,é’ KT T i
(V) I am patient in adversity. st S
(vi) 1 will never betray my country. KunsS P, %z,s&f Y-

(vii) The Arab league is an organization of Arab countries. ‘
-q—'—ff} J,U’Ev/v?-ff
(viii) O Allah, save us from the troubles of time. -gc-.-u,w&;w:"m_[

25 st Fyelal

(4) BoghabAall SEaIY adl o/ 3

Q.7 Re-arrange the following sentences to make a meaningful paragraph:
Y de i BROEIE Y (i) ks (ol ke 3535150
Sotngallll s LAIGBeLElss (V) o JE Baapasisedss
) 30 pddiatgds
(') Bughdl Lad 329 Ll yans Ll o uistsul/ ez

Q.8  Use any five of the following words in your own sentences. |
‘ tﬂ.:'&') ‘ &%2 ‘ gj ‘ ‘“(50(-5)1 0
91 1a

Lﬂb ¢ :’b[::) '
() -@Mgﬁﬂf@‘ﬂiﬂ?ﬁmedlma‘ /51

Q.9  Write an application to the principal for a two day’s sick leave.
(ORYs)
-)U\c@!wimﬂ&gg‘djﬂl@s,ﬁ’ \/ o5

Write a letter to your father to tell him about your success in the exam.

—— 2HA-ll 23256——
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(i)
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(ii)
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(iv)
(v)
(vi)

(vii)
(viii)
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(i)
(i)
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Answer Sheet No.

S feendb LHES L L2 LUy . Invigilator Sign.

Fill the relevant bubble against each question according to curriculum: Candidate Sign.

]Question Jir A ] B c i D A | B l c | b |
The British East India company arrived in: :
India during the reign of: tHumayun iAkbar 1Jahangir iShah Jahan O O O O
APt fmd J{g/‘:iul gl : A A 4 fub‘zali
British newspaper Times of London named:Syed Ameer :Sir Syed ;Alima lqbal .
as the “Prophet of Education”.  :Ali ;Ahmad Khan :Salman Nadvi‘(“ﬁ"*f) : O O O O
wAj LuAST AN e ey e il ;
The central office of All India Muslim Ieague: 5 ‘
was set up at: 'Dhaka iLahore 1 Karachi iAligarh ;
BV Pruask B gk:dn S Lt s WA : o O O O
The first constituent Assembly of Paklstan: The Q”ffj“?' K awaja iLiaquat Ali iMoIvi Tameezi
elected as its first president. 1Azam (%)  iNazim ud Din {Khan Eud Din O O O O
RV VTP Y S Wl oV I A 9 Ry g ey L Z Sy
The number of total articles in thei
constitution of 1956 was: ' ' : ' '
. . 1224 1234 1244 1254 :
4 ASIERT T L1956 E : : : o O O O
: | iCh.
On 8" October 1958 proclaimed: Ghulam : ‘Muhammad !
martial law in Pakistan. :Muhammad iAyub Khan ,Yahyha Khan i Ali : O O O O
mis 7 ,uf/t.u:uw’gﬂwss/.;’ 1817k b o ‘Jifu'/u’ ;
As the result of 1970 elections ' Pakistan ‘Muslim 'Jammat—i- : Awami i
received great success in East Pakistan.  !people’s party:League Hslami :League : O O O O
Jetmtoedd L SELA1L1970 deuet /e | Gt L Juir 5
i s s a j
The institution of was first timeiEIection iNationaI
introduced under the 1973 constitution. 1Commission :Senate 1Assembly 'NAB ; O O O O
WS ol At 1L1073 L i igs Do
Page 1of2 |
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—m(C

| | Question Jre b A B c i D Al B | c|oD
Generally, in any country as compared to 5 i EGovernment .
i id jobs. !E 'Real-estate :Agriculture  Department
9. industry sector provides more jobs :,n-ergy : (fa fes : g : p | O O O O .
_(z//b’/'uugi,gﬁf L)“UfLUﬂLd/‘ilufJL{Lf): dud :;t,.:"lJfl e ;ﬁdﬁ/ ‘
¢t/ ! E i E
In Pakistan the government spends
percent of its GDP on the health sector. i : ' . '
10. . ' 3 4 5 H
ek FJSid, e L geffer s | : : ; ; o 0 O O
A research and training institute for: E : : E
eradication of malaria in Pakistan was: i ; : ;
11, t?stabhshed at: ) ilslamabad iLahore EKarach: iF?IS?labad L O O O O
Fout e3P & LIl AL AT Lanl nos T :
¢! ! : i !
The education system in Pakistan is! :
19, consisted upon — stages. 3 4 5 6 5 O O O O
_lad’//’v_-,lgu . rllu(,d/;(w'%i E 5 E E
To control the behavior of people in the ! E
13, society is called order. EE.:amlly ESoc:|aI EFundamentaI ET’nbaI ! O Q O O
e b WU B Upn Ll Ul foe | a6 g Lo i Jy 5
Protection of fundamental rights of people ! i :
14, INA state is the responsibility of: 5 Legislature 5 Executive : Judiciary 5 NAB 5 O O O O
cdhsaid. EOPGB LUl St 5 T 'K e :
The foundation of the social system of
Islam is: ' Colour : Race » Equality 1 Piety ,
15. : : : e :
< )?thb')(f.l’durl 7 ! JJ vl i ! O O O O
East Pakistan was separated in to
16. become Banglad‘esh. - 1970 AD ! 1971 AD : 1972 AD ! 1973 AD E O O O O
MBS n s L3~ 11970 (41971 141972 141973 !
is very essential for national §Sense of ;Social iTribaI ‘ESociaI
17, integration and cohesion. . ) superiority ::Justlce gsyst/em inequality O O O O .
et LLET AT | oo F UG ALY LG :
Between the friendly relations of Pakistan fMutuaI Indus Basin Kashmir '
i i in hurdle. ‘ ' ‘T ! '
18, and India is @ main hurdle :Trade ;CPEC : reaty :Is‘sue | O O O O
2k o7 g Vel sl e £ gk ol ubfg: =) ;uﬁ(f :Ml’*‘KJU:DAP :/:‘f.lf" ‘
PO | e | |
The second Islamic Summit Conference ; i ;
19, WWas he’Id in at Laho‘rf). f 1969 AD ! 1970 AD ; 1972 AD 5 1974 AD ! O O O O
Qs e s PS4 S 0 E #1969 1 #1970 ; #1972 5 #1974 H
Israel accepted Palestinians right of self-
determination in: 1 1990 AD 11992 AD 11994 AD 11996 AD :
20. s H H i :
-gg%: u,guio’fug‘.*"’i.m/l 1 #1990 11992 1 #1994 1 #1996 : O O O O
——2HA-Il 2326-4261 —
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CIVICS HSSC-II

Time allowed: 2:35 Hours Total Marks Sections B and C: 80

NOTE: Answer any ten parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 50)

Q.2 Answer any TEN parts. The answer to each part should not exceed 3 to 4 lines. (10 x 5 = 50)

()
(ii)
(ii)
(iv)
v)
(vi)
(vii)
(viii)
(ix)
(x)
(i)
(xii)
(xiii)

(xiv)

Note:

Write down the basic aims and objectives of All India Muslim League.
Describe the causes of Khilafat Movement.
Write down the main points of the Government of India Act 1935.
Who dissolved the first constituent Assembly of Pakistan and why?
Briefly describe the six points of Awami League.
Write down the process of amendment in the constitution of 1973.
Wirite down the steps taken by the Government for drug abuse and control.
Write down any five problems faced by the education sector of Pakistan.
What is meant by Social Order?
Write down briefly about the traffic police department in Pakistan.
Explain the role of religion for the promotion of national integration in Pakistan.
What is foreign policy?
Briefly describe the role of China for the development of industrial sector in Pakistan.
What is Geneva Accord?

SECTION — C (Marks 30)

Attempt any TWO questions. All questions carry equal marks. (2x 15 =30)

Q.3  Describe the importance and significance of Pakistan Resolution 1940 for the achievement of Pakistan.
Q.4 Discuss the prevailing situation of social order in Pakistan.
Q.5 Describe the role of Pakistan in Organization of Islamic Conference (OIC).

(50»#0”)(’»._,0

(10x5 = 50) - szt Fus prige E Lan(A0) e e Bl g it Ay
Eermbbg g (i) gL BT ()
W LAt E s () L35 ebipnaTest (i)
S E T L (i) | G B ebg Ly (V)

S by rad e e (vill) MBI LB L Lo SmiF el (Vi)

Mfﬁﬁgjgéﬁé‘ﬁ’g_@}u:uu@ (x) St e rBde (i)

(2x15 = 30)

s dnfPlo (i) ool Lorid LEJLGEGT AL ()
et Q) ol PRS2 LG o (i)
GorA Sy o
e Lu:"rrl?-s’.fd’ Jrned
ez st 519400 1o f L LS ds? Ay
IS ez SPBGrROl  rAy
YL S ST A

— 2HA-lI 2326——
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Answer Sheet No.
= N
G fernib LHESL e LUy, Invigilator Sign.
. Fill the relevant bubble against each question according to curricuium: Candidate Sign.
g
-l lQuestion J | A B I c I D EAIBICID]
| Who introduced education through maktab!
;. and madrassa? i Muslims 1 Jews iChristians ~ :Hindus : O O O
- Y&-{LJKJETKFG 415(.:./;&1.._"; g Ly éLuj_:m éd—uflﬁ.‘ gLUfsh é
. EHazrat Adam guiﬁr:rtnma d §Hazrat Nuh §Hazrat
[l , Human education started with the birth of: i(‘%‘) 3(@) (cpall A3) §(ﬂ£ﬂ) Elbrahim (88) O O O
e Pl RT3 e el i e A2 E
u | P 5 | |
B i i ' Promotion of !
3 The British came to India for the purpose of: 1 Trade i Politics iculture i Tourism ; O O O
] Ted /S SA ek et LA et ;
- Avicena's book Al-Shifa consists of :
; volumes H ; , , H
4, ' . 19 118 116 114 '
= e ik R e (O ; ; ! ; O 0 O
| , | § é § :
- National Book Foundation was established: E ; E E
under the education policy of: ' l : ' :
5. - ot 1972 11959 11947 11970 '
- St S L P S : 5 5 5 © O ©
| Who is known as founder of British§ gLord ,
6 education in sub-continent? iRobert Brown ; Mount Batten : Macaulay :Charles Grant:
e S bt d A ST A2 X b, O O O
‘ U N Y A POV T A7 e U :
B §Sardar
Who announced National education policy:Syed Ghous :Syed Fakhar :Fazal-ur- 1Abdur-Rubb
. 7. 19987 EAIi Shah Elmam iRehman ENishtar ; O O O
WL k19987 T s 4 e L Ay
B : ' : : :
) It was proposed in National Education Policy: i | ' ;
- 1992 that the number of secondary schools! ' ' ' 1
would be increased from 19000 to: ; ; : : ;
8. ! 148487 149487 150487 151487 .
n Sr e 19000 518 § Ui S3E U 1992 5P £ 3 ; ; ; O O O
VLS,
"
|| Page 1 of 2 |
|
|




| | Question oi A B ¢ + b ia]|lB|lc]| D]
What was the number of illiterate people ini
1951 AD in Pakistan? :5 Crore ‘4 Crore :3 Crore 12 Crore !
9. . v : At : :
?J&Clﬂ({;l)lnilfﬁﬂdl‘/@gﬂ»ﬂﬂS/';/ég E};Lk E/'quf EJJ/» E O O O O
; : iProvinciaI E
The head . of Provincial education:Prime : :Education : '
10, department is: ) EMinister gGovernor iMinistfer §Speaker O O O O
Y. 8 .l/,/[.(~"‘7 F Ok i 18 E/}f E(-‘J/,J;dgr‘ el E
The textbook boards are established at: iProvincial ! E E
level. Federal level level i District level Private level
11. o H i ; ' H
wLd iy, bttt 36 A ite” ot ; © O O O
The head of board of intermediate andi
secondary education is: Controller Secretary i President 1Chairman ‘
12. : : : : :
Wiy LA A i ST ) 177 Lo LA ! © O O O
According to British, were
13. responsible for the war of Independence. EHmdus EMusllms ESIkh E(,:hnstlans O O Q O
& b LT Qe Lusz F1 4 sin gl L F Ll !
The Governor of every province is the
of ali the universities established in ! ; ; ; ;
14, It EPresident ERector ;Principal iChanceIIor O
-t Ku;}‘;fg(v“f'ﬁ'gﬂ{_}‘f'/ffé._//z E e 2/‘5 E Jr)4 E )){g E O O O
15, Jamia Mustansria wlas,establlshed ln:- 11233 ‘4243 11253 11263 ; O O O O
dnfor_ | | | s
: : : Mulana : :
Muhammad : Sir Syed
i Syed Ahmad { ShahWali  : Qsim i Ahmad ;
16.  Who established Dar-ul-Aloom Deoband? : Shaheed i Allah i Nanotewi i Khan ; O O O O
WEE LS s | ad iy sl 2 T Y ;
President Zia-ul-Haq took the charge of ‘
government in: . ' ' H '
17. 11976 11977 11978 11979 ,
t e S & Fissae | : - O O O O
What is the ratio of dropout at primary level
in Pakistan? ' ! : ' '
18. o ) L 40% 1 45% : 50% ' 55% :
-+ NI AP IR ; ; ; ; o O O O
The annual population growth rate of :
i is 119 1219 H o, 1 20 :
19, Pakistan is: : 1 /o :2.‘1 % : 1.5% :3 'o | O O O O
e bl A LGS | s ‘2.1 LS L sl ;
: The Quaid- | ; 5
Wh . , ' e-Azam o oo ; ;
o chaired educational conference 1947 |~ ' Liaquat Ali | \Ch. Rehmat
20. AD? | (3) | Khan iAyub Khan Al O O O O
WL s §19a1S P s Doy b i Fermyg

—2HA-li 2327-4271 ——
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Time allowed: 2:35 Hours

EDUCATION HSSC-II

Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B (a)’, one part from Section ‘B (b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Write your answers neatly and legibly.
SECTION - B (Marks 50) '
Q.2 a Answer any FIFTEEN parts. The answer to each part shouid not exceed 3 to 5 lines.
(15 x 3 = 45)
(i) What is meant by Suffa (~a)?
(i) According to Ibn-e-Khaldun (asals ¢l), what are the highest human values?
(iif) What recommendations were made regarding Textbook Board in educational commission 19597
(iv) State the purpose of setting up the University Grants Commission.
(V) What was the curriculum for higher education during Muslim reign in sub-continent?
(vi) Wirite a short note on Benting Resolution.
(vii) Briefly explain the standard of education.
(viiiy  Write down any three objectives of education given by Avicenna (Vs o).
(ix) Which steps can be taken to control dropout from school? Give an example.
(x) What did Sir William Hunter write about Indian Muslims?
(xi) Briefly explain Investment in education.
(xii) Write any three functions of technical education board.
(xiii)  Briefly explain the process of staff development.
(xiv)  How does poverty affect literacy? Describe in your words.
(xv) Describe the role of Aligarh movement in the promotion of Urdu language.
(xvi)  Describe the objective of establishment of peoples open university.
(xvii)  Describe educational meanings of the ideology of Pakistan.
(xviii)  Why did Sir Syed Ahmad Khan establish Aligarh institute Gazette?
(xix)  Write a short note on monitorial system.
(xx) What was the objective of educational policy of Charles Grant?
(xxiy  Write down any three causes of lack of women education in Pakistan.
b. Attempt any ONE part. (1x5=5)
(i) Explain the characteristics of Dars-i-Nazami.
(ii) Describe the functions of provincial bureau of curriculum.
A SECTION — C (Marks 30)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x10 = 30)
Q.3  Write the recommendations of National Education Policy 1979 in detail.
Q.4  Elaborate the effects of Ali Garh movement in detail.
Q.5 lllustrate educational concepts and objectives of education, according to Imam Ghazali in your own words.
Q.6  What is meant by literacy? Describe the causes of illiteracy in Pakistan.
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Answer Sheet No.
. - - -
e LS Ly e LYy, Invigilator Sign.
u Fill the relevant bubble against each question according to curriculum: Candidate Sign.
.I lQuestion dlri A B C D A I B l c I D ’
B The columns of Cordoba Masjid are builti i :
with recycled ancient columns. 'Persian i Greek 1Roman i Gothic :
L e e : L '
| L e il wFLb) By tgn S ! O O O O
. Muslims adopted “Dome” from the , ,
, architecture. ' Persian 'Greek ‘Roman ' Gothic :
2. ; . v b : P :
. ._Uc./a‘f /y"b}fi.u]u/ E gl Edb‘;’ idu E..fo E O O O O
u : § | : i
B Qutub Minar is in:  Lahore ‘ Delhi !Cairo !Istanbul
3. 5 : : ‘ : :
. —{—d”d-‘-' Sr B amy :d’u Y13 LU , O O O O
. The fagade of the sanctuary of Badshahi i : E 3
Masjid has arches. : : : ; ;
4, 5 7 19 11 .
. - SN Lol ; ; 5 5 O O O O
. Main subject matter of Mughal paintings wasi
scenes. iLandscape iEver day life :Court : City '
5. - . : H : 1
[ ] /sl el AT o ‘o eiAn Ny : O O O O
| _ , : : ! E E
The best illustrated manuscript ofiBadshah 5 ; 1 Tuzk-e- |
. 6. Shahjahan's era is: . ENama ETutI Nama EHamza Nama iJahangm E
-4 51/64);"@;?{(/1)6(‘27@5430@)& E.ﬁtd’) Eal‘uf Edﬁrl(bf/" E O O O O
. Zain-ul-Abidin painted famine series of: 'France EBengal Hlran ‘Baluchistan |
7. - : ' : : :
u Al rE I B Y e WJé Lol Lt : o O O O
. "Quest for knowledge” in the Punjab fAnna Molka : : '
g University is painted by: ‘ Ahmed 'Allah Baksh :Sadequain :Shakir Ali | O O O O
. S'q.;%l%u"nguest for knowledge( /£ f b L2 i(f(‘;bl Eug)la e E .
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FINE ARTS HSSC-II

Time allowed: 2:15 Hours Total Marks Sections B and C: 32

NOTE: Answer any ten parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

. . 1 [ i ‘ i 1 | [ ] N
. ! |
1 | 1
! 3 A

SECTION — B (Marks 20)

Q.2 Answer any TEN parts. All parts carry equal marks. ‘ (10 x 2 = 20)
(i) In how many sections is the Alhambra complex divided? Name them.
(i) How did the Al-Mutawakkil Masjid influence the Ibn-e-Tulun Masjid? Write any three of its influences.
(iii) What is the name of the minar of the Sultanate period? Write down the names of its three builders.
(iv) Enlist the three continents through which the ancient incense route passed.
(V) What is “Pietra dura”? Give its two examples.
(vi) What type of subject matter was painted during the colonial period?
(vii) Enlist any two buildings of the Lahore fort with the names of their builders.
(vii)  Where was the “Sawan Badon” pavilion built? What are its characteristics?
(ix) Who brought two artists from Persia? Write names of these artists.
(x) Write at least four characteristics of the Mughal architecture. Enlist the buildings representing these
characteristics.
{xi) Who painted the simple miniatures in Kangra style and why?
(xif) Describe the painting style of Anna Molka Ahmed.
(xii)  How has the socio-political situation influenced the Pakistani artists? Explain with one example of
painting.
‘ SECTION — C (Marks 12)
Note: Attempt any TWO questions. All questions carry equal marks. (2x6=12)

Q.3  Explain the exterior ornamentation of Shah Rukn-e-Alam’s Tomb.
Q.4  Highlight the features of the tomb of Mumtaz Mahali.
Q.5  Shakir Ali introduced a new style of painting in Pakistan. Explain it with reference to any two of his paintings.

(201-() J/ )F”,..,"

(10x2 = 20) LA Laze0 S a2 10)rebf cbszinet AUir
_u:"vrcéul?wé;wﬂféu-%{l [ (i)
B S L el P Lot fw LS (i)
L FE s S St e Lt (il
Gl At e p (V) S il cvdet S e ol s (V)
I R E AL UN F L Lcitns IS B (Vi) $E sy LUPS LS Sm N (Vi)
$ & U L Unss I Al S sir eyt (IX) St = losr” UL VUt E P Uomd Usss (Vi)
G FE Ly S P hor® -y 2, Gt (i SASS (0
S UL LIS S PEE (X)
S fErty (Xi)
U E bk LSS s S ro oLl Ge (i)
(12~ SYfr—s
(2x6 = 12) (.7 / Lu:‘lrrl?-;{d’ Jlr»a.(jﬁ

S KPS mS e e Ay
gt o LS e Ay
S e ISl D it u:u'/w&w’g’;d‘/ AU
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Answer Sheet No.
I fmeenfb LS L e Ly, InVigilator Sign.
Fill the relevant bubble against each questioh according to curriculum: Candidate Sign.
| Question Jri A | B c D AlB]c]| |
Which mountains separate Europe fromi
Asia? _ 'Himalayas EAtIas Ural Zegros
[ el Jug s O O O O

Which ocean does NOT touch the coasts of: Atlantic

1 P . . - 1 . 1 1 F 5
s ! ]

Asia? rocean ' Pacific ocean Elndian ocean :Arctic ocean
St AU SR Lt Aeuf iU I £ | e« 40 Je g © O O O
| | s Norh | |
Aboriginals are the habitants of: 1Asia :Europe 1Australia 1America 5 O O O O
sure- 24 £ Ul (Aboriginals) <A1 (21 bt AT LI :
The desert between river Indus and river! i
Jhelum is called: i Thar i Thal :Cholistan 'Nokundi E
?g_t‘lgl‘(brfl/u_l_/ué/’ﬁL&/}uta}»«LL» i/;’ EJ‘? éul‘:):; Edif:’ E O O O O
In which continent are the great Rift valleys: E i ; :
found? 1Australia 1Africa 1Asia 1Europe '
aeihnde P T i " s O O O O
iTropical Equatorial Monsoon
SELVAS are: 'grassland :forests :forests ' Taiga forests |
- i e LTSl e tellryry et LY i o O O O
Which one is the longest chain of mountains: i
in the world? 1Alps 1Andes 'Rockies {Himalayas !
' ?s.L/u/.L«Uur_\,/Ku;}L,gutl_;;i el /,‘w /ﬂ/u i,_Jw O O O O
Which sea is located in the western side ofi
Saudi Arabia? iRed sea 1Black sea iYellow sea  ;Baltic sea g O O O O
S“géb/ﬂbc}fgﬁyf’é.f/d)i’ E/lp;.’i E»’lu = Eu)of" Ebﬂhj E
Page 10f2 |




| | Question Jo. A | B < ¢ o ia]lslc]oD
Which of the following is the most denselyi :
[ ica? 1U.S. : i Mexi : :
9. populated country in North America? :USA :Canada :Mex:co :Panama : O O O O
S'KLuLJc_.b./uf.'UJquﬁbu:(c.g}fp}@u(ﬁ.f/ldl? e N 1y :)..Lg' -t !
chi - ca?! s z o |
10. Which is the largest river of south Amerlca.:Paraguay :Parana :Amazon :Onnoco : O O O O
?f,lxu;f_(:/:l‘/_c,.'/r.g/l(}ﬁ E L/’l/j E(:f/g Ec})%l i/i‘dul E
Which is the longest river in Europe? :Don ! Danube EVolga ‘Rhine
11, : ' : v :
?l;w,@»g)a.,/n{/g;uu ;_,;; ;hﬁu : L ; O O O O
Baitic shield is an important physical featureé éNonh iSouth
of: 1Asia Europe 1America 1America '
12, . ! ! H H :
P N S V5 ] ot e L1057 : 60 O O O
Near which continent the Ross sea is | :
? ! Asi ! Afri : i : :
13, located? o :/->5|a :Aﬂtlca :Antarctlca :Europe : O O O O
Tc;_dt:%/ﬁfyl/,;/(Ross Sea) el E_I../.l E,‘i_g/t EK_%/JI.‘;I 57/‘:‘ E
What are the names of grass lands found in ; ; 5 ;
ica? : : : ! Prairi :
1a. North America? :Savannas :Stfeeps :Pampas :Prames : O O O O
S L e LU btz LUt L 108 by o2 PV 1624 :
v  North  South
Where is Orinoco river found? : America ' America ‘Asia ‘Europe :
15. i H h , H
te Ulufign | L 10e L5 ] N, : o O O O
i in? P 5 { Koh ' Chakwal f
16. Bahadur Khel salt mines are located m.. : eshawar :Jhelum : ohat :C a : O O O O
Ce C NS G ol ! sty e o LU ;
A narrow strip of Afghanistan which : ;
separates Pakistan from central Asian ; ' ! ' :
states is called: ' Lowari ‘Khunjarab  !Landikothal :Wakhan ;
17. >, : R ; : :
:‘_d/«.ﬁl:.UPL;J?.IJ/;/U%JZ&.XSH{IJUEJGHEd/b’ ) 4 A !l . O o O O
e s | g g
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GEOGRAPHY HSSC-II

Time allowed: 2:35 Hours Total Marks Sections B and C: 68

NOTE: Answer any fourteen parts from Section ‘B’ and any two questions from Section ‘C’ on the
separately provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 42)
Q.2 Answer any FOURTEEN parts. The answer to each part should not exceed 3 to 4 lines, (14 x 3 = 42)

(i) Write about the coal fields/mines of USA.
(i) Enlist the names of the physical regions of North America.
(iii) Write a short note on the Thick populatéd areas of Canada.
(iv) Write the names of Physical divisions of Asia.
(v) Write three characteristics of Taiga climatic region.
(vi) Write a short note on Physical division of Europe.
(vii) Enlist the densely populated areas of Australia.
(viii)  Write names of the important rivers of Africa.
~(ix) Mention the names of important river valleys of South America.
(x) Write a short note on the nuclear power stations of Pakistan.
(xi) Write a short note on the Motorways network of Pakistan.
(xii) Write names of the climatic regions of Antarctica.
(xii)  Write a short note on the major imports of Saudi Arabia.
(xivy  Name important climatic regions of Africa.
(xv) Briefly describe the mineral resources of Potohar Plateau.
(xvi)  Name the agricultural Belts of China.
(xvii)  Write the names of Physical divisions of Australia.
(xviil)  Pakistan holds importance due to its location. Give comments.
(xix)  Write a few lines on ‘Rural to Urban Migration trends in Pékistan_’.
SECTION — C (Marks 26)
Note: Attempt any TWO questions. All questions carry equal marks. (2x13 = 26)
Q.3  Write a detailed note on the agricultural Belts of USA.
Q.4  What are the major crops of China? Also discuss in detail about its role in the economy of the country.

Q.5 Discuss mineral resources of Pakistan. Also describe the mining areas in the country.

—— 2HA-Il 2330—
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Answer Sheet No.
S fmeendb LS L e LUy, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
lQuestion dlri A B c D §A|B|C|DJ
What is the length of Basketball court?
(For Boys)- o 125 m 129 m 128 m 130 m i
W21 3 Selfune LU b ; ; ! g .
What is the length of Table Tennis table?
(For Girls) o L 475m 13.75m 12.74m 15.75m
(o1t S e ot : : ; :
A good player is expert in: Elmpoliteness §Tolerance iBreaking laws Over eating O O O
bl gt i b sed s Iy 5
Which body system is directly affected fromiRespiratory ‘Muscular ?Nervous iDigestive
using sleeping pills? Isystem isystem isystem 'system : O O O
?‘Ll"n/‘l?yl/al/.(w]&b).l/di/:_db"/lLuﬁfnfvlfEgf":rlb'i i-:«M(le E.,«er(bﬂ i(l,ap’lrlb) E
How many chances are given to an athlete! '
at the same height in high jump? ! ; ; : :
- ; 12 '3 4 '
Sz sCir 5 LI, N:ju.;uf,:; ; ; E 5 o O O
éUsing mobile ’ EPIaying field ; )
What is the better use of leisure time? iphone 1 Sleeping igames 1Eating food | O O O
S b e e Les j LS Ui Sy oy W S :
' Immune Digestive Nervous Muscular
Which body system gets destroyed by Aids?; system 1system 1system isystem ; O O O
S b /e P LI 2585403 (86 et T enies’ E
Where does the process of chymification of! 'Small 5 : 5
food occur? :Duodenum :intestine 1Stomach iLiver E
S bl AR e ¥4 E o O O
gPosturaI
Playing games provides to a person.: Damage/Lose:Recreation  :Disappointment 1defects e O O '
-‘LJ)'IL}/V f;/:.&ﬂ}fi Yl i(‘])}. i_-/u i(fjﬁl(}‘/ﬁ' g ’
Page 1 of 2 |




(ETERY PIATTONN S

| | Question i A | B 1 ¢ { Db a]s]lc]bp]

Which thing should be Prohibited for patient! 5 |
A A A : . ! Drinki LEati : . ;

g, Incase of exce‘sswe |nta'ke of opium? :From crying :Drmklng :Eatmg :Sleeplng : O O O O
‘-'g.t'k.l,fffc)j‘/fgﬂ-/gﬂ_w:‘Jém)yuxfl =y T :LLU/ le oy !
Which food constituent is made of Aimnoi
Acids? iMinerals 'Vitamins 1Protein iCarbohydrate |
10. < ) H H . H

et ikt U 2L =\ Ho4E et ] : o O O O
Cardiac muscles are the kind of which

1 muscles? ' Skin ‘Involuntary  : Skeletal ‘ Voluntary ' O O O O
?9(3 ..._ﬁJ.:.WJ.:MuF Dy Lo .dlf’ | Lt :
! ‘Through E
What is the start for 400m race? i Crouch i Curve i By standing jumping ;
12. Vo . 1 : H

Se bl KT 2400 | st Lo L Sih LSS : o O O O
What quality do a person have to become a Non- Self

13. good sportsman? i Popularity i TobeRich | Cooperation :Confidence : Q O O O
?‘Ldn/{/::euldufé_éz‘;dilm{lv{l E od ; Lt 21 5 u;l;l(,w E NI-0%4 3
f "Decrease in | : :
What are the effects of regular and constant : ' body : : ;

14, use of nicotine on body? ‘Blindness  iefficiency  :Gonorrhea : Rickets O O O O
Lt pet G e S ki) LA E | gt AL LU ;
The end part of the stomach is called: ! Cardiac end ! Pyloric end  Gullet ' Duodenum !

15. , : ' ' i ' O O O O
- SLESH Lo} 213K e Sosks A 7z ;

16. The Javelin consists of parts. ' L4 ‘6 ‘g g 5 O O O O
—Bin Lo il ; ; E :
What is the radius of central circle in : : : : ;
? i i i i \
Basketball? (For Boys)  1.60m £1.70m 11.80m 1.90m :
('{}Ll/.)?g,b‘nl::( B idbe 085 NS : : i E :

. | | | é O O O O
What is the length of “Net” in Table tennis? : ' ! ' '
(For Girls) 1.52m £1.73m £1.83m  1.92m ,
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Time allowed: 2:35 Hours

HEALTH AND PHYSICAL EDUCATON HSSC-II

NOTE: Answer any fourteen parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.
SECTION - B (Marks 42)
Q.2 Answer any FOURTEEN parts. The answer to each part should not exceed 2 to 4 lines. (14 x 3 = 42)

Note:
Q.3
Q.4
Q.5

) Write any three functions of liver.

(i) Briefly write the symptoms of Aids.

(iii) What are the sources of Carbohydrates?

(iv) How does participation in games increases physical harmony?
(v) Write down the safety measures against fire.

(vi) Write any three adverse effects of opium on body.

(vii) Write briefly the process of chylification of food.

(viii)  Write a note on “Staggers” in 4x100m race.

(ix) What is syphilis? Write a short note.

(x) How can the quality of ‘self confidence’ be developed in a player?
(xi) Write a short note on “Badminton Racket”. For Girls
Explain the “Three seconds” rule in Basketball. For Boys

(xii) How does decision making affect the success/result of games?

(xii)  What is meant by “narcotics”?

(xiv)  Write a short note on pharynx.

(xv) Briefly write down the functions of Renin and Pepsin‘ secretions.

(xvi)  Write down any three fouls of high jump.

(xvii) How does participating in sports activities help a person to control his/her weight?
(xviii) Write a short note on voluntary muscles.

(xix)  Briefly describe “Runway” in Javelin throw.

SECTION — C (Marks 26)

Attempt any TWO questions. All questions carry equal marks. (2 x13 = 26)

What is meant by the balance diet? Also write a detail note on the principles of selecting diet.

What is artificial respiration? Explain in detail the methods of artificial respiration to the patient.

Write a detailed note on “Penalty Corner” and “Penalty Stroke” in Hockey game. For Boys
What are the service Fouls in Badminton game? Also explain “Let”. For Girls
—— 2HA-I1 2331 —
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S ainp g S WL (Vi)
B S pu K (i)
-u:"ﬁ &9 ;(Staggers)Usz ik Jn £4x100  (Viii)
i e BT (i)

Ce o LUPSOBLALEE  (X)

(2hb2t0) i ()
A Z7HD)) S eolos B e L3 e P

te dsini 2 Lo Lot s d S (xii)
Ce et (Xiil)
i PhaynOdF (XiV)
-2 b LDt nFunls ™= (xV)
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Answer Sheet No.

I fmeenfb L i S L e Ly, Invigilator Sign.

Fill the relevant bubble against each question according to curriéulum: Candidate Sign.

T

| Question oo, A | B | ¢ { b iaAalB|lc]| D]
S '; ‘Classification : :
is used in arrangement of books. :Accession No :Book No ‘No 1Call No H O O O O
e bndte ST, LA b A Abssn A
i Faculty ! i ; |
For purchasing of library books, which step;Recommend- ; Taking :Purchase iMaintaining |
is taken first ration linvoices iorder Hiles : o O O O
9;.&9;131(;((}11{;;‘/4.[.(5,!4}({ BIARYYy. 28 3 LA ATKS 8P S ;
‘Natural Artificial ‘Knowledge iSeparated |
Other name of book classification scheme is:: classification :classification :classification !classification | O O O O
?%grtl/ul(d}r...?/:g}ﬁ‘ﬂ: u'//.,yuazﬁ : Shond s Ed,&'f.euu}‘ i Skepmmid E
According to AACR-Il on catalogue card: : ; E i
“GMD” is written on which level? | Level-1 iLevel-2 gLevel-3 iLevel-4 ; O () O O
bbbl Lo/ GG JK SR LT e i1 )i 2.+ 13-+ 14-Jd 5
In which classification scheme pure! P ; ! !
notations is used? :DDC {uDC HL.C ic.C O O O
it Pt S ns| ; i : E
‘Newark . !Register "Accessioning :Brown :
What is system called pocket system? isystem i system isystem isystem O O O

te bl A ST Naral et i
' ] E 1At the end of
:1On outer 1In beginning :book, inside
Where is date slip pasted on book? 1On first page |cover of book ithe of book :the cover
S bl B Ul bbbt 374t AL TR L SATL

1
i
t
]

O
O
O
O

Lkt
v
)

Title ' Subject iPublisher

B U U S SPRRRP I U UR USRS (UUUPUPEPI. U pRpIpPRY S

Main entry catalogue card is prepared under: ' Author :
S bel el LU 5SS i uis* Ly AR O O O O
: 'Islamic
Who published the Urdu Encyclopedia of:Punjab ; 1Sang-e-Meel :ldeology
Islam? ‘University 1Feroz sons  :Publications :Council O O O O
UL oo o g fo e 170 AEFE s
iCatalogue 1
Borrower's card is called: EStudent card Bookcard icard ‘Member card O O O O
‘.'(‘;,Hi;(_ W}(/fv E}/KH‘ b 55/((3!:’/ ;Lblf ixg ELK/./
In Pakistan for small libraries which charging: Brown 'Newark ‘Register :Dummy
system is suitable? isystem :system isystem isystem O O O O
Ceatr Bl al L Lot A3 Lol il (I Tal? Tl
In Dewy Decimal classification scheme how! : E : ;
many tables are given? i3 '6 ‘9 10 i O O O O
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LIBRARY SCIENCE HSSC-II

Time allowed: 2:15 Hours Total Marks Sections B and C: 48

NOTE: Answer any ten parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 30)

Q.2 Answer any TEN parts. The answer to each part should not exceed 3 to 5 lines. (10 x 3 = 30)
(i) What is meant by Accessioning? |
(i) Purchas of library materials is divided in how many parts? Also write their names.

i) Enlist any three merits of Union Catalogue.
(iv) Write any three properties of Dewey Decimal Classification.
(v) What is Biography? Write the kinds of Biographical sources.
(vi) In collation what is written?
(vif) Briefly explain Geographical source with two examples.
(vii)  Which books are cailed Rare Books?
(ix) Write the kinds of Books labels.
x) State the names of Book materials.
(xi) Differentiate between volume and edition.
(xii) In Newark charging system how is membership allotted?
{xiii)  Briefly explain the Hanging Indention in a catalogue card
(xiv)  Write the first summary of DDC.

SECTION — C (Marks 18)

Note: Attempt any TWO questions. All questions carry equal marks. (2x9=18)

Q.3 How are the books selected for a library? Write the sources in detail.
Q.4 Describe reference service. Also write its types in detail.
Q.5 Whatis library classification? Write the importance of library classification.

(30/-?? J/)(I 33 ™

(10x3 = 30) P i Eus pBe E Lan(A0) et prirt Ay
Il ALt "o E i Sardsy (i) S p e Lhiiit 2ol (i)
S 1f ke E 58I S ianbinsy (i) et E SISy (i)
S b LT P (V) I oludirien Valiy (V)
S bl LA U (vili) S F st Seoles A2 Sl S 22 (vi)
St ol (X) LI SR (ix)
e Qpend AR LT (Xi) Se G Ut (i)
S BSODOSES  (xiv) Y Seoley B AP S (xiii)
(U ) Y A
(2x9=18) dsf Lur - S v )

SSke Bl F L Lo rAy
g It e Versdeds ANy
LSS ke St AV S Ay
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. Answer Sheet No.
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. Fill the relevant bubble against each question according to curriculum: Candidate Sign.
B | Question o A | B | ¢ i b iA]B]c] D]
. Crainscompriseofl __starch. 170-80%  6580%  7590% 5570% O O O O
by R ; ' ; '
| Calorie requirement is increased by - ; i : :
during last six months of pregnancy. : ' : : :
2. ! _ 1300 1400 1500 1200 ; O
. -Lj,]dn/b)'/_u(./dul Jaln_f(ﬁ/fﬁf}ﬂ}?liilpi E E E 5 O O O
Calcium requirement of children is ! : :
.3. times more than adults. . 2 3 4 5 O O O O
. -U.?vl;/‘l'f OfJJUJZoQ/:/"J(:‘vJJUfE E E E E
Vitamin is necessary for production: ; | ; ;
4. Oof coliagen in body. ;A EB EC ED 5
. -edzsfq’_LL&(Col]agen)‘fjfuf()' e it W 15 ; O O O O
. The only natural antioxidant is: SVitamin A EVitamin D SVitamin E EVitamin B i
5. . , H : : i
] - P EE F 3wt te ety UEad it ot ' o O O O
is used in computerized machine for; ;
.6. creation of different design. iRufﬂer EDiscs EQuilter ETucker
Wi b B R A e i LA e Y78 v ; o O O O
| i ; E E E
The selvedge of cloth is cmwide. i ! ' : ' '
7. . — 120 115 ‘10 125 !
| gt N 5 5 ; ; © O O O
Bll; (lengthofsikfibreis_____ meter. 's00-1200 500800  l600-900  700-800 |
e Gn b Sdr L ; : i ; o O O O
- : ! i ! !
fibre is dissolved in cold phenol.  :Polyester  :Nylon ‘Rayon iDecron :
9, H , : : 1
n et Tt s S Ay Lort e sk ; o O O O
. Cooking of maiz in pan by dry method isg
known as: ' Braising 1Simmering  Fat frying +Parching '
100 ll L} Ll Ll +
u - iSRRI e B SLIG ) Ey, s bt S B : © O O O
Which of the following is combined method: ; i
y11. Oof cooking? iRoasting 1Braising :Steaming  :Frying i
. ?cl_Juf & RS o e Sk lon ' s : Yz b bt W . O O O O
.12 Retinol is the chemical name of: iVitamin B iVitamin Cc §Vita,min A §Vitamin K O O O O
-‘L(VJ_‘L{.KK (retinol)d)&zsdd’b Eu’d’lf: Eé_l(fL'J SZ:(fh ;'
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OUTLINES OF HOME ECONOMICS HSSC-Ii

Time allowed: 2:40 Hours : Total Marks Sections B and C: 48

NOTE: Answer any ten parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 30)

Q.2 Answer any TEN parts. The answer to each part should not exceed 3 to 4 lines. (10x3=30)
(i) How is meal served in “formal serving method"?
(i) How many seams are used for stitching? Describe briefly.

(iii) What is “Personality”?

(iv) Write a short note on “Plain weave”.

(v) Write a short note on of deficiency of vitamin D in human body.
(vi) In which foods is vitamin B1 thiamine found?

(vii) What is fibres? Write down its types.

(vii)  Write a short note on “felting process”.

(ix) Make a list of “staple foods”.

(x) What are food fads and fallacies?

(xi) Differentiate between shears and scissors.

(xii) What is meant by ‘complete proteins'?

(xii)  Enlist the effects of excessive intake of fats by human.

SECTION — C (Marks 18)
Note: Attempt any TWO questions. All questions carry equal marks. (2x9=18)
Q.3  Write detailed notes on a. Goitre b. Pellagra

'Q.4 What is meant by menu planning? Which principles should be kept in mind while planning menu?

Q.5 Write a detailed note on cotton from fibre to fabric.

(30#(2 J/)fu./’

(10x3 = 30) P izt Fus pripe E LAV e digise ¥ iy
Sk sude S (seamd i S AF L L (i) et AU WSS ()
i e (V) e e (i)
e bl A 10 A S (Vi) B iR (V)
S BB (i) LSOt (Vi)
st meladdin () srsulIEdE (ix)
Sest e chagt (i) S AU S S (x)

S fE et LSy P30 (X))
(18~ )y o
(2x9 = 18) s Lusrpe EL e
CPeliag) 5 o (o0 b i s AUy
S s P P ad U S LS s S IFS st p e S §SU7 i iy
i P L S 2 Ly Ay
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Answer Sheet No.
S himemnib LS Ly e Ly, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
lQuestion d!r§ A : B c D A l B l c | D I
Does deduction always draw general to! E : E f
. Partial conclusion? 1Yes ‘No :Unknown ‘Probable O O O
’ te Qe il $rz e 6 # 20U AW Uy g e e
studies norms of beauty ugliness: :
and humor. 1Ethics 1 Sociology iAesthetics i Ontology O O O
e E IS BB Bz U LG Lt f ez Ledigs 5
“Triangle has three angles” what type ofi i E i
proposition is this? 1Categorical :Inductive iMathematical | Tautological O O O
Yr‘—zjl/w( LBl Lk i tdi ey i F E
A slumber did my spirit seal
I had no human fears : ; ;
What type of use of the language is this?  !Informative :Directive 'Expressive  ;Deductive '
a ! i ¥ e O O O
st Sr Ly o 80 Qe O g LLF :
s s, JAL E e ! g ; ; ;
“Heavy rains with lighting and thunder: : : : 5
expected”. : ;
5 What type of use of language is this? iInformative  ;Administrative :Categorical Expressive O O O
WIS S L Lt S et ] s O i
teJelulbutsy ! : ; E i
: !Weather ! International
6 are replaced by conventional signs. 1 Traffic signs isigns 1signs ‘Natural signs ! O O O
(el Lete gl £tz tf) ety O SO A 5
Meaningless reasoning is known as. ilnference gFaHacy EProposition EJudgement
7. [ ' : ' ' O O O
VSIS i e s 1 ;
“March moved to June” ‘Appealto | E E
What fallacy does this sentence contain?  !Appeal to pity :force iAmphiboly  :Accent E O O O
et blul o Fronsiifauds s ina ot :
Page 1 of 2 |
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| | Question - oi A B i ¢ i Db iAlB]c]| o] -
“Sir, please pass me” iAppeal to
9 What fallacy does this sentence contain? :force 1Appeal to pity : Equivocation Amphiboly O O O O .
v;l;_rggwuﬁvw/u:&“q)/ugéf.’;/ LDzt S Vs S8 LRI 9 Ll | -
“Mangoes were sweet” 5 5 B
What is this sentences? iJudgement Proposition :Term i Predicate ;
10. . ' . . '
euh & i E e et 0000 g
MeP = s s 5 : n
Complete the figure:
11. Pes tPeM ‘M« P 'S M ‘PeS O O O O "
WP | | | i -
“Aslam, standup” B
12, This sentence is a: P roposition EOrder ERequest ECategory O O O O
e J'G"Sbn:._/(v’ [ :f :lfjl Y ' .
13 If ‘' is false then ‘E’ will be: ' True ! False ! Unknown ! Distributed ! O O O O .
Hnl B Il TN 4 e Ol ;
14 Tis false then ‘A" will be:  Distributed ! False ' True ‘Unknown ! O O O O [ ]
WA AT TN O & Lo ; -
“You are happy, therefore you are not sad” ! : : 5 5 .
i is it? : : i | Medi : i !
1s. What sort of inference is it? :Categoncal :Immedlate :Medlate :lPductlve : O O O O
°<,Z,Mb’f" N ,,“uru“ Uil Lunwuy.,’” il Vbt U Ny gl .
Which proposition is !
it? : : H ) : 1 .
16. ' ‘A 'E ' e '
feFlus ! ' : : : : © 0 O O
E s P 5 E ! ! E ]
17 The symbol '=' represents term. flmphcatton EDISJunctuon iNegatlve EEquivaIence E O O O O
S O/ = e | s - v N : N
Choose the correct answer for given Professor—: éSpectator—»: A iWeath—»: .
analogy Doctor—:Hospital ' College ! Cricket ' Cow—: farm : field '
18' re ) ) 1 1 '
o= 8 -Q/VB}IKVIK;,’/);MVJJ??,}&/: ey — Ay s re~dew Vol re—2 € ; o!k—-ruf ; O O O O .
“Every action has an equal but opposite ! : : ; ;
reaction”. This is a . ' : , " .
19, 9eneralization. ' Objective  :Subjective | Scientific  : Empirical O O O O
W S TR R BT Y N e L Huf : u
The presumed scientific explanation is : ; : .
knowns as: « Proposition : Hypothesis : Syllogism « Event !
20. . ! : : '
-4 SIS ) PP L Uy Ll ‘ O O O O u
——2HA-11 2334-4341 —— .
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Time allowed: 2:35 Hours

PHILOSOPHY HSSC-II

Total Marks Sections B and C: 80

NOTE: Answer any fifteen parts from Section ‘B(a)’, one part from Section ‘B(b)’ and any three questions
from Section ‘C’ on the separately provided answer book. Write your answers neatly and legibly.
SECTION — B (Marks 50)
Q.2 a Answer any FIFTEEN parts. Be brief and to the point in your answers. (15 x 3 = 45)
(i) Can fallacies be created with the help of logic? Explain briefly.
(i) Traditionally how many types of arguments are there? Briefly explain.
iii) Explain the importance of formal truth in deductive logic briefly.
(iv) Briefly describe the role of language in the perseverance of civilization.
v) Brielfly explain the informative use of language.
(vi) Do signs and symbols also have language? Explain with the help of example.
(vii) Is it necessary to know fallacies in order to avoid fallacies? Explain briefly.
(viii)  “I saw the man on the hill with the telescope”. What fallacy has been committed over here?
(ix) “I| can’t believe you do not agree with me on this issue, It's so upsetting and disappointing”. What fallacy
has been committed over here?
(x) Differentiate between order and appeal with the help of example.
(xi) From traditional square of opposition explain the relation of “Contradictories”. -
(xii) Explain the concepts of quantity, quality and distribution of propositions.
(xiii)  With the help of examples explain the difference between immediate and meditate inference.
(xiv)  Complete the Venn diagram;
S P
M
(xv)  Draw truth table for implicative propositions.
(xvi)  With the help of an example explain figure no 4 of syllogism.
(xvii)  Analogy is an example of induction. Explain briefly.
(xviii)  Explain scientific and empirical generalization with the help of example.
(xix)  Explanation develops harmonization and systematization among events. Briefly explain.
(xx)  What does it meant to say that "Hypothesis should not contain self-contradictions”™?
(xxi)  How explanation helps in finding out facts?
b. Attempt any ONE part. (1x5=5)
(i) Develop the given syllogism and explain what fallacies it contains EAI-2
ii) Develop the given syllogism and explain what failacies it contains OlO-3
SECTION — C (Marks 30)
Note: Attempt any THREE questions. All questions carry equal marks. {(3x10=30)
Q.3 Write a detailed note on the importance of logic.
Q.4 Whyis it important to study fallacies? Explain.
Q.5 Explain in detail the rules of syllogism.
Q.6 Narrate the scientific and non scientific characteristics of a good hypothesis.
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I pfimemnib LS Ly e Ly, Invigilator Sign.
Fill the relevant bubble against each question according to curriculum: Candidate Sign.
, |Question dlri A B c D A I B l ¢ | D I
The research method in which people of: : : : :
different ages are compared as the same;Cross- 1Cross- ; 1Cross-
1 point in time is called research.  isectional isequential  iLongitudinal iLongitudinal : O O
L s LKL f iSSP T 3 p N ST (RO N TP VI GNP TPt B
et} : : ! 3
Pre-natal stage in which heart and brain§
5 become prominent is called: 1 Zygote ‘Fetus 1Ovum ‘Embryo : O O
-‘L.t'U:{ L /Kz'_xugu"cl.wu)q}’lwld? 13y u—":’ s u"
Psychosexual developmental theory was put! i i : E
5 forthby: ‘Freud 1Erikson i Piaget ‘Watson ; O O
YL Fndete” ) o ek {7 |
Piaget found that during the sensory motor; Conversation :Algebraic 1 Object :Social E
phase is achieved. 'mastery iorientation  ipermanence :learning : O O
St b8 LS G a5 e Lo TS ] T LE grigr :
z a SR z
The period of maturation of sexual organs’ is§
called: :Menopause EGrowth spurt EAdulthood EPuberty 5 O O
-‘at‘ﬂgf m(ﬁ/df"&wv&"fuga EJ;J(U;_’!‘-J;‘/_" EGI:‘:‘ E\."rf)l' ;
A person’s response to threating andi ;
challenging events is called: iStress 'Denial EResistance 1Challenge f O O
/g"lu-‘.'.:«/:"(,(.&(bkgLl:'@.;l/f(f(uﬁf;/f;/.ijl“) E‘h_)/" Ecﬁl} Eé‘% i
st S E i ; i
Which of the following is ‘NOT’ a part of;
general adaptation syndrome? ‘Resistance  iAcceptance :Alarm 1 Exhaustion i _
7. ) ; ! i ; : O O
T oK By Y 28 S e folbln oty edd bru’% {6 !
8 stress leads to illness. - Daily fSocial iChronic iAcute O O
-.T._Céygvuptg/tﬁ ip//'u E ~/"b» i.::«ﬂld_'}’ EJ?JI/‘? E
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Page 2 of 2

| | Question Joo: A | B i ¢ i Db iaAalBB|]c]|Dp]

Intense, irrational fear of a specific object or: _

9 place is called: :Compulsion Obsession !Panic attack :Phobia : O O
' ety Sl sl €L 2T uf 2 Kl b e 3
An urge to carry out an act repeatedly that; ; : ; ;
even the sufferer thinks it unreasonable is: ! ! ' '

10, called a/an: iPhobia iCompulsion :Delusion :Obsession ! O O
et S L& ja S e 2 4 KU
The field of study about how people’s: '
thinking, feelings and actions are affected by: Social i Social : 1 Social ;

11, others is called: ipsychology :cognition 1Socialization :perception | O O
K d_s it 5 4 Mt el &y Jg/u ;fl z (J:f :.:«_(.JJJJ( EJ;J(;l’ E;'_’.P ;../U;ld.l’ E
et : ; ; :
In ABC model of attitude, the tendency to actf : E
is called component of attitude. | Affective ‘Learned :Cognitive iBehavioral
Zl/u[(é.uglfb/;/o’fu/uflkfLWZ'U’!Q!‘.ILu‘_{ui(}H)l Edb{l Edh :djbf E
| e é ; ; s
The popular saying “Monkey see, monkey ! ! Attitude jHeIplng EObservational gLatent

13, do” best illustrates: 'formatlon i behavior y learning + learning : O O
?‘QJ@QZT{JJG‘JG;C}’JUJIE”:—;L,{M/ : g}'@({ulu E M S Koa 5 J‘]/TJM&" i ‘j;rlJ; E
Cognitive dissonance theory of attitude :

14 change was proposed by: ' Watson ! Festinger : Bandura Daryl Bem O O
YL L PGSR Sups | b g bz U ;
Negative behavior toward members of a

15 particular group in a society is called: ! Prejudice ' Stereotype  : Discrimination: Categorization: O O
-c‘-b'lJr.'( ,;/J?J)’Ja:fdkv’fs »..‘4"" E »Z(F" E i E Yy i
The common goal of all types of counseling  Social : ' Economic  :Psychological ;

16, techniques is to relieve: | pressure i Fear/Anxiety : pressure 'problems ; O O
bl AR IR P L e | Sl g NI AL LS ;
Mrs. Hassan is the director of guidance cell ! : ' ! '
in a student mental health clinic. She holds : ' i Clinical i Counseling ! Educational !

17 a degree in: » Social work ! psychology :psychology :psychology O O
Jgéui-u]ul/./d/ffﬁdu"‘i.{’;lké.L&u’tf'/' E e s f E &1—3’0:" f el d/)l/ 5 al_)’d}‘/ .:
vt Shgud | | | |
: : Cognitive : i Person i
' ' Behavior ' Behavior ' Centered '

18 Transference is the basic technique of: 'Psychoanalysm- Therapy i Therapy i Therapy ‘ O O
PR ARV S o VIV XY AV AR TV I
s | s s
Aversive therapy is based on ‘ ' .

19 conditioning. : Operant : Backward i Classical : Counter ; O O
ey z-,w:g)&"l/: 3T/ snt k9 1 iz
According to irrational and illogical i : : ;
thoughts are the major cause of | : ; ; ;

20 psychopathology. ' Freud ¢ Ellis : Rogers : Skinner ! O O
P 1uia S dis Fad SO0 L in) P izl /
By z ; ;
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PSYCHOLOGY HSSC-Ii

Time allowed: 2:35 Hours Total Marks Sections B and C: 65

NOTE: Answer any eight parts from Section ‘B’ and all the questions from Section ‘C’ on the separately
provided answer book. Write your answers neatly and legibly.

SECTION — B (Marks 40)

Q.2 Answer any EIGHT parts. Be brief and to the point in your answers. (8 x 5 = 40)
(i) Differentiate between assimilation and accommodation. How new schemas are devéloped? Explain with
example. '
(ii) Briefly explain the stages of language development.

(iii) Briefly explain any ‘five’ sources of stress from the environment.
(iv) Discuss the view point of Mental Health given by Imam Ghazali (é&)‘

(v) What is prejudice? How can it be controlied or minimized in a society?

(vi) Briefly explain “addiction”. How can it be treated?

(vii) Briefly explain guidance. Write down a note on the importance of guidance cells in educational institutes.
(viy  Describe Person Centred Therapy (PCT) briefly.

(ix) Highlight the goals of Rational Emotive Behaviour Therapy (REBT) by Ellis.

(x) Briefly explain the types of leaders. '

(xi) Describe phobia. Differentiate between specific and social phobia.

SECTION — C (Marks 25
Note: Attempt ALL questions.

Q.3 Whatis meant by ‘Psycho Social Crisis’ by Erikson? Give a detailed account on Erikson’s Psychosocial

Development
Theory. (13)
Q.4 Describe attitude. How are attitudes formed? (12)

(OR)
What is meant by ‘Schizophrenia'? Explain different types of schizophrenia in detail.

(40/-;) f)f"»_."’
(8x5 = 40) ' el alb Loyl B ez Lo -Gl Li7)(8) 2T e St dsgirr Ay
G seJediT st AE e TGl s medl ()
LS8 EI bhe $I Ll Sip e Sanysn (i) LIS LB [ S s (i)

e Ee Lk el L LEE LIS s pfecd (V) SIS FE LGN (V)
I et §1 p LS s st 5 S e fies (Vi) S e a e S " (Vi)
S 1are LREBT G2 AU el LM (iX) SIS A e E ) (Vi)
SIS RSB sSSP S S (X) G A d S (0

@25m? )y e
&S e

(13) | LIS P LB G e p S e AR e
(12) ?4‘_3)’241}:@.Jug}/?+g¢u :f’/.)dl/
@

I I F5 068 e\ e GRS
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Section - A is compulsory. All parts of this
section are to be answered on this page and
handed over to the Centre Superintendent.

Deleting/overwriting is not allowed.
Do not use lead pencil.
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Answer Sheet No.

= Invigilator Sign. Cam?idate Sian. - 'q'//”/”’.bU”JWL.H’Uié"&.VLJV/_'

= Fill the relevant bubble against each question according to curriculum:
wL el e e s e b e s Jr| |
-0 0 0 O 5 el 1
li— O O O O E u'li*? d‘(/fg .'L;i .f;g: ?;A;Cs",gg:d,?u;,g)ﬂﬁ/ju 2
— O O O O JJW""’E dbg d»/:é _,Jtzii/é feded e 3
: O O O O ulﬁ px/? i ,"E ' - ?_-,/m?u,wrlf‘f‘ T I
: O O O O mmi I‘HAE mrrér m»% ceradiJedide 5
! o O O O u‘,é d'/é mué )LI(M; v_—/:/rm)ugwl._,m; .6
| O O O O ; 14/;1.% /lﬁﬁbé ,;/"-w.i ,;/-‘.r.g Sl 20U ) il T
= o O O O -C vb"é; A% / NSYAT-FY I VPPN
= | R :
- O O O O D’-‘:—/’i b’r@/'vé r:la/”’é (ur:-f”l('fa)i tedectla el .9
i o O O O ")L v dt J 0 SUy 2285 e 10
= O O O O /I/’;..-/"?E A/;ug /l/';Mg Jaf;ff}'% PN Ny S|
§ O O O O J* o 2 u./“u*LE u»/'su"tis tenf i 12
O O O O ORI sl ass! S} Sl eI s 13
- O O O O Jr ¢ :" Lo ;b{,; CedYuiriize (14
: o O O O Tl ' dui? dbl? & ? —e NS " 15
0O O O O sl Osl G iy di tod oS oA 1P ity 16
'J’ O O O O uu‘rg T O'/? Ju; oSS prhnifich,s 17
- O O O O slﬁ:bé /’" """’E uu‘lg Az e’y 18
"0 0 0 O 1F £S 1S B N o gL s 19
. o O O O JU; al‘/ﬁbg : u;: :/»E ?;Bl;{;&;,,’;u .20
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LY g 53l D130 6K Ga mr S2 A 1S 08 e Gla 6 B m So - g1 3 )

s ab Sy (a8 e RIS (8 e lsd s Ml 3 S 5 B o mg

mmm i mlm

L
-
(10) :5‘,{ 413 /GUVT&»/‘(? /‘. J.A??b’:l:’lg«‘l;a,éf Py« J,i.?u." :f'/./' dlr ]
Q.4 Translate and explain any FIVE of the following stanzas into Urdu or Simple Persian: ||
, L
Gaod de S A B K (ii) T SIS S R LR (i) -
S Y N S s Ay iy Q) g pd -
]
O S AT T (iv) My ot a1 K s (iif)
L_\\A.\g AUl Cpan P PETPES A Ay ..)‘_).] LS a8 RS RN -
m
Gsa oy S ghle)y Gs o~ (vi) Gl Jasa o job S esla @ (v)
B WPTE o 6 3 Gl Beas ) o~ Ga S ) L
-
O Jb Cia e IS )l gd (Vi) -
O.))S ‘}\_)J ‘J NS ‘Oﬂg s Oy -
|
(10) 1 2ILG PG e Lz 0 )y W
Q.5 Translate any FIVE of the following sentences into Persian: ]
L
()  Rubayat of Sheikh Abu Saeed are still very popular. _wdﬂ&@fugpdﬁ;ﬁ/gﬂf (i) -
(i) 1 heard a sound. Syt 2T L (i) L
(iiiy 1 gotup at7 O’clock in the morning. J}’i/l,g.éal/aﬁd (iif)
| |
(iv) Areyou iil? ek Ty (V) -
(v)  Don’t worry you will get well soon. LSon Tuszy, (V) |
. n
(vi) Respect your parents. _u:/rﬂ}ﬂb/..,gut, (vi)
|
(vii) Hazrat Lugman gave very valuable advices. ,_ugJufff),/dzLuLﬂ;,/? (vii) |
|
—— 2HA-Il 2336—— |}
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= ®0 0 @ ®0 000 0
| SOCIOLOGY HSSC-II @ @ @ @ @ @ @ @ @ ©
SECTION - A (Marks 20) ® 0 6 0 ® 0 ® O ® 0
. Time allowed: 25 Minutes
Section -~ A is compuisory. All parts of this . @ @ @ @ @ @ @ @ @
- section are to be answered on this page and -
handed over to the Centre Superintendent. ® 6 & 6 ® &6 & & ® 6
- Deleting/overwriting is not allowed. )
Do not use lead pencil.
u i SN g Lir £ pPeS s P repinln ¢ i ® ® ©®® ® ® ® ® ©® 06
e IS g S erpf GG O] @ © © © ©@ @
o
| ® ®© ® @ ®© © @ ®© ® @®
u Answer Sheet No.
o . .
G fteendb LS L e LU, Invigilator Sign.
. Fill the relevant bubble against each question according to curriculum: Candidate Sign.
B | Question ori A B ¢ i+ b ialslc]|oD|
. Violator of cultural norms is called: Deviant Honorable ' Cfiminal EEthical
1. . , H ) :
. ?QVU{_L{U!JL/L}J/JJWJQU//JWE,ml/.L, EJ/" Erf SJUHQ E O O O O
. Elncrease in
" What is necessary for social control? ' Sociology ‘Education tincome :Mobility '
2. ] 1 1 1 [}
. oYL LU Lisdie it f 1t R B ; © O O O
- E f i i f
B Occurrence of several values in a situation |s: §Social
called: {Role conflict Competition Value conflict i deviance ;
3. 1 1 ] ] L}
n ~ bl £ o o G LTEATI s oS Ledle LA G S E o O O O
. | | 5 i |
What is the hurdle in good governance? ‘Education  :Civilization Change ilgnorance ¢
4. . Vo \ H ) '
. —‘Ld)fh“-/.v-h:d’(/ U:\:/')GrUzIJ‘l E f-'-u E_x_,g? s/' s:Jlf E O O O O
- s ; ; i ;
. The crime committed by the elite of the:!Accidental 'Organized White collar |
society is called: : :crime ‘Popular crime : crime ‘crime ; :
5. 1 1 , H
TLVML/L/(/KJI/IJLVU//JI._«/L.ZJ/[V (/dm AP ezl 12K ; O O O O :
| ; i 5 3 ;
| \Favorable |
The survival of human life is based on: renvironment | Shops 1Houses \Animals '
6. oo : . . .
. ‘~'+4JCG:JJIJ(}UIE4J?L;8’]V E/, 965 f/,u)‘l{/ E/__,uibf i O O O O
| | s ] | s
- Who said man is the product of the earth? ! Durkheim 'Ratzel 'Sample !Lablash '
n. . : ;oamp : .
?Q;M{)JIJI&JU:)J(UUILJ(E f"l}ﬁ ;d}-./ E(}s’rf EJMJ 5 O O O O
. EExpenment ;Theory EObservation , O O O O '

Organization of facts is called: éHypotheS|s

Page 1 of 2 |
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| | Question Joo: A | B ¢ o :a]lBlc]|]o]

What does pure research do in the§

knowledge? :Decrease Application :Change 1Increase {

3. . . s : : :
-4/ u:H‘&fu:g»;J LU e Lt ' O O O O

Discovery of natural resources in an area is: : i E ;

a type of change. « Political 1 Economic 1Social 1Cultural '

10. T - : Pe : ; :
VK‘—L%_A?'JUJ(U#:JQJ)KJ l/;dui;l_lku;: s b i :Ju i Q O ‘ O O

‘More :More :

The cause of social development is: : Education ipopulation  iproblems ‘Roads i

11. - b i iy H :
e o35, /v;(“’ 1Tl St ;uf ¥ ; O O O O

What is the ‘ways of the people’ in a socnety: : i 5 5

called? ' Tourism i Culture ‘Traits ‘Ownership !

12. ) : ' '
vbgiy’fjméufwjéuf)’ég/‘vuf Lol e ot bl o O O O

The world is divided into how many major

races? : : ; : '

13. . 1 ' 2 i 3 ; 4 ;
s 2 P sud I L | i : : : o 0 0 O

What did the people of Harappa and : :

Mohenjo-Daro cultivate? i Sugarcane | Tobacco i Maize . Cotton )

14. : . ) ' :
(R c}KLfJ)L,M."'rm?‘, ' % L LUy : O O O O
15. Modern urban system had been found in: EAustrlcks EAryans Negrf)es i Dravidians O O O O

WtpL S Bk s | AU T AU U ;

Indus valley civilization was destroyed by: : Aryans i Dravidians ! Iranians | Arabs ;

16 ' + [ 1 *
?LUI(LIJA—/I/I\.IJ{JDVG)'J Vo # sl 5 RV E 174 E O O O O

The game of chess reminds of whom? ‘M Mongols ! Dravidians | Turks : Muslims 5

17. ' : i ) i
?at‘ll»t&/(}‘[(((/)’ E JF sl LS 50 ; O O O O

'Individuals  {Houses i Population | Work :
18, To count every individual is called: .Ecoun‘tlng :countlng icensus 5 counting ! O O O O

St WIS} L gk LR 7y LR Y :

What is the literacy rate in Pakistan? : E 5 5 !

19. . 128% 1 38% ' 48% 1 58% :
M NI ; ; ; ; © O O O

| | , s st s |
.20, Who has more influence |n’the rural area? ! Education : olitics ;Busmess :Rehgmn f O O O O

?%tm)g)(/r»}lKqu:LUc&: E (:LJ E el Ve i i :
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[
» SOCIOLOGY HSSC-II
n |
- Time allowed: 2:35 Hours Total Marks Sections B and C: 80
NOTE: Answer any fifteen parts from Section ‘B (a)’, one part from Section ‘B (b)’ and any three questions
N from Section ‘C’ on the separately provided answer book. Write your answers neatly and legibly.
|
SECTION — B (Marks 50)
Q2 a Answer any FIFTEEN parts. The answer to each part should not exceed 3 to 4 lines.
, (15 x 3 = 45)
o (i) What is meant by social control?
L (ii) Mention any three causes of deviance.
| iit) Write the role of Islamic values in social control.
. (iv) What is meant by good governance?
| v) What is meant by organized crimes?
n {vi) What is meant by environment?
[ | (vi)  Mention types of environment.
B (viii)  State the impact of environment on human food.
] (ix) What is meant by research?
] (x) Enlist any three functions of social research.
- (xi) What is meant by applied research?
.— ~(xii) Describe the role of information technology in social research.
o (xil)  Give any three examples of social change from our society.
B (xiv)  What is meant by invention?
N (xv)  Enlist three changes occurred in ‘family’.
. (xvi)  State three changes occurred in educational institutions.
- (xviiy  Give a brief introduction of Indus valley civilization.
(xviii) Aryans divided the sub-continent into how many castes?
n
(xix)  What is meant by ldeclogy?
- :
XX at is meant by social problem?
» (xx}  Whati tb ial problem?
- (xxi)  Differentiate between ‘population’ and ‘over population’.
u b. Attempt any ONE part. (1x5=5)
|| (i) What is meant by cultural integration? Describe steps for its strengthening.
N (i) What is a community? Discuss its types.
| SECTION — C (Marks 30)
Note: Attempt any THREE questions. All questions carry equal marks. (3 x 10 = 30)
L Q.3 What is meant by social change? Explain in detail its causes and the hurdles in its way.
" Q.4  Enlist the sub cultures of Pakistan. Explain the uniformities among them.
o Q.5 What is meant by socialization? What is the importance of socialization in creating nationai character? Explain
n by giving examples.
| Q.6 What is meant by illiteracy? Explain its causes. What is the relationship between illiteracy and over population?
] Discuss.
; , —— 2HA-I1 2337 —
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g (:"“ ufu?l}u;/ LA Ul (xviii) S F I8 i saSols (X

et e o3 fo (XX) el e f(XiX)

LSO AT (%)

(1x5=5) ES OGS etz

S L s f L vt e G (i)

GriiEsaL LEL (i)

QoA SYfr—s
(3x10 = 30) (s f Ludr et ES Jrd 35
e S S S AsS S JF L I p e P e Ay
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